
June 2023                   

Complete Parts 

List 
Part Number Description List Price

00000002 Hexagon cap screw M5x35 0.90$        

00000003 Zinc nut M5 0.90$        

00000005 MDXS Screw (For Grinder) 5.00$        

00000009 6-18 x 1/4" Phillips Drive Pan Sheet Metal Screw (1131218) 6.00$        

00000011 SS Knurled Washer D4 1.50$        

00000017 Zinc Coated Nut AQ M6 High (For Machine) 3.00$        

00000025 Cross Head Cap Screw M6x200 (For Machine) 1.50$        

00000026 Screw M4x12 AQ TC T.CR. Zinc (For Machine) 2.00$        

00000032 Self-Tapping Cross Head Cap Screw 2.9x9.5 (For Machine) 5.50$        

00000035 Zinc Cross Head Screw M4x20 1.80$        

00000036 Crosshead Countersunk Screw M3x10 (For Machine) 3.50$        

00000041 8.8 Hex-Head Screw M6x40 1.50$        

00000044 Cross Head Cap Screw M4x10 (For Machine) 1.20$        

00000046 Zinc washer 6.5 x 12.5 0.60$        

00000047 Screw Autofill (For Machine) 1.20$        

00000048 SS Screw 2.9 X 4.5 (For Machine) 1.70$        

00000050 Screw 3.5 x 13 TC/T (For Machine) 1.20$        

00000051 Washer (For Machine) 0.90$        

00000054 Nut 0.80$        

00000056 Zinc Coated Nut AQ M8 High 1.20$        

00000060 Nut M3 1.00$        

00000063 Washer AQ D 10x21x2 Zinc (For Machine) 2.10$        

00000064 Zinc Washer AQ D8 0.90$        

00000065 Washer Brass Ring OT 1/4 1.50$        

00000073 SS Washer D.8x4x1 0.75$        

00000078 Insert 3.00$        

00000083 Cross Head Self-Tapping Screw 3.9x16 1.50$        

00000087 Aurelia Wave Leg Bolt (For Machine) 6.00$        

00000089 SS Screw M4x12 TC TCR (For Machine) 1.50$        

00000094 SS Screw M 8x20 TE 5739 (Bolts for Group Head) 3.00$        

00000096 Zinc washer M6 6.6x18x1.5 0.80$        

00000098 M4 Cage Nut T424 (For Aurelia Wave Panel) (For Machine) 3.50$        

00000103 Zinc Self-Tapping Cross Head C ap Screw 3.9x6.5 1.80$        

00000104 SS Counter Screw M4x10 1.20$        

00000106 Milled Washer Diam. 6 1.08$        

00000110 SS Screw M4x20 7985 2.00$        

00000112 SS Screw M6x20 1.80$        

00000113 M4x12 Screw 1.80$        

00000115 Allen Screw M10x30 4.00$        

00000116 Galvanised Hex Cap Screw AQ M4x16 (For Machine) 3.00$        

00000118 Stainless Steel Screw (For Machine) 1.40$        

00000119 SS Screw M4x6 TSPTCR (For Machine) 0.80$        

00000120 Crosshead Counters Self-Tapping Screw 2.5x10 (For Grinder) 3.00$        



00000122 Screw 8.8 M6x12 6.00$        

00000124 Washer D4 3x16x1.5 for Black EagleMotor Mount 2.30$        

00000128 SS Screw M8x10 1.20$        

00000130 SS Screw M4x25 BROG UNI 5931 0.50$        

00000131 SS Screw 3.9x16 TC/TCR (For Machine) 1.50$        

00000132 SS Screw M4X40 TC T.CR. 0.90$        

00000133 (Hose Clamp) #8 3/8" to 1"Dia 5/16"W S/S Worm Drive Clamp w/ Steel Screw (62004) (For Machine)7.80$        

00000134 Screw M3x6 (For Grinder) 1.00$        

00000139 Screw 4X12 AQ Zinc Hilo 0.54$        

00000140 SS Allen Screw M6X12 0.70$        

00000142 SS Allen Screw M5x16  (MS2540016A20000) (For Machine) 6.00$        

00000143 SS Hex Socket Cap Screw M8x25 (For Machine) 6.00$        

00000145 SS screw M3x8 (For Machine) 0.30$        

00000147 SS Screw M4x12 TSPEI 5 (For Machine) 3.00$        

00000148 SS Screw M4x12 TSPEI UNI 5933 0.20$        

00000149 SS Screw M4x16 TCEI UNI 5931 1.20$        

00000150 SS Screw M4x6 TBEI  (For Machine) 1.20$        

00000151 SS screw for body panel 0.40$        

00000152 SS Screw M6 x 16 (For Machine) 0.30$        

00000153 SS Screw M6 x 20  5mm 1.80$        

00000154 SS Screw 2.9x13 TSPTCR Microbar 0.20$        

00000155 SS Screw 3x12 TSP 0.20$        

00000160 StainlessWasher D4x1200000175 1.50$        

00000161 SS screw M3x16 TSPEI 0.50$        

00000163 SS Socket Screw M4x35 912 (For Machine) 6.00$        

00000164 SS Screw 3x16M TCEI 0.10$        

00000165 SS Screw M3x8 TCEI 1.50$        

00000166 SS Screw M3x20 TCEI (For Machine) 1.00$        

00000167 SS Screw M3X12 TCEI 4.60$        

00000168 SS screw M6 x 35 (For Machine) 2.00$        

00000171 SS Screw M4x16 TSPEI UNI 5933 (For Machine) 4.00$        

00000172 Flat Washer Zinc Coated 6.00$        

00000174 SS Crosshead Cap Screw M4x16 (QM2530016A20000) (For Machine) 1.75$        

00000175 SS Cross Head Cap Screw M4x10 1.75$        

00000178 Zinc Screw AQ TE M6X16 8.8 For frame of machine. 10mm bolt head. 5.00$        

00000181 Cross Head Cap Screw 3.9x6.5 1.50$        

00000182 3x10 Zinc Screw 6.00$        

00000183 Stainless Steel Nut 0.90$        

00000186 Spacer for Faceplate  (For Machine) 6.00$        

00000188 Set Screw M5x5 for Adonis/Aurelia II  AS Probe 3.00$        

00000189 Zinc Screw 3.2x13 D.8 1.50$        

00000192 SS Screw M4 x 8 Prontobar 5.00$        

00000197 SS Hex Screw M6x8 was 00000022 4.50$        

00000199 Nut M4 Medium SS UNI 5588  88 1.00$        

00000200 SS Hex Socket Cap Screw M4x20 2.40$        

00000201 Zinc AQ Nut M10 (WILL NO LONGER BE AVAILABLE) (For Machine) 1.80$        

00000205 Screw Zinc (For Machine) 1.50$        

00000209 Musica Body Panel SS Screw M4x12 3.20$        

00000213 Screw 4.2x16 (For Machine) 1.50$        

00000214 Bracket Clamp 6.00$        



00000216 Hose Clamp 8.5 (For Machine) 4.20$        

00000217 Hex Group Head Screw (For Machine) 5.80$        

00000219 Screw for White Eagle Foot Support (For Machine) 6.50$        

00000220 Screw for Mythos Fan (For Grinder) 6.00$        

00000221 Group Head Screw Washer (For Machine) 1.80$        

00000230 Copper Washer Seal  14x18x1.5 5.00$        

00000231 SS Self-Threading Screw 3.9x22 (For Machine) 1.80$        

00000232 Cage Nut for Top Front Oscar II (For Machine) 4.00$        

00200011 Zinc washer 1.50$        

00300001 Nut 1/4 6 mm" (For Machine) 1.70$        

00300002 Nut 1/4 3mm" (For Machine) 4.20$        

00300004 Brass Nut 1/4 (For Machine) 6.50$        

00300005 Nut 1/8" 1.60$        

00300011 Register Nut (For Machine) 3.70$        

00300012 Nut 3/8 brass" (For Machine) 3.10$        

00300013 Nut OT 3/8 gas spess .4 mm (For Machine) 2.70$        

00300015 Screw for Safety Valve (WILL NO Longer Be Available)  (For Machine) 2.00$        

00300016 Set Screw M6X8 5923 3.96$        

00300017 SS Nut Autobloc M4 (For Machine) 1.40$        

00300018 Autoblock Nut 1.70$        

00300019 Register Screw Block 1.80$        

00300021 Shower screw (M6X16 TSTC) (For Machine) 3.00$        

00300022 Shower screw (For Machine) 3.00$        

00300026 Conical Tap 1/4" 6.00$        

00300032 Nut 1/2 Dado 1/2" GAS ES.24" (For Machine) 3.50$        

00300036 SS Register Screw  M4x10 UNI 5923 (For Machine) 3.12$        

00300038 Black Eagle Foot Stud (WILL NO LONGER BE AVAILABLE) (For Machine) 6.00$        

00300075 Bolt 1.30$        

01000002 Red Lever handle for 01000001**** 6.50$        

01000006 KD8 Lid Assembly 90.00$      

01000010 Flex tube 1/4 x 300 (For Machine) 31.60$      

01000012 Plastic drain hose, metal reinforced. Priced per meter. For Mac, Program Vip, Premier, Master, Caffetteria (For Machine)17.10$      

01000015 Lock assembly with Key for Microbar/ Master (For Machine) 25.40$      

01000015-A Key only for door lock Master/Microbar/Talento/Prontobar 14.00$      

01000019 SS flex tube 1/4 x 500 (For Machine) 73.00$      

01000023 Anti suction valve (For Machine) 20.20$      

01000029 SS flex tube 3/8 x 1500mm (For Machine) 46.80$      

01000030 Stainless Steel Flexible Tube, 3/8 F-F 0.5 meter (For Machine) 30.50$      

01000052 Magnet for dumpbox RPV 14 10.50$      

01000055 Pressure Reducing Valve 3/8   4 BAR (For Machine) 192.00$    

01000072 Vibration Isolator 10x10 (For Machine) 11.30$      

01000073 Stainless Steel Flexible hose  3/8-F.F. L300 (WILL BE 01000030)(For Machine)34.30$      

01000075 Cappuccino Maker 185.00$    

01000083 Antivibration D 10x10 M4 8.60$        

01000087.1 Drain Hose Metal Reinforced 18x24 (For Machine) 36.00$      

01000088 Talento Fan Hose 16.80$      

01000089 Retain Valve 6.40$        

01000090 Retaining Valve (Valvolina di ritegno C010) (For Machine) 8.80$        

01000092 Water Supply Hose 3/8 Female x 3/4" Female /Talento/Prontobar/Oscar II" (For Machine)55.00$      

01000101.AB Swivel Kit for Steam Wand 32.30$      



01000104 Boiler insulation 60x230 6mm 4.00$        

01000106 Insulation Tubing for Oscar (per foot) 4.00$        

01000107 Silencer 1/8 for Master (For Machine) 13.50$      

01000108 Air Regulator  MRF 1/8 F-F (For Machine) 84.30$      

01000113 Stainless Steel Flexible Tube w/ elbow, 3/8 F-F 1.5 meter (For Machine) 65.10$      

01000115 Pipe Insulation 14.20$      

01000120 New Style Foamer Microbar/Talento (For Machine) 120.40$    

01000127 New Style Drain Tube (For Machine) 29.20$      

01000130 Athena Leva / White Eagle Leva Complete Group 2012 (For Machine) 1,200.00$ 

01000155 Nickle counter bracket 18.40$      

01000159 Right by-pass for elec pump (For Machine) 53.50$      

01000160 Anti Vibration D10x10 M4 9.10$        

01000161 Pump regulator fitting M-Bar (For Machine) 44.10$      

01000162 Microbar / Talento lock complete (For Machine) 52.00$      

01000163 Pressure Regulator Microbar (For Machine) 94.30$      

01000174 Talento Coffee Boiler Insulator (For Machine) 42.00$      

01000178 Talento Steam Boiler Insulator (For Machine) 42.00$      

01000188 Boiler Insulation for Microbar SS Boilers (For Machine) 23.40$      

01000190 Vibration Damper 15x30 M4 FF 13.80$      

01000202 Spring Pressure Steam Tamp Adonis (For Machine) 16.50$      

01000210 Boiler Insulation Oscar / Oscar illy (WAS 01000105)  (For Machine) 27.50$      

01000212 Insulation Left Side Oscar illy 7.50$        

01000214 Insulation Right Side Oscar illy (For Machne) 7.50$        

01000216 By-Pass for Pump Oscar illy 13.00$      

01000218 T3 Coffee Boiler Insulation D.80  115 x 253 (For Machine) 19.20$      

01000220 Prontobar Boiler Upper Insulation D.80 (For Machine) 9.00$        

01000222 T3 Boiler Lower Insulation D.80 (For Machine) 9.00$        

01000228 Prontobar Chrome Top Rack (For Machine) 60.00$      

01000229 Service Card Protection (For Machine) 6.30$        

01000230 Circuit Board Protection (For Machine) 6.30$        

01000232 Aurelia T3 Boiler Insulation 2gr 117.00$    

01000235 Aurelia T3 Right Boiler Insulation 25.50$      

01000237 Left Boiler Insulation 30.00$      

01000239 Group Insulation Aurelia II T3  (For Machine) 36.00$      

01000240 Compact Touchpad Insulation Group 1 8.00$        

01000241 Compact Touchpad Insulation Group 2 8.00$        

01000242 Adhesive Insert for Plate Aurelia II (For Machine) 3.00$        

01000260 Theresia Hydraulic Arm 92.50$      

01000264.2 Gasket for back of Black Eagle Drip Tray 2gr (For Machine) 22.50$      

01000264.3 Gasket for back of Black Eagle Drip Tray 3gr 25.50$      

01000268 Oscar II Side Panel Insulation (For Machine) 19.50$      

01000270 Anti-Vibration AD 15x10 M4 MM Microbar II (For Machine) 12.00$      

01000603 Aurelia Wave 3gr Cup Rail (For Machine) 300.00$    

01000612 Boiler Insulation for Aurelia Wave Digit 2gr (For Machine) 135.00$    

01000625 Boiler Insulation for Appia Compact Life 2gr (For Machine) 125.00$    

01000642 Insulation D.160 Right Steam Boiler Eagle One (For Machine) 16.80$      

01000644 Insulation D.160 Left Steam Boiler Eagle One (For Machine) 16.80$      

01000682 T3 2gr Boiler Insulation D.185 w/ Velcro (For Machine) 126.50$    

01000683 T3 3gr Boiler Insulation D.185 w/ Velcro (For Machine) 157.30$    

01100002 Special Order   Hopper for Master 87.30$      



01100016 Right Grinder Talento (For Machine) 750.00$    

01100017 Left Grinder Talento (For Machine) 750.00$    

01100019 Grinding Burrs 65mm Talento they turn Counterclockwise. First version Talento.180.00$    

01100028 Grinding Burrs 63.5mm Talento 2011 new style clockwise. (For Machine) 106.00$    

01300004 Pump for Master/Appia/Caffetteria/Talento/Prontobar (For Machine)* 205.00$    

01300005 Volumetric Pump  (For Machine) 300.00$    

01300006 Volumetric Pump 200 Lt/h (For Machine) 300.00$    

01300028 Electric Pump GA072 (For Machine) 300.00$    

02000002 Milk foamer upper O-Ring (For Machine) 1.70$        

02000003 Milk foamer lower O-ring 1.90$        

02000005 Upper Gasket for Microbar Foamer (For Machine) 3.00$        

02000006 Lower Gasket for Foamer (For Machine) 8.00$        

02060010 Copper ORing 8.3x13xh1.9 (For Machine) 2.16$        

02060014 Spacer (For Machine) 1.30$        

02060015 Heating element gasket. For Mac, Program, Premier, Appia 1gr, Appia 2gr,3gr (For Machine)*6.60$        

02060019 Group gasket  ER  90X30 4.80$        

02060021 Teflon gasket  33x24x1.5 3.00$        

02060027 Gasket 92x80x2.5 5.20$        

02060028 Heating Element Gasket for Beach - 022X013X2 - Elli 1.50$        

02060033 Gasket (For Machine) 1.20$        

02060034 Gasket D200X150X2 (For Machine) 23.40$      

02060037 Gasket for Tap 4.90$        

02060039 Teflon Gasket 50x42x4   1 1/4 x 1 1/4 for Appia Compact and Caffetteria coffee boiler and Talento coffee and steam (For Machine)6.00$        

02280001 O-ring gasket (WILL NO LONGER BE AVAILABLE) 2.10$        

02280004 O-ring for swivel steam pipe (replaces 02280016) (For Machine) 1.20$        

02280007.V Oring Gasket R5A D.10   DF801 Viton (WAS 02280007) 2.40$        

02280009 O Ring Diam 40MM (For Machine) 2.40$        

02280010 Gasket, O-ring - R7 D12 1.30$        

02280011 Gasket OR R11 D19 (For Machine) 2.20$        

02280012 O Ring Block (For Machine) 1.80$        

02280013 O-ring for old style portofilter 2.50$        

02280014.S Gasket OR Red Silicone (For Machine) 2.16$        

02280015.T Microbar Boiler Teflon Gasket 31.50$      

02280017 O Ring (For Machine) 1.50$        

02280018 Red gasket for Oscar Tank (For Machine) 3.00$        

02280020.C Group Gasket Flat 073x058x7 (For Machine)* 5.50$        

02280020.V Group Gasket Conical 073x058x7 (For Machine)* 6.00$        

02280023 Aurelia Flat Group Gasket 72.3x57.5x8h (For Machine) 5.50$        

02280032 Gasket OR  14 (For Machine) 1.90$        

02280033 Gasket OR 75.92 x 1.78 for Aurelia goes between group collar and brew group (For Machine)4.00$        

02280034 Gasket Oring 106 D.6, 75 EPDM 70 Sh x by-pass (For Machine) 0.70$        

02280036 Gasket Oring for steam wand Tip (For Machine) 1.20$        

02280037 O Ring 16x2 (For Machine) 1.60$        

02280038 O-Ring Oscar illy (For Machine) 1.30$        

02280039 Oring 7.59x2.62 Group Gasket Oscar Illy (For Machine) 1.00$        

02280042 Gasket 48x35xh8.5 (For Machine) 20.00$      

02280044 Gasket O-ring 14x1.78 EP851 (For Machine) 3.75$        

02280045 E1 Prima Element Gasket 29.82x2.62 (For Machine) 5.00$        

02280047 E1 Prima Steam Wand Gasket  (For Machine) 6.00$        

02280081 USE 02280033 O-ring for Black Eagle Drain Cup 4.50$        



02290016 Gasket OR D9.5 Silicone (For Machine) 1.40$        

02290017 Silicon Gasket 36mm 4.20$        

02290019 Lower Piston O-ring (For Machine) 2.20$        

02290020 Upper Piston O-Ring 43mm Master (For Machine) 6.00$        

02290020.T Teflon Gasket for Oscar II Heating Element 7.20$        

02290021 Oring gasket 139/4131 40mm Red Silicone (For Machine) 6.75$        

02290022 Red Poly O Ring (For Machine) 26.20$      

02290025 Microbar Grinder Gasket 7.80$        

02290030 OR Gasket (For Machine) 8.40$        

02290030.1 Gasket Oring D.50 NBR Black (For Machine) 8.40$        

02290034 Gasket Oring 6187 D.47x5.34 (For Machine) 12.00$      

02590010 Piston Gasket  12x4 ,  5X4  Black 2.60$        

02590011 Piston Gasket (For Machine) 3.00$        

02590012 Piston Gasket 2.00$        

02590022 D.40x34 Red O-ring 7.50$        

02590030 Washer 4.8x11.2xH3.9 (For Machine) 2.00$        

02590032 Spacer for faceplate Aurelia**** 4.00$        

02600002 Teflon Heating Element Gasket (used for Microbar Heating Element) 1.50$        

02600004 Teflon Gasket for the Bottom of Steam Wand Nut (For Machine) 1.20$        

02600006 E1 Prima Steam Wand Gasket (For Machine) 6.00$        

03000004 Thermostat support (For Machine) 2.70$        

03000066 SS Shower Screen 56X5, 5X6 9.00$        

03000066.R Reinforced Shower Screen 18.00$      

03000067 SS Shower screen-Master 6.20$        

03000068 Old Style POD Shower Screen 7.50$        

03000069 S.S. Shower (For Machine) 9.00$        

03000072 Single Conical Coffee Basket 9gm (For Machine) 18.00$      

03000073 Double Conical Coffee Basket 18gm (previously 03000322) (For Machine) 18.00$      

03000074 Double pod basket 55mm 18.00$      

03000077 Single pod basket 45mm 18.00$      

03000077.1 Single pod basket 45mm 18.00$      

03000107 Blind Filter (For Machine) 6.50$        

03000183 Single Coffee Basket 18.00$      

03000202 Boiler Cup Master/Oscar Illy (For Machine) 17.50$      

03000258 Pressure Switch Support 12.00$      

03000321.MC1 McDonalds Coffee Filter "Small" 18.00$      

03000392 Boiler Support Mac/Aurelia 7.50$        

03000452 Basket VST 20 gram 75.00$      

03000881 Oscar Frame (For Machine) 132.00$    

03000882.A Bottom Cover Oscar Direct Connect 15.00$      

03000887 Oscar Safety Plate 25.80$      

03001536 Coffee chute deflector Microbar 3.00$        

03001630 SPECIAL ORDER  SS Grill Microbar (Does NOT come with Float) WAS 05000713 (For Machine)100.00$    

03001634 SS Plate Support 4.50$        

03001638 Right Side SS Case Prontobar (For Machine) 108.00$    

03001640 Left Side SS Case Prontobar (For Machine) 108.00$    

03001642 Rear SS Case Prontobar (For Machine) 162.00$    

03001644 Front Lower SS Case - Prontobar (For Machine) 49.50$      

03001666 Steam Wand + Hot Water Support - Prontobar (For Machine) 28.50$      

03001684.T Teflon Dispensing Group Panel - Prontobar (For Machine) 57.00$      



03001688 Lock Plate - Prontobar 6.00$        

03001690 Prontobar Drip Tray Grate  (For Machine) 94.00$      

03001695 SS Front Door Right Insert - Prontobar (For Machine) 12.60$      

03001702 Aurelia 2 Group Metal Base Plate (For Machine) 210.00$    

03001703 SPECIAL ORDER   Aurelia 3 Group Metal Base Plate (For Machine) 240.00$    

03001704 SPECIAL ORDER   Aurelia 4 Group Metal Base Plate (For Machine) 300.00$    

03001706-P Aurelia Right Side Frame (DX) (For Machine) 186.00$    

03001707-P Aurelia Left Side Frame (SX) (For Machine) 186.00$    

03001711 Relay Cover T3 24.00$      

03001722 L Lower Front Support 2 gr (For Machine) 36.00$      

03001732.I Aurelia 2gr Lower Front Panel - Stainless Steel (For Machine) 140.00$    

03001733.GM Aurelia 3gr Lower Front Panel - Medium Gray 101.50$    

03001733.I Aurelia 3gr Lower Front Panel - Stainless Steel 203.00$    

03001742.GM Aurelia 2gr Lower Rear Panel - Medium Gray 87.00$      

03001742.I Aurelia 2gr Lower Rear Panel - Stainless Steel 140.00$    

03001746 Back Panel Aurelia 2gr 232.20$    

03001756 Housing Control Panel 2gr Aurelia (For Machine) 141.90$    

03001759 Aurelia SS Splash Plate (For Machine) 144.00$    

03001760 Aurelia 3 Group Front Panel WAS 03001753 (For Machine) 168.00$    

03001765 Drain Tray Grill Appia 1gr/Talento (For Machine) 75.00$      

03001766 Drain Tray Grill 2gr for Aurelia, Aurelia II, Appia, Adonis (For Machine) 128.00$    

03001767 Drain Tray Grill 3gr for Aurelia, Aurelia II, Appia, Adonis (For Machine) 148.80$    

03001768 Drain Tray Grill 4gr for Aurelia (For Machine) 150.20$    

03001769 Raised work grill for Aurelia (For Machine) 80.00$      

03001771 Drain Tray Appia 1gr/Talento (For Machine) 135.80$    

03001772 Drain Tray 2gr for Aurelia, Appia, Adonis (For Machine) 225.50$    

03001772.C VA 358 2gr Drip Tray Polished (For Machine) 372.00$    

03001773 Drain Tray 3gr for Aurelia, Appia, Adonis (For Machine) 282.70$    

03001774 Drain Tray 4gr for Aurelia (For Machine) 460.20$    

03001779 Aurelia Cupwarmer Grill Right 78.70$      

03001780 Aurelia Cupwarmer Grill Left 78.70$      

03001781 Aurelia Cupwarmer Grill Center 81.00$      

03001785 Panel support bracket Aurelia Left or Right Side (For Machine) 46.60$      

03001786 Display Plate 4.00$        

03001792 Main Board Support Cover 50.00$      

03001793 Electronic Relay Cover (For Machine) 50.00$      

03001794 Control Board Case Aurelia 60.00$      

03001806 Steam Protection Panel 2 Group 50.00$      

03001819 Triple dose filter 21gm (For Machine) 18.00$      

03001907 Back Panel Appia 1gr (For Machine) 116.40$    

03001908 Back Panel Appia 2gr 231.50$    

03001910 Front splash plate Appia 1gr 61.30$      

03001911 Front Panel for Lowered 2 Group 114.00$    

03001915 SPECIAL ORDER   Control panel top housing Appia 1gr (For Machine) 59.00$      

03001916 Appia 2gr Face Plate Housing 154.20$    

03001917 Appia 3gr Face Plate Housing (For Machine) 192.00$    

03001921 Top Tray Appia 1gr 88.60$      

03001923-C Appia 3 group Cup Holder Tray (For Machine) 210.00$    

03001932 Group Cover for Lowered 2 Group 144.00$    

03001936 Appia Raised Group Cover (For Machine) 72.60$      



03001946 Appia 1 Group Board Panel 54.00$      

03001947 Appia II 1 Group Control Board Cover 28.50$      

03001951 Base drain plate Appia 1gr (For Machine) 20.00$      

03001954 Base Alignment Plate for 2gr Appia (For Machine) 28.80$      

03001968 Appia Compact SS Back Panel (For Machine) 289.50$    

03001972 Front Plate Appia Compact (For Machine) 90.00$      

03001976 Appia Compact Front Panel Support (For Machine) 120.00$    

03001980 Appia Compact 2 Group SS Cup Tray (03001980-C) (For Machine) 180.00$    

03001986 Safety tray Appia Compact (For Machine) 42.00$      

03001988 Appia Compact Drip Pan (For Machine) 220.00$    

03001989 Appia Compact 2 Group Tray Grate (For Machine) 105.00$    

03001992 Switchboard Support Appia Compact (For Machine) 46.50$      

03002020 SS Right Side Panel Talento 270.00$    

03002022 SS Left Side Panel Talento 270.00$    

03002024 SS Back Panel Talento 270.00$    

03002027 Stainless Steel Talento Waste Box (For Machine) 180.00$    

03002028 Top Cover Panel Talento (For Machine) 144.00$    

03002031 Talento SS Hopper Bean Gate 33.60$      

03002040 Group Rear Lamination Talento 85.00$      

03002042 Teflon-Coated Group Panel Talento   (03002042.T) (For Machine) 24.00$      

03002045 Cleaning Valve Support Talento 15.00$      

03002052 Grinder Adjustment Screw Support 34.50$      

03002057 Copper Flap for Talento Grinder Chute 3.30$        

03002061 Clump Crusher Talento 40.00$      

03002097 SS Support Pouring Spout Cover Talento (For Machine) 25.00$      

03002098 Water Wand Regulator Talento (For Machine) 6.00$        

03002253 SS Front Panel Raised 3 Group Adonis 183.60$    

03002257 Adonis SS Front Panel Lowered 3 Group (For Machine) 220.00$    

03002266.2 SPECIAL ORDER    Adonis Top Front Plate Leva Steam Tap 2gr (For Machine)150.00$    

03002267.2 Top Front Plate Adonis 3gr - Leva Steam Tap (For Machine) 276.00$    

03002293 SS Safety Tray Adonis 3 Group (For Machine) 192.00$    

03002300 Metal Grill for Fan Talento 7.50$        

03002308 Adonis Service Buttons Fastener (For Machine) 13.50$      

03002360 Water Container Support Panel - Musica (For Machine) 96.00$      

03002362 Musica Top Panel (For Machine) 96.00$      

03002364 Musica Front Panel 195.00$    

03002380 Musica Drip Tray Trim Panel (For Machine) 27.00$      

03002383 Drip Tray Grill Musica (For Machine) 66.50$      

03002450 Oscar II Front Panel (For Machine) 99.00$      

03002452 Oscar II Right Side Panel (For Machine) 171.00$    

03002454 Oscar II Left Side Panel (For Machine) 171.00$    

03002460 Oscar II SS Work Grill (For Machine) 72.00$      

03002502 Base Plate Aurelia II 2 Group (For Machine) 192.00$    

03002503 Base Plate Aurelia II 3gr (For Machine) 216.00$    

03002504 SPECIAL ORDER  Aurelia II Base Plate 4 Group (For Machine) 275.00$    

03002507 Right Side Frame Aurelia II/Appia II (For Machine) 168.00$    

03002509 Left Side Frame Aurelia II/ Appia II (For Machine) 168.00$    

03002528 Steam Support Aurelia II (For Machine) 52.10$      

03002535 Aurelia & Aurelia II 4gr Safety Tray (For Machine) 110.00$    

03002536 Drain /tray Position Right Plate Aurelia II 21.00$      



03002538 Drain Tray Position Left Plate Aurelia II (For Machine) 21.00$      

03002540 Side Frame Fitting Appia II / Aurelia II / Aurelia Wave (For Machine) 6.00$        

03002546 Right SS Insert Side Aurelia II 110.00$    

03002548 Left SS Side Insert Aurelia II 110.00$    

03002562 Rear Lower Plate Aurelia II 2 Group ((For Machine) 150.00$    

03002563 Aurelia II 3gr Lower Back Panel (For Machine) 162.00$    

03002572 Lower Front SS Panel Aurelia II 2 Group (For Machine) 108.00$    

03002573 Lower Front Plate Aurelia II 3 Group (For Machine) 156.00$    

03002577 Relay Cover T3 45.00$      

03002582 Aurelia II 2gr Front Panel for Lights (For Machine) 120.00$    

03002583 Aurelia II 3gr Front Panel (For Machine) 162.00$    

03002584 Front Panel Aurelia II 4gr for Lighting (For Machine) 192.00$    

03002592 Aurelia II Control Panel Housing 2 Group (For Machine) 150.00$    

03002593 Aurelia II Control Panel Housing 3gr (For Machine) 200.00$    

03002595 Aurelia II Digit-TFT Control Housing 2gr (For Machine) 96.00$      

03002599 LED Transformer Support 22.50$      

03002607 Aurelia II Cupwarmer Grill Right (For Machine) 114.00$    

03002608 Aurelia II Cupwarmer Grill Left (For Machine) 118.50$    

03002609 Aurelia II Cupwarmer Grill Center 85.50$      

03002613 Back Panel Aurelia II 2 Group (For Machine) 348.00$    

03002614 Back Panel Aurelia II 3 Group (For Machine) 384.00$    

03002622 Front Panel Aurelia II 2 Group 108.00$    

03002641 Service Group Cover Aurelia II (For Machine) 72.00$      

03003001 Appia II 1gr Front Panel (For Machine) 31.50$      

03003002 Appia II 2 Group Front Silver Panel (For Machine) 42.00$      

03003003 Appia II 3gr Front Lower Panel (For Machine) 63.00$      

03003005 Front Panel for Appia II Compact (For Machine) 37.50$      

03003007 Front Support Frame Piece Appia II 1gr (For Machine) 48.00$      

03003031 Appia II 1gr Back Panel (For Machine) 156.00$    

03003032 Appia II 2gr Back Panel (For Machine) 230.00$    

03003033 Appia II 3gr Back Panel 270.00$    

03003034 Rear Cover Appia II Compact (For Machine) 162.00$    

03003036 Top Tray Appia II 1gr (For Machine) 108.00$    

03003038 Appia II 2 Group Top Panel (For Machine) 137.50$    

03003040 Top Panel Appia II 3 Group (For Machine) 168.00$    

03003042 Cup Warmer Top Tray Appia Compact II (For Machine) 132.00$    

03003047 Appia II Right Panel Bracket WAS 03003046 15.00$      

03003049 Appia II Left Panel Bracket WAS 03003048 15.00$      

03003060 Left Support Appia II (For Machine) 18.00$      

03003061 Right Support Appia II (For Machine) 18.00$      

03003097 Right side Appia Life Frame (For Machine) 112.00$    

03003098 Left side Appia Life Frame (For Machine) 112.00$    

03003102 Front Top Panel Piece Appia Life V 2gr (For Machine) 52.00$      

03003121 Appia Life 2gr Front Panel - Raised (For Machine) 92.00$      

03003123 Appia Life 3gr Front Panel for Raised Group (For Machine) 150.00$    

03003126 Appia Life 1gr Back Panel (for machine) 174.00$    

03003127 Appia Life 2gr Back Panel (For Machine) 192.00$    

03003128 Appia Life 3gr Back Panel (For Machine) 295.00$    

03003130 Appia Life Compact Back Panel (For Machine) 210.00$    

03003131 Appia Life 1gr Top Panel (For Machine) 84.00$      



03003132 Appia Life 2gr Cup Warmer Top Panel (For Machine) 120.00$    

03003133 Appia Life 3gr Cup Warmer Top Panel (For Machine) 159.00$    

03003209 Black Eagle Drain Tray Support 50.00$      

03003218 VA358 Group Bracket (For Machine) 15.30$      

03003220 Hot Water Arm Support Black Eagle 30.00$      

03003230 Aurelia Wave / V388 Main Boiler Bracket (For Machine) 13.50$      

03003250 Load Cell Support 54.00$      

03003251 Suuport for Scale VA388 Gravimetric (For Machine) 6.00$        

03003252 Scale Component Cover 21.00$      

03003254 Support Scale 25.50$      

03003270 Black Eagle side Panel Bracket - Right Side 22.50$      

03003273 V.A. Black Eagle 3gr Lower Front Face Panel SS (For Machine) 180.00$    

03003276 Black Eagle Front Control Panel 3 Group 285.00$    

03003279 Lower Drain Tray Plate (For Machine) 192.00$    

03003295 Black Eagle Grill 2gr (Older Style) (For Newer 03003315) 192.00$    

03003296 Black Eagle Grill 3gr (Older Style) (For Newer 03003316) 210.00$    

03003298 Black Eagle Right Panel Top (For Machine) 180.00$    

03003299 Black Eagle Left Panel Top (For Machine) 216.00$    

03003300 Black Eagle Center Panel Top 120.00$    

03003304 Black Eagle Foot Cap 45.00$      

03003312 Black Eagle 2 Group Deep Drain Tray (For Machine) 672.00$    

03003313 Black Eagle 3 Group Deep Drain Tray (For Machine) 770.00$    

03003315 Black Eagle 2 Group Work Grill Deep 192.00$    

03003316 Black Eagle 3 Group Work Grill Deep Drain Tray (For Machine) 210.00$    

03003322 Gravimetric 2 Group Cover (For Machine) 132.00$    

03003323 Gravimetric 3 Group Cover 168.00$    

03003325 Gravimetric 2 Group Drain Grill (For Machine) 198.00$    

03003326 Gravimetric 3 Group Drain Grill (For Machine) 240.00$    

03003328 Small Grill Gravimetric (For Machine) 149.50$    

03003423 Pressure Gauge Support Plate (For Machine) 31.50$      

03003435 White Eagle Splash Plate 2gr (For Machine) 180.00$    

03003436 White Eagle Splash Plate 3gr (For Machine) 195.00$    

03003442 White Eagle 2-group Raised Front Panel (For Machine) 149.80$    

03003443 White Eagle 3-group Raised Front Panel 180.00$    

03003445 VA358 White Eagle 2gr Lower Front Plate (For Machine) 128.00$    

03003446 VA358 White Eagle 3gr Lower Front Plate (For Machine) 164.00$    

03003451 Lower Back Panel VA358 2gr (For Machine) 105.00$    

03003452 White Eagle Lower Back Panel  (For Machine) 135.00$    

03003458 Cupwarmer Right Side VA358 124.40$    

03003459 Cupwarmer Left Side VA358 115.50$    

03003606 Aurelia Wave Right Side Frame (For Machine) 156.00$    

03003608 Aurelia Wave Left Side Frame (For Machine) 156.00$    

03003628 Steam Valve Frame Aurelia Wave (For Machine) 42.00$      

03003632 Main Display Support Aurelia Wave (For Machine) 18.00$      

03003658 Aurelia Wave Back Panel 2gr (For Machine) 216.00$    

03003659 Aurelia Wave Back Panel 3gr (For Machine) 282.00$    

03003662 Lower Back Panel Aurelia Wave 2gr (For Machine) 132.00$    

03003670 Control Panel Wrapping Aurelia Wave 3gr Semi (For Machine) 265.00$    

03003672 Control Panel Aurelia Wave 2gr Vol-Dgt Version (For Machine) 225.00$    

03003673 Control Panel Housing Aurelia Wave 3gr Vol-Digit (For Machine) 225.00$    



03003682 Aurelia Wave Front Panel Cover 2gr (For Machine) 90.00$      

03003683 Aurelia Wave 3gr Splash Plate (For Machine) 144.00$    

03003689 Cup Warmer Right Side Panel Aurelia Wave (For Machine) 145.00$    

03003690 Cup Warmer Left Side Panel Aurelia Wave (For Machine) 145.00$    

03003691 Cup Warmer Middle Panel Aurelia Wave 3gr (For Machine) 93.00$      

03003820 Side Panel Frame Support Eagle One (For Machine) 26.00$      

03003834 Support Transformer (For Machine) 29.80$      

03003862 Eagle One Lower Back Profile Panel 2gr STEELUX (For Machine) 385.00$    

03003862.BV Eagle One Lower Back Profile Panel 2gr WHITE (For Machine) 385.00$    

03003862.NOV Eagle One Lower Back Profile Panel 2gr BLACK (For Machine) 385.00$    

03003863 Eagle One Lower Back Profile Panel 3gr CHROME (For Machine) 475.00$    

03003863.BV Eagle One Lower Back Profile Panel 3gr WHITE (For Machine) 475.00$    

03003863.NOV Eagle One Lower Back Profile Panel 3gr BLACK (For Machine) 475.00$    

03003884 Eagle One Front Logo - Matte Nickel (For Machine) 119.50$    

03003890 E1 Prima Logo (For Machine) 135.00$    

03003911 E1 Prima Front Panel (For Machine) 90.00$      

03003915 E1 Prima Drain Tray (For Machine) 552.00$    

03003916 2 Group Drain Pan Eagle One (For Machine) 550.00$    

03003917 3 Group Drain Pan Eagle One (For Machine) 560.00$    

03003921 E1 Prima Grill Tray (For Machine) 210.00$    

03003922 2 Group Grill Eagle One (For Machine) 288.00$    

03003923 3 Group Grill Eagle One (For Machine) 336.00$    

03003928 Eagle One Lower Back Chrome Panel (For Machine) 132.00$    

03003935 Cupboard Right Eagle One (For Machine) 99.00$      

03003936 Cupboard Left Eagle One (For Machine) 99.00$      

03003937 Center Cupboard Eagle One (For Machine) 90.00$      

03003960 E1 Prima Side Panel Support (For Machine) 21.50$      

03003972 E1 Prima Right Drain Tray Guide (For Machine) 31.50$      

03003974 E1 Prima Left Drain Tray Guide (For Machine) 31.50$      

03003982 E1 Prima Top Panel Lid (For Machine) 51.00$      

03003984 E1 Prima Top Panel (For Machine) 150.00$    

03004026 Prontobar Touch Front Panel - Stainless (For Machine) 115.00$    

04000010 Capacitor 6 micro (condens) p.master (For Machine) 41.20$      

04000011 Condens.25 Microf (For Grinder) 66.00$      

04000035 Plug Lock (no cord) 30A 250v L630P 30.00$      

04000043 Capacitor 10 uF (For Machine) 60.00$      

04000043.1 Condenser for Pump Motor 18 uF (For Machine) 59.30$      

04000049 Wired light  D 10 220V (For Machine) 5.60$        

04000075 Terminal Block (Barrier Strip, 12-Circuit, 20 - 8 AWG, 50 Amp, 300 Volt) (090-832)20.00$      

04000097 Cable 26 Line Touchpad Plus 92 72.00$      

04000123 2 Pin Flowmeter Connector 12.00$      

04000126 Appia II Appia  220v Power Cord (For Machine) 27.00$      

04000129 Faston Cover F 6.3 (For Machine) 1.60$        

04000131 Cable 20 Line (WILL NO LONGER BE AVAILABLE) Touchpad Premier 2 (For Machine)82.20$      

04000148 Fuse 160mA 250V 5x20mm (For Machine) 2.00$        

04000149 Fuse 3.15A 250V 5x20mm Timed (For Machine) 1.80$        

04000152 Fuse 200mA 250V 5x20mm Timed 2.00$        

04000153 Fuse 1A 250V 5x20mm Fast (For Machine) 4.60$        

04000179 Cable, display Ctr. 10 vie (For Machine) 24.00$      

04000180 Cable, display Ctr. 20 vie (For Machine) 20.50$      



04000182 Data Cable 20 Wire Display 3gr 26.40$      

04000191 Wire Connector 0.42$        

04000198 Wire Connector (For Machine) 6.00$        

04000205 Wire Pin connector Yellow (For Machine) 2.00$        

04000240 Central Connector 2 Pole 5.08 UL (For Machine) 6.00$        

04000244 3 Pole Connecting Cable for Digital Pressurestat (For Machine) 15.00$      

04000312 Magnetic Sensor 27.20$      

04000312.A Magnetic Sensor (For Machine) 30.50$      

04000313 Magnetic Unit M305 AA 6.00$        

04000314 Magnetic Unit D4x10 (For Machine) 3.40$        

04000342 Wiring kit 2gr Aurelia (For Machine) 299.10$    

04000344 Wiring Kit Aurelia 3/4 Group (For Machine) 330.00$    

04000352 20 Line Cable 2gr Plus 22.20$      

04000353 20 Line Cable 3gr Plus (For Machine) 22.70$      

04000354 20 Line Cable 4gr Plus 25.00$      

04000362 Ribbon Cable Aurelia 2gr (For Machine) 26.90$      

04000363 Ribbon Cable Aurelia 3gr (For Machine) 30.30$      

04000364 Ribbon Cable Aurelia 4gr 30.30$      

04000366 PVC Switchboard Protection Aurelia (For Machine) 5.00$        

04000368 Electrovalve Plug WITH Wires, Rubber Seat & Screw (For Machine) 33.00$      

04000382 Wiring Harness for Aurelia Digit 2 Group 540.00$    

04000384 Wiring Harness Aurelia WBC 2 Group (For Machine) 456.00$    

04000400 Base Wiring System Aurelia II 2gr  (For Machine) 420.00$    

04000401 Electrical Cabling Aurelia II 3-4 Group (For Machine) 455.00$    

04000404 Aurelia II Flowmeter Supply Wiring 2gr 168.00$    

04000405 Flowmeter Supply wiring Aurelia II 3-4 Group (For Machine) 192.00$    

04000409 Aurelia II T3 Coffee Boiler Cable (For Machine) 12.90$      

04000410 Ground Connection Cable Aurelia II 3.90$        

04000412 Aurelia II Light Wiring (For Machine) 48.00$      

04000414 Aurelia II Transformer Wiring Light WAS 04000413 (For Machine) 52.00$      

04000415 Aurelia II Side Panel Light (For Machine) 90.00$      

04000416 Aurelia II LED 2 Group (For Machine) 205.00$    

04000417 Strip LED Aurelia II (For Machine) 285.00$    

04000422 Aurelia II V-S 16 Line 2gr Ribbon Cable (For Machine) 42.00$      

04000423 Aurelia II V-3 Ribbon Cable (For Machine) 48.00$      

04000424 Aurelia II 4gr Ribbon Cable 57.00$      

04000425 16-way T-3 Digit 2gr Cable for Display 57.00$      

04000426 16-way T-3 Digit 3gr Cable for Display (For Machine) 66.00$      

04000427 Cable 16 Line Display Color Aurelia II T3 4 Group (For Machine) 75.00$      

04000429 Cable 6-ways for Touchpad Display TFT (For Machine) 18.00$      

04000430 Cable 10-ways Control Board - TFT Display (For Machine) 21.00$      

04000431 10-way Ribbon Cable (For Machine) 29.70$      

04000432 26-way Display Ribbon Cable (For Machine) 48.60$      

04000433 Touchpad Ribbon Cable 16 line 2-3gr T3 "Display 2 Lines  Aurelia II 55.80$      

04000434 16 Ways Cable Aurelia II 4gr T3 Display 2 Lines (For Machine) 46.50$      

04000436 Aurelia Wave Cable 10 ways Board-Boiler Solid State Relay (For Machine) 27.30$      

04000440 Wiring for Boiler Solid State Relay (For Machine) 60.00$      

04000444 Electrical Circuit for Easycream on Aurelia Wave VOL (For Machine) 67.00$      

04000462 Black Eagle 2gr Wiring Harness (For Machine) 280.00$    

04000463 Black Eagle 3gr Wiring Harness (For Machine) 380.00$    



04000468 Optional Board Transformer Aurelia Wave / Eagle One / Appia Life  (For Machine)87.00$      

04000470 LED Spot Aurelia Wave / Appia Life 12v DC (For Machine) 39.00$      

04000472 Wiring for Light Aurelia Wave (For Machine) 43.50$      

04000474 Aurelia Wave 2gr Group Lights Wiring (For Machine) 37.50$      

04000478 LIGHT POWER WIRING AURELIA WAVE (for machine) 84.66$      

04000486 Water Quality control Wiring Aurelia Wave (For Machine) 51.00$      

04000492 Cable 16 Ways Aurelia Wave 2gr Control Panel (For Machine) 31.50$      

04000493 Cable 16 Ways Aurelia Wave 3gr Control Panel (For Machine) 44.10$      

04000496 Flat Cable 10 Ways Aurelia Wave Control Panel Touch Display (For Machine)22.50$      

04000498 Autosteam Display Cable Aurelia Wave 10 Ways (For Machine) 27.40$      

04000501 Capacitor 25mF 17.90$      

04000513 Fuse 5x20 250V Timed   1.6 Amp 1.40$        

04000514 Fuse 5x20 250V F6.3A 1.50$        

04000520 Fuse 5x20 250v F0.5A 1.40$        

04000525 Talento Board Fuse 5x20 250v T10A 3.20$        

04000565 Magnetic Sensor M8 x 30 (For Machine) 61.70$      

04000566 Large Magnetic Unit D22X35 (For Machine) 13.60$      

04000604 Extra Inlet Solenoid Microbar (For Machine) 15.60$      

04000660 Central Unit 10 Line Cable Musica / Oscar II (For Machine) 15.60$      

04000664 Musica Wire Cable 26.70$      

04000670 Volumetric Counter Cable Musica (For Machine) 20.10$      

04000672 Volumetric AD Counter Cable Musica 30.30$      

04000685 Oscar II Tank Level Reed Sensor 4x19mm (For Machine) 55.00$      

04000710 Ribbon Cable Display Prontobar 19.80$      

04000712 Central Unit-Circuit Board Cable 16.80$      

04000714 Boiler Thermostat Cable 24.00$      

04000801 Wiring Harness Appia V 1 Group 222.00$    

04000803 Complete Wiring Harness Appia Semi 1 Group (For Machine) 216.00$    

04000805 Appia II 2gr Vol. Wiring (For Machine) 372.00$    

04000811 Ribbon cable 14 pin Appia / Appia II Compact 2gr (For Machine) 16.40$      

04000812 Touchpad Cable for Appia 2gr (For Machine) 23.40$      

04000813 Cable for Appia 3 Group (For Machine) 25.00$      

04000819 Appia Life Compact Wiring Harness (For Machine) 372.00$    

04000852 Adonis/ VA 358 2gr 20-way Pushbutton Ribbon Cable (For Machine) 31.50$      

04000853 Adonis/ VA 358 3gr 20-way Pushbutton Ribbon Cable 40.20$      

04000858 Back LED Transformer Adonis/Musica (For Machine) 132.00$    

04000860 Electrical System Strip LED Logo Adonis (For Machine) 31.50$      

04000861 LED Strip Logo Adonis/White Eagle (For Machine) 108.00$    

04000862 LED Strip Upper Back Adonis 2 Group (For Machine) 240.00$    

04000864 Brewing Group LED Transformer Adonis & Aurelia WBC (WAS 04000865) (For Machine)180.00$    

04000867 Wiring for Brewing Group LED 2gr Adonis / Aurelia WBC Competizione 30.00$      

04000868 Wiring for Brewing Group LED 3gr Adonis / Aurelia WBC Competizione 38.00$      

04000870 Brewing Group LED Pair for Adonis / Aurelia WBC Competizione (For Machine)180.00$    

04000883 Magnetic Reed Sensor Aurelia Wave (For Machine) 32.10$      

04000889 Cable Touchpad to Mainboard Talento (For Machine) 27.60$      

04000890 Wiring Talento (For Machine) 540.00$    

04000892 Talento Fan 24v DC 60x60x25  0.15A (For Machine) 45.00$      

04000893 Extension Cable Autosteam Talento (For Machine) 12.00$      

04001010 16 VIE Cable Touchpad 3.00$        

04001012 6 VIE Cable Touchpad (For Machine) 40.50$      



04001030 Black Eagle 6-line Cable (For Machine) 13.50$      

04001032 Black Eagle 16-line Cable for Display 2gr 45.00$      

04001033 Black Eagle 16-line for Display 3gr (For Machine) 52.20$      

04001035 Black Eagle 16-line Cable 2gr for Pushbutton 70.50$      

04001036 Black Eagle 16-line Cable 3gr for Pushbutton (For Machine) 80.40$      

04001038 20 line Cable Main Board Black Eagle 30.00$      

04001040 Power Cable 19.50$      

04001100 6 Line Cable Connection (For Machine) 18.00$      

04001110 White Eagle Transformer to LED 48.00$      

04001131 Low Voltage Wiring - E1 Prima (For Machine) 138.50$    

04001140 Cable Connection Board Display (For Machine) 40.50$      

04001143 Cable 10 Ways Pushbutton 2-3gr (For Machine) 27.00$      

04001146 Easy Cream Wiring for Eagle One (For Machine) 27.00$      

04001148 Cable - Hot Tap & Left Steam (For Machines) 13.80$      

04001156 Fuse Holder E1 Prima (For Machine) 33.00$      

04001161 E1 Prima LED Strip (For Machine) 98.50$      

04001162 Strip LED 2gr Eagle One (For Machine) 147.00$    

04001163 Strip LED 3gr Eagle One (For Machine) 192.00$    

04001165 LED Wiring 2gr Eagle One (For Machine) 50.50$      

04001166 LED Wiring 3gr Eagle One (For Machine) 56.80$      

04001170 E1 Prima Tank Sensor (For Machine) 114.00$    

04001500 Appia Life Cable Remote Key-PCP Easy Cream (For Machine) 37.50$      

04001502 Keypad Connection Cable (For Machine) 26.50$      

04001510 Appia Life Easy Cream Wiring (For Machine) 75.00$      

04001524 Appia Life XT Display Wire (For Machine)07 24.00$      

04001530 Appia Life Splash LED (For Machine) 9.60$        

04060002 Supply Power Cable Oscar / Mythos and P1L 115V (For Machine) 26.20$      

04060013 Aurelia Power Cord 208-240v Single Phase (Nema L6-30) (For Machine) 96.60$      

04060014 Power Cable  AWG3x12 + Plug 30A 96.00$      

04060015 Power Cable Plug (Replaces 04000029) 60.00$      

04100005 Electrovalve, 220v, 2 way (previously 04100003) (For Machine)* 33.00$      

04100006 E. Valve 2 Way 115v 60hz (For Machine) 58.50$      

04100008 3way Electrovalve 220V used for Autosteam on Aurelia, Appia 2group Compact (For Machine)133.30$    

04100013 Electrovalve, 2 Way, 110v (For Machine) 79.20$      

04100018 Electrovalve, 3 way, (Complete Group Solenoid 110v) (For Machine) 129.90$    

04100025 3-way Electrovalve 115V autosteam. Appia 1gr, Appia Compact (For Machine)129.90$    

04100026 Electrovalve 2 Way Mixing Valve 110v` 90.00$      

04100027 Electrovalve, 3 way UL 220V (previously 04100017) (For Machine)* 130.00$    

04100028 Talento / Master Delivery Electrovalve   220/240  50/60 (Replaces 04100011) (For Machine)80.50$      

04100033 Mixing Valve (For Machine) 155.00$    

04100037 Electrovalve 3 way complete 110v (For Machine) 132.00$    

04100038 Solenoid Valve 3-way 230v 100.00$    

04100042 2 way solenoid valve 230V 50/60Hz  (04100058, 04100070) (For Machine)*43.00$      

04100043 2 way solenoid valve 110V (For Machine)* 49.50$      

04100045 Electrovalve 2 Vie 230V 1/8M (For Machine) 105.30$    

04100046 3 way electrovalve 230V 50/60Hz  (04100067) (For Machine)* 43.00$      

04100047 Solenoid valve 3 way 1/8 115V (For Machine)* 43.00$      

04100049 Solenoid valve 2 way 1/8 115V 31.00$      

04100050 Solenoid Valve, 2-way 230V, Use for Cupwarmer on Aurelia (For Machine)*42.00$      

04100052 Solenoid valve 220V 50Hz 80.40$      



04100053 Solenoid Valve 110V 60 Hz 81.10$      

04100054 3-way Electrovalve 230V 1/8 F2 50/60Hz  (04100068) (For Machine) 55.60$      

04100055 3-way Electrovalve 115V 1/8 F2 (For Machine) 55.60$      

04100060 2-Way Solenoid Valve 230v (For Machine) 44.50$      

04100061 Electrovalve 2way 3/4 110V (For Machine) 46.70$      

04100063 3-Way Electrovalve 230v (For Machine) 108.00$    

04100072 3-way 5.5 hole Electrovalve 60Hz  220v (For Machine) 250.00$    

04100074 2 Way DC Solenoid - Wave T3 Cold Water Mixing Valve (For Machine) 345.00$    

04100075 Aurelia Wave T3 Pulse Jet Valve (For Machine) 198.00$    

04100077 E1 Prima 3-way Steam Electrovalve 110v (For Machine) 150.00$    

04100079 Solenoid 2Way Valve 55.00$      

04100081 E1 Prima 2-way Hot Water Electrovalve 110v  (For Machine) 102.00$    

04200007 Appia Compact Relay 30A 230v (For Machine) 102.90$    

04200009 Appia Compact Power Relay 30A 115v (For Machine) 95.00$      

04200010 Appia II White Toggle Switch w/Printed Image (For Machine) 15.00$      

04200011 Lighted Switch (For Machine) 14.50$      

04200012 Red indicator light (For Machine) 10.10$      

04200015 Main Switch, Premier 2 GROUP (REPLACES 15000014) 44.70$      

04200019 Electronic relay 25 AMP for Program Vip, Aurelia (For Machine) 118.50$    

04200022 Switch  4X25A On/Off (3 GROUP) (For Machine) 120.00$    

04200023 Switch 4 x 16A (For Machine) 73.60$      

04200030 On/Off Switch 16.40$      

04200039 Luminous Switch 24.00$      

04200043 Microswitch Musica / Master (For Machine) 45.00$      

04200051 Switch On/Off Oscar/Premier 14.40$      

04200053 Switch Light 115V Oscar (For Machine) 6.00$        

04200056 Double ignition switch (For Machine) 9.00$        

04200057 Ignition switch  22x19 Aurelia (For Machine) 6.00$        

04200063 Microswitch door. Microbar, Caffetteria, Master 2001,Talento 25.00$      

04200070 Contactor 32 Amp 230v (For Machine) 360.00$    

04200072 Electronic Relay 45 Amp (For Machine) 400.00$    

04200093 Relay Prontobar 252.00$    

04200095 Complete Assembly Solid State Relay 25 amp (For Machine) 578.50$    

04200096 Appia Life / E1 Prima Easy Cream Static Relay 25A 250v 1 out (For Machine)180.00$    

04200098 Coffee Boiler heater Relay Aurelia II 2gr   (For Machine) 840.00$    

04200099 Coffee Boiler Heater Relay Aurelia II 3gr (For Machine) 1,650.00$ 

04200110 White/Blue Toggle Switch for Appia II (For Machine) 15.00$      

04200112 2 Pole Switch 16A Oscar II (For Machine) 15.00$      

04200116 Appia Life Semi Brew Button (For Machine) 12.00$      

04200118 Appia Life Semi Hot Water Button (For Machine) 12.00$      

04200120 Appia Life Semi Cupwarmer Button (For Machine) 12.00$      

04500030 Motor 230V 50/60Hz (For Machine) 610.00$    

04500032 MDX Electric motor 110V/60HZ 1/3HP 4Poli (was part # 15000011 MCD65)1 (For Grinder)342.40$    

04500033 Pump Motor 220v, Master/Premier 2/Appia Compact (For Machine) 563.80$    

04500034 Motor, 220v, Aurelia, Mac, Program, Premier, Appia 3gr (For Machine) 405.00$    

04500036 Electric Motor Mac 2000 1gr  110/115v (For Machine) 563.80$    

04500037 Motor Appia 1gr, Appia / Appia II Compact 110V 50/60Hz 100W (For Machine)563.80$    

04500044 Prontobar Motor w/ Capacitor (For Machine) 540.00$    

04500058 Talento Capacitor 16uF (For Machine) 120.00$    

04500060 Motor 115v (For Machine) 396.00$    



04600002 Master Motorductor  60hz V.200/210 241.30$    

04600003 Group motorductor - Microbar (For Machine) 253.50$    

04600010 2008 Microbar Brew Group Motor 24v (For Machine) 408.00$    

04600012 Motorductor 24v (For Machine) 260.00$    

04600014 Motorductor Prontobar 24v (For Machine) 312.00$    

04600020 Easycream Air Pump Assembly Talento CMK (For Machine) 525.00$    

046000300 Power Transformer for Eagle One/Aurelia Wave (For Machine) -$          

04800006 Electric pump 110v Oscar/Elli/Microbar/Musica (For Machine)* 168.00$    

04800007 Pump 220V 60hz 64W (For Machine)* 168.00$    

04800010 Pump Prontobar 220v 730.00$    

04800017 Silent Pump 120v (Oscar MOOD) 280.00$    

04900026 Flowmeter 1/4-1/4 Gas 2.8x0.5 NSF (previously 04900027) (For Machine) 151.20$    

04900027 Flow Meter FH12 (For Machine)* 110.00$    

04900084 Special Order   Main Control Circuit, Mac D 3/4 (For Machine) 1,200.00$ 

04900112 SPECIAL ORDER    Delivery circuit for Premier V (For Machine) 220.00$    

04900113 SPECIAL ORDER   Electronic unit for Premier V 2 gr 1,230.00$ 

04900119 Complete key set (For Machine) 200.00$    

04900119.A Key Switch Only (No U Key) 172.00$    

04900126 SPECIAL ORDER    Main control unit Premier 3 gr 1,025.40$ 

04900154 Boiler Temp Sensor Probe 79.70$      

04900184 'T' key 18.00$      

04900185 'U' key for Programming 18.00$      

04900195 Electronic Unit 230V  MFC2SN (For Machine) 183.60$    

04900196 E. Box 115V/Oscar/MFC2SN (For Illy use 04900796) (For Machine) 240.00$    

04900502 Printed Circuit Board On-Off   115V (For Machine) 67.50$      

04900506 Printed circuit board timer 115V Grinta 108.00$    

04900510 Microswitch for Grinta (For Grinder) 22.50$      

04900560 SPECIAL ORDER  Group Temperature Probe Jazz (For Machine) 60.00$      

04900561 Boiler Temperature Probe 48.00$      

04900650 Electronic Card Microbar add chip #04900650.ING 940.00$    

04900650.ING Eprom Microbar English 144.00$    

04900652 Voltage transformer 220V (For Machine) 150.00$    

04900653 Electronic Card Microbar ( NO ENCODER ) 2004 740.00$    

04900655 Blue liquid crystal display (For Machine) 264.40$    

04900660 Flowmeter NSF low pressure (For Machine) 49.20$      

04900666 Serial cable touchpad card Microbar 26.30$      

04900668 Electronic Touchpad Microbar Grey (For Machine) 68.30$      

04900669 Silver touchpad sticker Microbar 29.60$      

04900670 Black electronic touchpad Microbar (04900670.1) (For Machine) 66.70$      

04900671 Black touchpad sticker Microbar (For Machine) 29.60$      

04900680 Button Pad Membrane Microbar II (For Machine) 76.50$      

04900702 Digital touchpad buttons for Aurelia Plus & Vol Models (For Machine) 22.00$      

04900703 Push Button Aurelia (For Machine) 22.80$      

04900704 Aurelia Service Touchpad (No Autosteam) (For Machine) 137.90$    

04900704.S Aurelia Service Touchpad Silicone Overlay (No Autosteam) (For Machine) 63.00$      

04900705 Aurelia Service Touchpad (w/ Autosteam) (For Machine) 144.80$    

04900705.S Aurelia Service Touchpad Silicone Overlay (w/ Autosteam) (For Machine) 63.00$      

04900706 Aurelia Pouring Circuit Touchpad (Volumetric) (For Machine) 154.20$    

04900706.S. Aurelia Pouring Circuit Touchpad Silicone Overlay (Volumetric) (For Machine)63.00$      

04900707 Aurelia Pouring Circuit Touchpad (Semiautomatic)  (For Machine) 135.40$    



04900707.S Aurelia Pouring Circuit Touchpad Silicone Overlay (Semiautomatic) (For Machine)63.00$      

04900711 (Special Order)  Electronic Newspaper for Aurelia  (For Machine) 1,328.60$ 

04900712 Blue Card Display Aurelia (For Machine) 302.50$    

04900712.B Adonis Display (White) (For Machine) 330.00$    

04900714.T Main Electronic Unit Aurelia Plus 2/3/4/ Group w/Timer (For Machine) 1,180.00$ 

04900716 Main electronic 2/3/4gr V Aurelia w/autosteam (For Machine) 584.00$    

04900717 Main electronic 2gr S Aurelia (For Machine) 402.00$    

04900718 Main control unit Aurelia S 3/4 group (For Machine) 512.60$    

04900720 Probe for Steam Wand  Sonda PT1000 x Lancia Vapore Turbo Cream"" (For Machine)152.60$    

04900726.U Control Box Appia/Appia II V 2gr, Appia/Appia II V 3gr, & Appia/Appia II Compact 220v (Was 04900732, 04900733 & 04900740) (For Machine)450.00$    

04900730 Electronic Unit 220V Appia 1gr*** NOT AVAILABLE IN U.S. (For Machine)360.00$    

04900731 Electronic Unit 1gr Appia 110V (For Machine) 420.00$    

04900735 Front Circuit Board Appia 1gr (For Machine) 104.00$    

04900737 3 Button Circuit Board 2gr Appia (For Machine) 78.30$      

04900738 5 Button Circuit Board (For Machine) 108.00$    

04900741 Appia Compact Electronic Unit 110v (For Machine) 423.00$    

04900742 Appia Compact Touch Pad Circuit Board (For Machine) 94.60$      

04900744 Touchpad Circuit Appia / Appia II Compact (For Machine) 94.60$      

04900750 Electronic Touchpad Venus Century (For Machine) 123.00$    

04900750.S Silicone Buttons Only Venus Century 66.00$      

04900752 Brewing Card 5 Buttons Adonis 240.00$    

04900752.S 5 Button Adonis Silicone Overlay (For Machine) 60.00$      

04900753 Adonis 3-Button Circuit Board  (For Machine) 210.00$    

04900753.S Silicone 3 Buttons Adonis (For Machine) 54.00$      

04900762 Microbar Electronic Main Board WITH ENCODER 2008 (For Machine) 900.00$    

04900763 Control Unit Programmer Microbar-Prontobar-Talento (For Machine) 780.00$    

04900764 Microbar II Main Control Board 780.00$    

04900775.1 Temperature Probe   WAS 04900775 (For Machine) 65.00$      

04900778 Talento Touchpad Faceplate  (For Machine) 522.00$    

04900780 Straight Autosteam Probe for Adonis/Talento/Aurelia II/ Appia II (For Machine)250.00$    

04900781 Curved Autosteam Probe for Adonis/Aurelia II/Appia II (WILL Be 04900801) (For Machine)300.00$    

04900785 Gooseneck Temperature Probe for Appia II / Appia Life (For Machine) 384.00$    

04900786 5-Key Dispensing Circuit Board Musica (For Machine) 222.00$    

04900788 Central Unit Musica 220v (For Machine) 390.00$    

04900790 Musica Main Electronic 115v (For Machine) 330.00$    

04900796 Main Electronic Unit Oscar illy 325.00$    

04900801 New Style Curved Auto Steam Probe  (For Machine) 300.00$    

04900802 Electronic Control Unit WBC 2 Group 695.00$    

04900804 Electronic Unit WBC 3/4 Group (For Machine) 840.00$    

04900810 Temperature Probe 150 1/8 S/S Connection 3x8 (For Machine) 68.00$      

04900812 Electronic Control Unit Aurelia Digit 2 Group (For Machine) 835.00$    

04900814 Electronic Unit Digit Plus 3/4 Group (For Machine) 750.00$    

04900851 Main Board Talento 2011 (For Machine) 900.00$    

04900854 Talento Display Board 474.00$    

04900855 Display Board Talento 2011 (For Machine) 475.00$    

04900870 Upgrade Chip for Steam Boiler Talento (For Machine) 240.00$    

04900902 Touchpad Electronic Prontobar (For Machine) 390.00$    

04900908 Prontobar Display (For Machine) 252.00$    

04900910 Central Electronic Unit ProntoBar (For Machine) 1,050.00$ 

04900916 Control ProntoBar TFT (For Machine) 1,025.00$ 



04900950 Aurelia II Semi-Auto Group Touchpad (For Machine) 228.00$    

04900952 Aurelia II Volumetric Touchpad (For Machine) 243.00$    

04900952.MC 5 Push Button Pouring Module 280.00$    

04900954 Hot Water Touchpad Left Side (For Machine) 210.00$    

04900956 Aurelia II Left Autosteam/ Hot Water Touchpad (For Machine) 210.00$    

04900958 Aurelia II Blank Dosing Pad 75.00$      

04900964 Aurelia II Right Autosteam Touchpad (For Machine) 210.00$    

04900972 3-keys Graphic Display Touchpad Aurelia II TFT (For Machine) 312.00$    

04900980 Aurelia II Semiautomatic 2 Group Main Board (For Machine) 420.00$    

04900981 Aurelia II Semiautomatic 3/4 Group Main Board (For Machine) 480.00$    

04900982 Aurelia II Volumetric 2 Group Main Board (For Machine) 600.00$    

04900983 Aurelia II Volumetric 3/4 Group Main Board (For Machine) 615.00$    

04900986 Aurelia II T3 TFT Display 2-3-4gr Main Board (Semiautomatic)04900733 (For Machine)924.42$    

04900987 Aurelia II T3 TFT Display 2-3-4gr Main Board (Volumetric) (For Machine)1,128.90$ 

04900990 Aurelia II / Black Eagle T3 PID Control Board (For Machine) 159.00$    

04900991 Aurelia II / Aurelia Wave Temperature Probe (For Machine) 84.00$      

04900992 Aurelia II Digit / T3-V Mainboard 2/3/4 Group (For Machine) 840.00$    

04900993 Aurelia ll T3 Semi 2/3/4 Main Board w/Display (For Machine) 750.00$    

04900994 Control Board for Brew Boiler Heat Circuit (For Machine) 725.00$    

04900995 Aurelia II Touchpad Display Board (For Machine) 372.00$    

04900996 Service Circuit Aurelia II 2 Button Card 312.00$    

04901080 Oscar Mood Dispensing Board (For Machine) 475.00$    

04901084 Oscar Mood Main Board (For Machine) 224.00$    

04901090 2 Key Keyboard Oscar II (For Machine) 150.00$    

04901095 Main Board Oscar II 110v (For Machine) 240.00$    

04901100 Main Board Theresia (For Machine) 1,062.20$ 

04901102 LCD Display Theresia (For Machine) 378.00$    

04901150 Black Eagle Scale Control Board for Gravimetric (For Machine) 576.00$    

04901151 Black Eagle Gravimetric Main Control Board (For Machine) 920.00$    

04901152 Black Eagle Volumetric Main Control Board (For Machine) 1,200.00$ 

04901153 Black Eagle Remote Control Main Board (For Machine) 1,150.00$ 

04901154 Black Eagle Group Timer Display (For Machine) 432.00$    

04901156 Black Eagle TFT Display w/Rotary Switch 1,550.00$ 

04901158 Black Eagle Service Touchpad 216.00$    

04901160 Black Eagle Group Touchpad  (For Machine) 468.00$    

04901160.G Gasket for 3 Key Dispensing Keypad VA388 (For Machine) 10.00$      

04901162 VA358 Button for Easy Cream (For Machine) 138.00$    

04901164 Black / White  Eagle Key Card Hot Water (For Machine) 168.00$    

04901167 Black Eagle SEMI Gravimetric Remote Control Main Board (For Machine) 980.00$    

04901211 5 Key Pad Black VA358 (WAS 04901210) (For Machine) 290.00$    

04901214 Buttons VA358 54.00$      

04901216 Button for Display VA358 34.50$      

04901225 Main Board VA358 White Eagle 930.00$    

04901250 Button Pad Semi Aurelia Wave (For Machine) 204.00$    

04901252 5 Button Module Aurelia Wave (For Machine) 210.00$    

04901258 Left Service Module  Aurelia Wave (HW1-HW2-HW3) (For Machine) 210.00$    

04901260 Left Autosteam Touchpad Aurelia Wave (For Machine) 202.50$    

04901262 Right Service Module Aurelia Wave (Wash-Cupwarmer-Standby - 2 Closed) For Machine210.00$    

04901264 Right Autosteam Touchpad Aurelia Wave (For Machine) 202.50$    

04901270 Optional Board for Aurelia Wave (For Machine) 900.00$    



04901271 Aurelia Wave Vol. Main Board 2-3gr (For Machine) 950.00$    

04901272 Main Board Aurelia Wave Digit/T3 2-3gr (For Machine) 975.00$    

04901273 Aurelia Wave Semi Main Board (For Machine) 420.00$    

04901276 USB - Speaker Board Aurelia Wave (For Machine) 150.00$    

04901286 Autosteam Display Aurelia Wave (For Machine) 150.00$    

04901296 Wire Harness for Group Sensor Aurelia Wave (For Machine) 4.50$        

04901320 K Type Thermocouple for Water Temperature Control (For Machine) 210.00$    

04901340 Control Board T3 Eagle One (For Machine) 252.00$    

04901410 Appia Life Touchpad (For Machine) 160.00$    

04901412 Appia Life Service Touch Pad (For Machine) 136.50$    

04901414 Appia Life Brewing Board 1 Steam Button Easy Cream (For Machine) 98.50$      

04901416 Appia Life Water Button (For Machine) 96.00$      

04901418 Appia Life XT Display Board (For Machine) 408.00$    

04901430 Main Board Appia Life 220v (For Machine) 412.50$    

04901431 Appia Life Universal Board 110v (For Machine) 412.50$    

04901432 Appia Life XT Main Board Universal 100-240v (For Machine) 525.00$    

04901501 E1 Prima Dispensing Keyboard (For Machine) 516.00$    

04901512 Brewing Board 3 Buttons (For Machine) 552.00$    

04901514 Silicone Service Buttons Eagle  (For Machine) 48.00$      

04901516 Service Board 3 Buttons with Display (For Machine) 700.00$    

04901520 Electronic Board with Steam Lever Mat (For Machine) 90.00$      

04901521 E1 Prima Main Board 110v (For Machine) 1,045.00$ 

04901522 E1 Prima Central Board (For Machine) 2,450.00$ 

04901523 E1 Prima Blueotth Module (For Machine) 215.00$    

04901524 Main Board Eagle One (For Machine) 900.00$    

04901530 Temp Probe Eagle One (For Machine) 432.00$    

04901531 E1 Prima Probe for Steam Wand (For Machine) 432.00$    

05000001 Steam wand Rubber Grip, SS wands (For Machine) 4.00$        

05000002 Steam wand Rubber Grip, Chrome wands (For Machine) 4.00$        

05000005 Rubber Grip Aurelia Wave (For Machine) 6.00$        

05000009 Insulating bushing for water fill probe 6.30$        

05000011 Y Plastic Fitting (For Machine) 3.50$        

05000012 Pipe-holder fitting (For Machine) 4.50$        

05000013 Connector for tube (For Machine) 4.40$        

05000015 L Plastic Fitting 1/8 Master" (For Machine) 10.50$      

05000017 Collector Drain Cup 1gr SEE 05000403 FOR MAXI (For Machine) 12.75$      

05000018 Drain Box Aurelia / Aurelia II / Appia II (For Machine) 12.20$      

05000019 Discharge collector box (For Machine) 14.50$      

05000022 Steam valve lever Program 97 18.20$      

05000029 Plastic Thumb Screw Prontobar (For Machine) 3.60$        

05000031 Milk Foamer Adjusting Ring (For Machine) 3.90$        

05000032 Plastic Screw (For Machine) 4.50$        

05000037 White Panel Nut (For Machine) 1.80$        

05000047 Cover for heating element (For Machine) 12.00$      

05000051 DG 11 Membrane Cable Duct 3.00$        

05000063 Safety valve cover (For Machine) 7.00$        

05000064 Knob (For Machine) 5.10$        

05000065 Face plate guage, siteglass 6.90$        

05000074 Sight glass cover (For Machine) 10.00$      

05000079 Protection for level glass (For Machine) 2.70$        



05000083 Cable Block SR 11-2 2.50$        

05000110 Decaf convoy 10.50$      

05000122 Plastic cover for Premier 3 gr 50.50$      

05000130 Base for MDX (For Grinder) 36.00$      

05000162.0 Special Order     Oscar Upper Body - Gloss Black 120.00$    

05000162.4 Oscar Upper Body - Red 210.00$    

05000162.8 Oscar Upper Body - Matte Metallic Black (For Machine) 138.00$    

05000164.0 Oscar Water Container Cover - Gloss Black 18.00$      

05000164.3 Special Order   Oscar Water Container Cover - Aluminum (For Machine) 18.00$      

05000164.4 Oscar Water Container Cover - Red (For Machine) 18.00$      

05000164.8 Oscar Water Container Cover - Matte Metallic Black (For Machine) 18.00$      

05000166.8 Oscar Lower Body - Matte Metallic Black (For Machine) 156.00$    

05000168.4 Oscar Front Panel - Red (For Machine) 156.00$    

05000168.8 Oscar Front Panel - Matte Metallic Black (For Machine) 120.00$    

05000170.3 Oscar Drip Tray - Aluminum 52.00$      

05000170.8 Oscar Drip Tray - Matte Metallic Black 50.00$      

05000172 Oscar Drain Tray Grill (For Machine) 16.74$      

05000174 Steam handle Oscar (For Machine) 12.10$      

05000176 Button-Oscar/Premier (For Machine) 1.40$        

05000182 Water Probe Plug- Oscar 10.75$      

05000184 Water Probe Pin- Oscar 1.50$        

05000185 Foot Oscar 1.60$        

05000186 Nylon Washer 3.90$        

05000190 Nylon washer for Oscar body (For Machine) 0.40$        

05000198 Right Group Panel Mac 2000 8.10$        

05000232 Aurelia Wave Power Switch Cover (For Machine) 9.30$        

05000260.GO Musica Reservoir Cover Frame  WAS 05000260.G 14.00$      

05000264.C Chromed Group Cover - Musica (For Machine) 126.00$    

05000266 Musica Steam Knob (For Machine) 12.00$      

05000270 Musica Board Support (For Machine) 24.00$      

05000350 Theresia Drain Pan (For Machine) 210.00$    

05000390 Theresia Foot (For Machine) 20.00$      

05000403 Drain Cup Premier 2001 13.80$      

05000408 Black Eagle / Mythos 2 USB Cover 6.00$        

05000410 Black Eagle Display Knob (For Machine 6.00$        

05000412 TFT Display Support Black Eagle 21.00$      

05000414 Display Back Group Cover VA388 15.00$      

05000418 One Button Cover VA388 (For Machine) 13.50$      

05000419 Black Eagle Discharge Plug (For Machine) 12.50$      

05000420 Black Eagle Discharge Collector Box Top (For Machine) 19.80$      

05000422 Black Eagle Drain Cup (For Machine) 36.00$      

05000424 Black Eagle Steam Lever (For Machine) 15.00$      

05000426 Vertebra Ring Feeder VA388 (For Machine) 20.80$      

05000438 New Non-Marking Foot Black/ white Eagle (For Machine) 33.00$      

05000440 Black Eagle Rear Panel Emblem (For Machine) 180.00$    

05000452.O Large Brass Label "Starbucks Reserve Roastery" (For Grinder) 171.00$    

05000454 Black Eagle Ride Side Panel Insert (For Machine) 96.00$      

05000456 Black Eagle Left Side Panel Insert (For Machine) 96.00$      

05000460.C Casing for Display VA 358 Chrome 75.60$      

05000462 Plastic Cover for Display VA358 (For Machine) 6.00$        



05000464.C Vapor Button VA358 Chrome 13.80$      

05000470.C VA358 Steam Valve Top Cover (For Machine) 45.30$      

05000472.C VA358 Steam Valve Bottom Cover 44.00$      

05000474.C VA358 Smart Wand Cover (For Machine) 72.00$      

05000480 Catch Cup (Drain Tray) VA358 (For Machine) 16.50$      

05000506 Plastic spill tray for Grinta (For Grinder) 9.90$        

05000508.0 Locking Ring for Grinder Adj. Black (For Grinder) 15.90$      

05000508.3 Locking Ring for Grinder Adjustment - Aluminum (For Grinder) 15.90$      

05000510 Grinta Hopper (For Grinder) 34.00$      

05000512 Grinta Hopper Lid (For Grinder) 14.40$      

05000514 Outlet Coffee Nozzle (For Grinder) 10.50$      

05000516 Switch plate for Grinta (For Grinder) 3.00$        

05000518 Locking Pin for Grinding Adjustment (For Machine) 4.00$        

05000520 Hopper Safety Lock (For Grinder) 3.00$        

05000530 Feet for Grinta & Jazz (For Machine) 3.00$        

05000658 Eagle One Drip Tray Support (For Machine) 8.50$        

05000660 Wand Protection Rubber D.10 (For Machine) 6.00$        

05000672 Drain Manifold Upper Exhaust Cover (For Machine) 11.80$      

05000701.R Red Microbar Front Door   (Order as 98010000000230) 126.00$    

05000704 Coffee bean container Microbar (For Machine) 13.50$      

05000705.F Coffee bean container lid Smoke Grey (For Machine) 6.50$        

05000706.F Hopper Extension for Microbar (For Machine) 30.00$      

05000711.GC 2008 Microbar Water Drain Box Gloss Gray  (98010000000210) 102.00$    

05000715 Left waste box black 25.40$      

05000715.NV Microbar II Left Waste Box - Painted Black (For Machine) 76.50$      

05000717 Microbar Grill Float 3.00$        

05000725 Right side coffee chute 3.60$        

05000726 Right coffee chute stopper (For Machine) 3.20$        

05000727 Microbar Supply Spout Support Assembly (replaces 05000728 & 05000729) (For Machine)21.00$      

05000737 Lever sleeve lower mechanism (For Machine) 2.60$        

05000738 Expulsion tablet shovel 3.00$        

05000740 Delivery Tube Microbar 2.20$        

05000742 Upper piston (For Machine) 3.30$        

05000743 Lower piston nylon group 05000743.L)  (For Machine) 10.00$      

05000744.1 Microbar Plastic Worm Gear, Revised (Must have (1) - 03001634 and (4) - 00000166) (For Machine)32.90$      

05000751 Black Groumet 0.80$        

05000752 Pipe holder fitting 9.60$        

05000753 Rubber grommet for rack front 1.50$        

05000754 Rubber grommet for rack rear 1.50$        

05000757.GC 2008 Microbar Top Cover Gloss Gray  (98010000000224) 90.90$      

05000758 Steam Tank Cover Black Microbar 7.00$        

05000758.GO Musica Reservoir Cover (For Machine) 33.00$      

05000758.N Oscar II/ Prontobar BLACK Reservoir Cover 43.80$      

05000759 Water container 5 ltr Microbar / Oscar II Probe 10.00$      

05000761 E1 Prima Hose Connection 13.50$      

05000762 Fitting 1/8 to Hose" (For Machine) 6.90$        

05000763 Black Eagle Elbow for Drain Hose with Washer (For Machine) 13.50$      

05000765 Decafe chute body Microbar 2.40$        

05000766 Decafe chute Microbar 2.40$        

05000767 Lever for decafe chute Microbar 1.80$        



05000768 Mythos II PVC Cable Duct (For Machine) 4.00$        

05000806.GC Right Front Side Panel Blue/Grey 197.20$    

05000806.R Aurelia Red Front Right Side Panel 255.72$    

05000807.G Upper Front Left Panel Aurelia 197.20$    

05000807.GC Left Front Side Panel Blue/Grey 197.20$    

05000807.R Aurelia Red Front Left Side Panel 255.72$    

05000809.G Aurelia Right Side Panel Grey 233.40$    

05000809.GC Right Side Panel Blue/Gray Aurelia 375.00$    

05000810.GC Left Side Panel Blue/Gray Aurelia 375.00$    

05000811.GM 2008 Aurelia Front Group Cover, Raised Group, Medium Gray (For Machine) *SPECIAL ORDER*32.90$      

05000812.GM Group Trim Aurelia Medium Grey (For Machine) *SPECIAL ORDER* 31.80$      

05000813.GM 2008 Aurelia Front Group Cover Medium Gray (For Machine) *SPECIAL ORDER*32.40$      

05000813.NO Aurelia Front Group Panel Matte Black Lowered 35.00$      

05000814.GM Group Cover Aurelia Medium Grey (For Machine) 32.40$      

05000814.NL SPECIAL ORDER   Group Cover for Lowered Aurelia w/ Lights For Machine32.40$      

05000814.NO Group Cover for Lowered Aurelia Black (For Machine) 32.40$      

05000815 Steam lever handle (For Machine) 18.50$      

05000817.GM Aurelia Gauge/Sightglass Trim Cover 2008 Medium Grey (For Machine) 32.90$      

05000817.NO Aurelia Gauge/Sightglass Trim Cover BLACK (WAS 05000817.WBC (For Machine)38.00$      

05000818.GM 2008 Aurelia Raised Semi Group Cover Medium Gray (For Machine) *SPECIAL ORDER*21.60$      

05000818.NO Group Cover semi Raised BLACK 30.00$      

05000819.G Group cover Aurelia Corigruppo Frontale Gr Basso 1 Foro Grigio Steele 28.70$      

05000819.GM 2008 Aurelia Semi Group Cover Medium Gray (For Machine) 32.40$      

05000819.NO SPECIAL ORDER   Semi Group Cover Lowered BLACK (For Machine) 30.00$      

05000820.GM Left Service Group Cover Medium Grey (For Machine) 32.40$      

05000820.NO Group Cover Aurelia BLACK 32.40$      

05000830.NC Left Service/Display Support Black (For Machine) 22.80$      

05000832.NC Aurelia Right Service Support, 2008 Black (w/o Display) (For Machine) 22.80$      

05000832.NO Aurelia Right Service Support, 2010 Smooth Black (w/ Newsreader Display)23.50$      

05000834.C Aurelia Central Support (w/o Display) 10.10$      

05000834.NC 2010 Aurelia Middle Service/Display Panel Smooth Black (For Machine) 13.50$      

05000840 Portafilter handle 2003 (For Machine) 5.20$        

05000842 Portafilter handle cap 2003 (For Machine) 2.70$        

05000842.GIALLO Portafilter Handle Cap YELLOW 5.50$        

05000842.N Plastic End Cap for Leather Portafilter 21.00$      

05000842.ROSSO Portafilter Handle Cap RED (For Machine) 4.30$        

05000842.VERDE Portafilter Handle Cap GREEN 4.30$        

05000843.C Chromed Handle Cap (For Machine) 15.60$      

05000844 Portafilter Handle Rubber Grip 2003 (For Machine) 4.60$        

05000852 Aurelia Plus 2gr with Newspaper Sticker (For Machine) 25.90$      

05000853 Aurelia Plus 3gr with Newspaper Sticker 51.10$      

05000856 Aurelia Plus 2gr Sticker (For Machine) 70.80$      

05000857 Aurelia Plus 3gr Sticker (For Machine) 72.00$      

05000862 Aurelia S/V 2gr Sticker (For Machine) 32.50$      

05000863 Aurelia S/V 3gr Sticker (For Machine) 32.30$      

05000866 Aurelia S/V 2gr with Newspaper Sticker (For Machine) 26.10$      

05000867 Aurelia S/V 3gr with Newspaper Sticker 58.10$      

05000870 Machine Back NS Logo Sticker 48.00$      

05000878 Plastic Leg Extension Lock (For Machine) 5.30$        

05000880 Plastic Leg Extension Surround (For Machine) 9.60$        



05000881.C Foot Extension Chrome Plated 18.00$      

05000892 Safety Tray ABS 2gr Aurelia/Appia (For Machine) 45.00$      

05000893 Safety Tray ABS 3gr Aurelia (For Machine) 75.00$      

05000895 Safety Tray ABS Appia Compact (For Machine) 60.00$      

05000901 Base Appia & Appia II 1gr (For Machine) 224.80$    

05000902 Base for Appia 2gr (For Machine) 248.90$    

05000904.NR Appia Right Side Panel w/ Decal (was 05000904.N) (For Machine) 145.00$    

05000905.NR Appia Left Side Panel w/Decal (was 05000904.N) (For Machine) 145.00$    

05000908 Brewing Card Lock 1 Group (For Machine) 15.00$      

05000909 Main Power Switch Cover Appia II Compact 14.00$      

05000915 Appia 1gr Volumetric Face Plate Sticker (For Machine) *SPECIAL ORDER*51.70$      

05000917 Appia 1gr Semi Face Plate Sticker (For Machine) 67.50$      

05000923 Front Sticker Appia V 3 Group 256.50$    

05000952 Base 2 Group Appia Compact (For Machine) 300.00$    

05000962.G Appia Compact Face Plate / Group Cover (lowered group without autosteam) (NEEDS STICKER 05000972 for Volumetric and 05000974 for Semi)129.60$    

05000970 Front Panel Inserts for Appia (For Machine) 7.00$        

05000972 Appia Compact Face Plate Sticker (No Autosteam) (For Machine) 85.00$      

05000973 Appia Compact Face Plate Sticker (with Autosteam) (For Machine) 86.00$      

05000974 Appia Compact Semi Face Plate Sticker (For Machine) 92.50$      

05000991 Adhesive Sticker Aurelia WBC 2 Group (For Machine) 78.00$      

05000993 Adhesive Sticker Aurelia WBC 3 Group (For Machine) 92.00$      

05000998 Protection for Single Button Aurelia Competition 27.00$      

05001000 Portafilter Handle Venus Century 58.00$      

05001001 Tap Handle Venus Century***** (For Machine) 264.00$    

05001050 Adhesive Decal Aurelia Digit Plus 2 Group (For Machine) 72.00$      

05001051 Adhesive Decal Aurelia Digit Plus 3 Group (For Machine) 96.00$      

05001202.B Aurelia II Right Pearl Lower Side Panel (For Machine) 312.00$    

05001202.N Aurelia II Right Black Lower Side Panel 312.00$    

05001202.R Aurelia II Right Red Lower Side Panel (For Machine) 312.00$    

05001204.B Aurelia II Left Pearl Lower Side Panel (For Machine) 312.00$    

05001204.N Aurelia II Left Black Lower Side Panel 312.00$    

05001204.R Aurelia II Left Red Lower Side Panel (For Machine) 312.00$    

05001210.C Aurelia II Right Top Chrome Panel 156.00$    

05001212.C Aurelia II Left Side Top Chrome Panel 175.00$    

05001218.BP PEARL Aurelia II Side Panel Light Housing, Right (For Machine) 27.00$      

05001218.NO Aurelia II Side Panel Light Housing, Right Black (For Machine) 33.00$      

05001218.R RED Aurelia II Side Panel Light Housing, Right 27.00$      

05001219.BP PEARL Aurelia II Side Panel Light Housing, Left (For Machine) 27.00$      

05001219.NO Aurelia II Side Panel Light Housing, Left Black (For Machine) 33.00$      

05001219.R RED Aurelia II Side Panel Light Housing, Left 27.00$      

05001220.C Aurelia II Site Glass Frame (For Machine) 21.00$      

05001222 Aurelia  II / Appia II Site Glass Plastic Lens 10.50$      

05001224.C Aurelia II Gauge Frame 24.00$      

05001226 Black Panel Trim for Handle 5.40$        

05001228.C Aurelia II Autosteam Cover Plate (For Machine) 24.00$      

05001236.C Aurelia II Group Cover (Lowered Group) (For Machine) 135.00$    

05001238.C Aurelia II Group Cover Center Trim 24.00$      

05001240.C Aurelia II Group Cover (Raised Group) (For Machine) 85.00$      

05001242.C Chrome Cover Aurelia II (For Machine) 63.90$      

05001245 Aurelia II Digit 2-Line Face Plate 22.80$      



05001246.NO Aurelia II Digit TFT Face Plate (For Machine) 28.50$      

05001248.NO Back Panel for Display Aurelia II TFT (For Machine) 28.50$      

05001250 Display Plastic Cover Aurelia II TFT (For Machine) 15.00$      

05001251 Rubber USB Cover Aurelias II TFT (For Machine) 12.60$      

05001252 Aurelia II TFT Rotary Switch Knob (05001252.C) (For Machine) 10.20$      

05001255 On/Off"  Key Plastic Cover Aurelia II TFT" 9.96$        

05001256 Touchpad" Key Plastic Cover Aurelia II TFT" 9.96$        

05001257 Aurelia II TFT Cleaning" Key Plastic Cover" 9.96$        

05001260 Aurelia II Decal (For Machine) 24.00$      

05001272 Double Shot Button Icon (For Machine) 9.90$        

05001276 Hot Water Service Tab Aurelia II 13.50$      

05001278 Glass for Services Touchpad Aurelia II Steam (For Machine) 12.00$      

05001302.BV Right Lower Panel PEARL Aurelia Wave (For Machine) 195.00$    

05001302.NV Right Lower Panel BLACK Aurelia Wave (For Machine) 195.00$    

05001302.RV Right Lower Panel RED Aurelia Wave (For Machine) 195.00$    

05001304.BV Left Lower Panel PEARL Aurelia Wave (For Machine) 195.00$    

05001304.NV Left Lower Panel BLACK Aurelia Wave (For Machine) 195.00$    

05001304.RV Left Lower Panel RED Aurelia Wave (For Machine) 195.00$    

05001312.C Aurelia Wave Raised Group Cover (For Machine) 75.00$      

05001314.C Aurelia Wave Raised Service Group Cover (For Machine) 75.00$      

05001316.C Steam Knob Chrome Plated Trim for Aurelia Wave (For Machine) 19.50$      

05001318 Steam Lever Cover Aurelia Wave (For Machine) 21.00$      

05001320 Drain Box Aurelia Wave (For Machine) 18.00$      

05001322 Steam Handle for Aurelia Wave (For Machine) 29.50$      

05001328 Aurelia Wave Group Display Protection Cover (For Machine) 6.00$        

05001350 Mythos 2 / Aurelia Wave Foot (For Grinder) 16.50$      

05001503.C Chromed Low Group Cover Appia II (For Machine) 90.00$      

05001503.GV Gray Low Group Cover Appia II 75.00$      

05001505.C Chromed High Group Cover Appia II (For Machine) 92.00$      

05002002 Coffee Pouring Fastening Talento (For Machine) 24.00$      

05002004 Milk Foamer Support Talento (For Machine) 15.00$      

05002005 Milk Foamer Jet (For Machine) 10.00$      

05002006.N Pouring Spout Cover Black Talento (For Machine) 27.00$      

05002010 Spout Slide Talento (For Machine) 12.00$      

05002011 Support - Talento 7.20$        

05002016 Door Handle Talento (For Machine) 7.20$        

05002020 Tray Waste Fastening Talento 10.00$      

05002028 Talento Hopper Lid 32.00$      

05002030 Coffee Chute Talento (For Machine) 12.00$      

05002031 Talento Coffee Chute (For Machine) 15.00$      

05002046 Touch Pad Support Frame Talento 36.00$      

05002050 Swing Arm Talento (For Machine) 8.50$        

05002058 Key Legend Decals - Talento 40.50$      

05002072 Guide Right Coffee Chute Talento (For Machine) 13.80$      

05002074 Guide Left Coffee Chute Talento (For Machine) 13.80$      

05002106.N Top Cover Prontobar Black 120.00$    

05002110 Decaffeinated Conveyor - Prontobar 11.10$      

05002114 Bean Hopper Cover Prontobar 28.50$      

05002116.NV Prontobar Door (For Machine) 180.00$    

05002118 Key Legend Decal - Prontobar Bk (For Machine) 48.00$      



05002120 Prontobar Right Touchpad Cover (For Machine) 10.50$      

05002122 Prontobar Left Touchpad Cover (For Machine) 10.50$      

05002128 Prontobar Dispenser Spout 25.00$      

05002130 Dispenser Tubing Support Prontobar (For Machine) 6.00$        

05002132 Coffee Chute Angle Adjuster - Prontobar 3.60$        

05002134 Coffee Chute Support Prontobar 3.60$        

05002142 Right Coffee Chute Enclosure - Prontobar 3.60$        

05002144 Swing Arm Prontobar (For Machine) 10.00$      

05002156 Nuova Simonelli Label L=100 WAS 05000869.T (For Grinder) 22.50$      

05002160 Upper Group Piston Talento Was 07300662 (For Machine) 48.00$      

05002202 Back Upper Luminous Panel 2gr Adonis 225.00$    

05002210 Angular Water Tray Support (For Machine) 6.00$        

05002212 Aurelia II /  Adonis Display Cover  (For Machine) 6.75$        

05002214 Service Button Bracket Adonis (For Machine) 10.00$      

05002215 Tap Cover Spacer Adonis  (Used in Push Pull Kit) 18.00$      

05002216 Knob Base Adonis (For Machine) 20.00$      

05002218 Adonis Steam Knob Chrome 18.60$      

05002218.S Steam Knob Adonis Chome w/ Serigraph 32.70$      

05002224 SPECIAL ORDER  Adonis Spacer for Display 10x5.5xH12 (For Machine) 3.00$        

05002226 SPECIAL ORDER   Adonis Spacer for Display 6x4xH10 (For Machine) 3.00$        

05002228 Pouring Unit Drain Manifold (For Machine) 7.00$        

05002230 Drain Manifold Rubber Plug 1.80$        

05002236 Nut for Display (Was 07300695) (For Machine) 3.30$        

05002238 Adonis Lever (For Machine) 16.50$      

05002239 Cover Tap Support Front Opening Lever (Used in Push-Pull Kit) (For Machine)36.00$      

05002240 Cover Tap Support (Used in Push-Pull Kit) (For Machine) 36.00$      

05002400.C Oscar II Chrome Group Cover (For Machine) 58.00$      

05002404.N Oscar II BLACK Top Panel (For Machine) 30.00$      

05002406.N Oscar II BLACK Back Panel (For Machine) 55.50$      

05002406.R Oscar II RED Back Panel (For Machine) 55.50$      

05002408.N Oscar II BLACK Bottom Panel (For Machine) 45.00$      

05002408.R Oscar II RED Bottom Panel (For Machine) 45.00$      

05002410.R Oscar II RED Drip Tray (For Machine) 30.90$      

05002412.N Oscar II BLACK Bottom Cover (For Machine) 12.00$      

05002416 OSCAR II Steam Handle (For Machine) 11.50$      

05002490 Appia Life Control Unit Support (For Machine) 24.00$      

05002518.C Appia Life Low Group Cover (For Machine) 127.40$    

05002520.C Appia Life Raised Group Cover (For Machine) 66.20$      

05002522.NOV Appia Life 2GR Front Panel (For Machine) 210.00$    

05002540.C Appia Life Cover Plate Steam Wand (For Machine) 18.00$      

05002542.C Appia Life Cover Plate Easy Cream Button (For Machine) 22.00$      

05002544 Dispensing Button Cover - Appia Life Semi (For Machine) 28.50$      

05002554 Hot Water Button Cover - Appia Life Semi (For Machine) 16.40$      

05003002 MDJ / MDXS Lid (For Grinder) 45.00$      

05003004 MDJ/MDXS Collar (For Grinder) 36.00$      

05003006 MDJ Base (For Grinder) 34.50$      

05003008 MDXS Doser Lid (For Grinder) 15.00$      

05003014 MDJ Chute (For Grinder) 21.00$      

05003016 Flowmeter Gasket - MDJ 21.90$      

05080002 7 gram coffee dosage plastic spoon. 2.20$        



05080012 Cleaning brush (was 13200015) (For Machine) 12.00$      

05080035 Plastic Tamper 58MM (For Machine) 9.00$        

05080037 Foot (MCF/MCI) (For Grinder) 0.90$        

05080038 Foot (For Grinder) 1.10$        

05180005 Pump support Microbar 5.50$        

05180006 L Fitting (For Machine) 3.26$        

05340029 Nylon Grill Adonis (5.1 inches x 10 inches) 130x255 16.50$      

05340030 Nylon Grill (14.5 inches x 13.1 inches) 370x335 (Replacing 05340023 for Aurelia II) (For Machine)25.20$      

05340031 Nylon Grill (14.5 inches x 9 inches) 370x230 (Replacing 05340025 & 05340024) (For Machine)22.00$      

05340040 Appia II 3gr Faceplate Spacer (For Machine) 4.00$        

06000054 Double Portafilter Spout - Curved (For Machine) 61.20$      

06100066 Lower Chrome Plated Cover Adonis (For Machine) 276.50$    

06100067 Adonis Upper Chrome Plated Group Cover (For Machine) 150.00$    

06100069 Lower Chrome Plated Tap Cover Adonis (Used in Push Pull Kit) 168.00$    

06100070 Upper Chromed Plated Tap Cover Adonis (Used in Push Pull Kit) 168.00$    

06100080 Group Ring for Capsule Oscar illy 185.00$    

06100100 Black Eagle Group Cover (For Machine) 300.00$    

06100106 VA Black Eagle Steam Valve Top Cover (For Machine) 94.00$      

06100110 Hot Water Support (For Machine) 92.10$      

06100130 White Eagle Group Cover Chrome 408.00$    

06100131 Lowered Group Extra Cover VA358 132.00$    

06100138.C Right Bottom Side Panel VA358 CHROME (For Machine) 450.00$    

06100138.NOV Right Bottom Side Panel VA358 BLACK (For Machine) 360.00$    

06100140.C Left Bottom Side Panel VA358 CHROME (For Machine) 450.00$    

06100140.NOV Left Bottom Side Panel VA358 BLACK (For Machine) 360.00$    

06100168.C Extension Leg Chrome Aurelia Wave (each) 15.00$      

06100170.C Aurelia Wave Leg (For Machine) 66.00$      

06100176.C Right Lower Side Chrome Plated Cover Aurelia Wave (For Machine) 102.00$    

06100178.C Left Lower Side Chrome Plated Cover Aurelia Wave (For Machine) 102.00$    

06100204.C MDJ On Demand Top Plate Chrome (For Grinder) 180.00$    

06100204.NV MDXS / MDJ On Demand Top Plate Black (For Grinder) 85.50$      

06100206 MDXS Lower Burr Support (For Grinder) 90.00$      

06100302 Machine Foot Polished Eagle One (For Machine) 18.30$      

06100304 Steam Lever Eagle One (For Machine) 24.00$      

06100308 Eagle One Logo Shiny Aluminum  (For Machine) 144.00$    

06100310 Eagle One Rear Base End - Right 31.50$      

06100312 Eagle One Rear Base End - Left 31.50$      

06100314 Right Terminal Back (For Machine) 21.50$      

06100316 Left Terminal Back (For Machine) 21.50$      

06100320 Eagle Logo Steelux - Rear (For Machine) 102.00$    

06200008 2 way Spout Complete (For Machine) 28.30$      

06200012 Three way spout Complete (For Machine) 19.50$      

06200028 Boiler Flange D205 150.00$    

06200051 Upper boiler Jazz/Microbar (For Machine) 90.00$      

06200081 Chrome group ring seat (For Machine) 125.00$    

06200081.1 Chrome Group Ring for Inductive Sensor (For Machine) 150.00$    

06200081.2 Eagle One Chrome Group Ring for Inductive Sensor (For Machine) 195.00$    

06200084 5-way brass fitting Aurelia (For Machine) 46.10$      

06200100.N Nanotech Portafilter Head ONLY 168.00$    

06200120 Talento Brass Support for Solenoid (For Machine) 162.00$    



07300001 Connector L 1/8 M-M (For Machine) 5.10$        

07300004 1/8 1/8 gas fitting (For Machine) 3.80$        

07300005 1/8 Elbow Hose Barb" (For Machine) 4.50$        

07300006 Connector 1/4  1/8 Gas 3.60$        

07300009 Connector, 1/4 gas (For Machine) 4.10$        

07300011 Connector - (Attacco getto vapore) 0.90$        

07300013 Connector L 1/4 M-F (For Machine) 7.20$        

07300014 Fitting for gas gigluer 3.30$        

07300015 Pipe Fitting  3/8 3/8 GAS (For Machine) 10.00$      

07300017 Fitting 1/4, 3/8 Gas OT. (For Machine) 10.80$      

07300018 Spacer 1.20$        

07300022 Gigleur M6x8 2.46$        

07300022.1 Pouring Gigler M 6x6 (For Machine) 6.00$        

07300023 ASTINA OT.6x6x58 1.00$        

07300028 Straight 1 spout single 24.00$      

07300030 Steam Nozzle Tip, 4 Hole WAS  98006B02 (For Machine) 14.10$      

07300035 Shaft valve (For Machine) 12.40$      

07300051 T Fitting 1/4 M-M-M 6.60$        

07300053 Body Safety Valve (WILL No Longer Be Available) (For Machine) 22.20$      

07300054 Piston Retaining Valve 4.40$        

07300055 Spring Stopper Connector 6.00$        

07300062 Body Expansion Valve (For Machine) 16.50$      

07300063 Cork  (For Machine) 1.30$        

07300067 Connector 3/8 Gas (For Machine) 2.60$        

07300068 Elbow connector, 3/8 M-M (For Machine) 7.50$        

07300069 1/8 Male 1/4" Female Connection" (For Machine) 4.40$        

07300077 Extension 1/4F 1/4M 7.80$        

07300091 Connector T 1/4 CIL.MFM (For Machine) 8.90$        

07300092 Angle Spout Single (For Machine) 24.00$      

07300092.O Angle Spout Single, Gold 32.00$      

07300097 Cork (For Machine) 6.00$        

07300099 Vacuum Relief Valve Adapter (For Machine) 6.00$        

07300100.M Fitting 1/4-1/4 with inside threads for electrovalve (For Machine) 8.10$        

07300102 Brass Pin 0.26$        

07300105 Valve Shaft (For Machine) 4.00$        

07300107 Screw Stopper Valve (For Machine) 4.50$        

07300109 Reduction Fitting Water Level (For Machine) 3.60$        

07300110 Steam Valve Reduction Fitting (For Machine) 7.10$        

07300111 Elbow spring holder 3/8M 3/8F 13.10$      

07300112 Hot Water Block 9.30$        

07300113 Swivel Shaft (For Machine) 2.90$        

07300116 Fitting T 1/4 M-M-F (For Machine) 12.50$      

07300119 Steam Valve Body 18.60$      

07300121 2 way Elbow 90 degree (For Machine) 11.50$      

07300124 Dispersion Nut (For Machine) 4.50$        

07300125 Gigler M8X6 F.0.8 AG.25.05. (For Machine) 10.00$      

07300126 Gigler M8X6  1.5 mm (For Machine) 9.00$        

07300126.RUBY Gigler 1.524mm   with Ruby Insert 25.00$      

07300127 Gigler M8X6  2.5 mm (For Machine) 9.00$        

07300128 Tap, 1/4 Gas (For Machine) 5.40$        



07300129 Cap 1/8 Gas" (For Machine) 4.00$        

07300130 Plug 3/8 Gas ES" 8.00$        

07300138 Probe/Electrovalve Adapter 1/4-1/8" (For Machine) 6.00$        

07300146 T Fitting 3/8 M-F-M (For Machine) 10.20$      

07300147 Connector (For Machine) 13.50$      

07300159 Drain Connector 6.10$        

07300166 Flange 4.60$        

07300171 Delivery Tap (For Machine) 4.90$        

07300172 Pipe Fitting 3/8 x 3/8 (For Machine) 8.16$        

07300173 Jet support delivery group (For Machine) 4.50$        

07300174 Premier Delivery Group Gigleur (For Machine) 3.60$        

07300176 Drain Jet Brass Pin 4.00$        

07300178 Set Screw Panel 2.40$        

07300179 Screws, top tray rear 5.10$        

07300180 Top Tray Side Screws 4.50$        

07300183 Group Head Cap/Diffuser Plate 3mm (For Machine) 30.00$      

07300183.1 Group Head Cap/Diffuser Plate 1mm 30.00$      

07300183.4 Group Head Cap/Diffuser Plate 4mm 30.00$      

07300183.4 Group Head Cap/Diffuser Plate 4mm (For Machine) 30.00$      

07300183.5 Group Head Cap/Diffuser Plate 5mm (for Machine) 32.00$      

07300183.AL Group Head Cap/Diffuser Aluminum Plate 3mm (For Machine) 24.00$      

07300183.N Group Head Cap/Diffuser Plate 3mm, Nanotech Coated (Replaces 07300183.T) (For Machine)60.00$      

07300183.R Group Head Cap/Diffuser Plate Radial (For Machine) 75.00$      

07300184 Group Gigleur, Premier (For Machine) 1.20$        

07300199 Pod Diffuser Oscar/Premier/Mac2000 9.00$        

07300201 Teflon tube fitting 6/4 M6 (For Machine) 6.00$        

07300203 Tube 1/8 connection" (For Machine) 4.60$        

07300209 Fitting 3/8 M-M-F 10.60$      

07300211 Single outlet 3/8", Oscar (For Machine) 21.00$      

07300212 Small 2 way nozzle 8F36 15.20$      

07300213.10 Heat Exchange 1/2 Gas (07300213.10TEA)  (For Machine) 20.35$      

07300217 T Fitting 3/8 F-M-F 15.00$      

07300218 Fitting A L 1/8 MF 9.00$        

07300221 Steam Valve shaft pin SS (For Machine) 19.50$      

07300223 Infusion Chamber Cover Plug 24.00$      

07300224 Gigler M8x8 F.1 (For Machine) 9.00$        

07300225 Gigler M8X6  3 mm (For Machine) 9.00$        

07300226 Gigler M8x6  F.2 (For Machine) 12.00$      

07300227 Brass Washer D.26x13.5x1.5 (For Machine) 5.00$        

07300228 Snodo Rub Vap Chiuso M6 3.30$        

07300229 Gigler M8X6 F.O.5 (For Machine) 9.00$        

07300231 Gigler M8X8 F 1,75 9.00$        

07300231.RUBY Gigler 1.778mm with Ruby Insert 25.00$      

07300236 T Connection 3/8 M-F-F (Used for NEW Safety Valve Adaption) (For Machine)19.80$      

07300244 T3 Flowmeter Fitting (For Machine) 15.00$      

07300246 SS Musica Tip Adapter (For Machine) 12.60$      

07300247 3/8 Gas-3/8" GC WAS Nuovart-9007" (For Machine) 17.70$      

07300248 Pipe Connector Prontobar 13.50$      

07300249 Digital Pressurestat Fitting Union 1/8" (For Machine) 12.00$      

07300251 Brass fitting 1/8 M-M" (For Machine) 12.80$      



07300252 Steam Valve Elbow Fitting - Musica (For Machine) 24.00$      

07300254 Guage Spacer - Musica (For Machine) 4.80$        

07300255 Lock Pin Prontobar 10.50$      

07300259 Group Ejection Axe (For Machine) 18.00$      

07300265 Upper Piston Teflon O-ring Prontobar (For Machine) 6.20$        

07300291 Steam Wand Ball Joint 35.80$      

07300292 SS swivel pipe connector 18.90$      

07300293 Bushing swivel steam (brass) (For Machine) 2.90$        

07300295 Chrome nut steam pipe/lower swivel assy (For Machine) 7.90$        

07300296 3/8 SS Wand Nut" 21.00$      

07300298 Jet holder (For Machine) 21.00$      

07300321 Boccola Movim Infer 9.00$        

07300323 Slide Insert Register (Will NO LONGER be Available (For Machine) 4.40$        

07300326 Steel Washer D.16 1.50$        

07300341 Pin for electronic unit (For Machine) 4.20$        

07300342 Support pin for electronic unit (For Machine) 2.80$        

07300345 Lower Piston D.43 (For Machine) 18.00$      

07300346 Upper Piston D.43 18.00$      

07300354 Steam valve body (For Machine) 30.00$      

07300355 Steam Tap Fork (For Machine) 19.60$      

07300355.1 Handle Fork Aurelia Wave (For Machine) 26.10$      

07300357 Valve for Oscar (For Machine) 24.00$      

07300358 Steam Shaft/Oscar (For Machine) 10.00$      

07300358.1 SS VE stream valve pin - Venus Century 26.62$      

07300361 Fitting 6 1/4 Viton (For Machine) 14.60$      

07300362 Straight fitting 1/4 (For Machine) 8.40$        

07300363 Connection 44.40$      

07300364 Straight Fitting 1/8 (For Machine) 4.60$        

07300365 Fitting T 1/4 M-F-F (For Machine) 12.10$      

07300366 T fitting 1/4 F-M-F 13.60$      

07300369 Brass Pump Fitting for Direct Connect (For Machine) 13.50$      

07300370 Brass body retaining/expansion valve (For Machine) 4.50$        

07300375 L Fitting Connection Gir 6 1/8 (For Machine) 12.00$      

07300376 Connection F 6 1/8 Viton 7.70$        

07300378 Nut for Oscar (For Machine) 8.10$        

07300379 Pouring Gigler M 6x6 F 1.5 2.40$        

07300382 Connection F 1/4 10.50$      

07300391 Aurelia Wave Top Panel Screw Socket (For Machine) 9.00$        

07300392 Hot Water Tap Connection VA388  (For Machine) 42.00$      

07300396 External Pressure Handle Black Eagle (For Machine) 30.00$      

07300450 T Fitting 1/8 M-F-M" 14.40$      

07300451 T Fitting 1/8 M-F-F (For Machine) 10.90$      

07300452 T Fitting 1/8 M-M-F (For Machine) 10.50$      

07300459 Cross Fitting 1/4 M-M-M-F (For Machine) 37.50$      

07300466 Adapter for steam tip Mac/Prog 7.90$        

07300503 Upper Piston Shaft Microbar 9.10$        

07300505 Lower piston guide Microbar (For Machine) 9.10$        

07300510 Lower screwway plate Microbar 6.40$        

07300512 Upper spring support 3.00$        

07300513 Lower spring support 1.80$        



07300522 Grinding screw adj screw 7.40$        

07300525 Hose Straight Barb 1/8" (07300525.1) (Add 00000216 if needed) (For Machine)6.00$        

07300526 120 degree Elbow Fitting 1/8 (For Machine) 7.44$        

07300528 1/8 Male x 1/8" Male Elbow" (For Machine) 9.00$        

07300529 Thread Sleeve 1/8 (For Machine) 2.40$        

07300530 L fitting 1/8 F A 347 6 (For Machine) 5.58$        

07300531 Elbow Appia compact 10.80$      

07300534 E1 Prima Rapid Fitting L D6 (For Machine) 20.20$      

07300538 Quick Coupling 1/4 Straight" 12.50$      

07300539 Straight Rapid Fitting 1/8 Dir (For Machine) 13.80$      

07300541 T Rapid Fitting 1/8 19.30$      

07300542 L Rapid Fitting M6 (For Machine) 22.90$      

07300544 Extension MF 1/8" (For Machine) 3.70$        

07300546 L Rapid fitting 1/4 D4 29.10$      

07300547 L Quick Connect Fitting 22.90$      

07300548 Swivel fitting 6 1/4 14.40$      

07300552 Large Washer Tap Lever (Used in Push-Pull Kit) 6.00$        

07300553 Small Washer Tap Lever (Used in Push-Pull Kit) (For Machine) 6.00$        

07300601 Portafilter handle bolt 9.90$        

07300603 Upper level connection Aurelia (For Machine) 8.00$        

07300605 Housing support guide post - Aurelia (For Machine) 8.10$        

07300606 Support bracket for group for Aurelia (For Machine) 8.70$        

07300607 Cabinet Screws for Appia (For Machine) 3.20$        

07300609 Top panel thumb screw 5.10$        

07300612 Gas valve connection (For Machine) 6.10$        

07300613 Brew group Metal insert Aurelia (For Machine) 27.60$      

07300616 Panel Pin M4 Microbar 1.10$        

07300617 Tube connection D4 1.60$        

07300619 Metal Leg Extension Rod 15.00$      

07300620 Single Pin M 1/8" 2.90$        

07300621 Single Pin M-F 1/8 - 1/8 5.60$        

07300622 Single Ring 1/8 4.20$        

07300623.2 Copper Washer  10x14x 2 1/8 2.00$        

07300624 Spacer for Upper Piston D21 H8 12.00$      

07300627 Autosteam Fitting M-M 8.65x0.75 32.10$      

07300629 S/S EASYCREAM STEAM WAND L=142 (for machine) 21.78$      

07300645 LED Support Aurelia WBC 24.00$      

07300647 Metal Washer for Leather Handle (For Machine) 22.50$      

07300649 Portafilter Spout Lock Nut (For Machine) 30.60$      

07300652 Shaft for Shovel Talento (For Machine) 21.00$      

07300653 Brass Washer D.20x8.1xTh2 7.20$        

07300654 Drain Piston Shaft Talento 21.00$      

07300660 Group SS Rod Talento 36.00$      

07300665 Autosteam Probe Hole Cover 48.00$      

07300671 Easy Cream Nozzle Aurelia II / Black Eagle / White Eagle (For Machine) 63.00$      

07300678 Talento Lock Assembly Spacer 3.50$        

07300684 Gigler M8x8 F.3.2 (For Machine) 3.00$        

07300688 Leg Extention Bolt Prontobar 14.50$      

07300692 V.A. Steam Valve Reduction Fitting (for Adonis/Black/White Eagle) (For Machine)13.50$      

07300696 Steam Valve Body Adonis (For Machine) 18.00$      



07300698 Adonis Steam Valve Pin 16.00$      

07300713 Straight Fitting 1/8 M-D4 (For Machine) 6.24$        

07300714 Elbow Fitting 1/8 Type D6 (For Machine) 7.20$        

07300715 T 1/8 Connection Fitting" (For Machine) 13.80$      

07300716 Musica Fitting 13.80$      

07300718 T Fitting 1/8 8.50$        

07300719 1/8 M T Connection" 12.00$      

07300720 Elbow for Black Eagle Pump Fitting (For Machine) 10.00$      

07300721 L Fitting 1/8" 10.80$      

07300722 SS Steam Valve Piston (For Machine) 9.00$        

07300724 Straight Fitting M6 - D. 4 PIPE 6.00$        

07300730 Dispersion Plate Oscar illy 64.50$      

07300731 Deffuser illy Pod Kit Aurelia/Appia 74.50$      

07300732 Group Ring Support Oscar illy 120.00$    

07300734 Expulsion Plate Capsule Oscar illy 35.50$      

07300740 Adjustment Screw - Talento Grinder 24.00$      

07300777 S/S Extension 1/8M 1/8F (For Machine) 18.80$      

07300780 E1 Prima Drip Tray Cap (For Machine) 6.80$        

07300781 E1 Prima Drip Tray Cap Screw (For Machine) 4.90$        

07300784 Handle Pin Black Eagle (For Machine) 10.50$      

07300798 Aurelia II Chrome Nut (For Machine) 13.50$      

07300800 Steam Valve Body Aurelia II / Appia II (For Machine) 65.00$      

07300802 Aurelia II Hot Water Block (For Machine) 40.50$      

07300802.1 Hot Water Tap for Aurelia Wave (For Temp Control System) (For Machine) 75.00$      

07300810 Brass Pin for Steam Handle  New Style (WAS 07300104) 2.70$        

07300816 Lowered Group Support Screw Aurelia II (For Machine) 4.50$        

07300817 Raised Group Support Screw Aurelia II (For Machine) 6.00$        

07300818 Pump Register Knob (For Machine) 30.00$      

07300858 Brass Fill Solenoid Filling (For Machine) 6.20$        

07300859 G3/8 Male-Male Fitting w/ Orifice Diam. 3mm (From Machine) 12.00$      

07300860 Water Supply Fitting 1/8 (For Machine) 12.00$      

07300862 Stainless Bolt/Plug (For Machine) 6.00$        

07300863 VA388 T3 Boiler Plug (For Machine) 7.50$        

07300864 FITTING 1/4M 1/8M + THREADED M6 (For Machine) 20.00$      

07300872 E1 Prima Compass Joint Steam Water Wand (For Machine) 6.00$        

08000001 Spring Erogation Valve 2.00$        

08000003 Tube Spring Band (For Machine) 1.50$        

08000005 Spring 6ST V11,5X8,5X25 (For Machine) 4.50$        

08000006 Spring 1.60$        

08000009 Spring, Retaining Valve 1.80$        

08000013 Spring, Conical (For Machine) 2.90$        

08000015 C-Clip (For Machine) 1.40$        

08000017 Portafilter basket spring clip (For Machine) 3.60$        

08000024 Upper Piston Spring (For Machine) 2.70$        

08000025 Lower Piston Spring  16,15x1,2x80  12 4.00$        

08000026 Spring (Molla Tarata D 11 .4 F1.5  5.25S) (For Grinder) 4.80$        

08000031 Speed Clip 1.00$        

08000033 Hose Clip for Oscar (For Machine) 4.50$        

08000034 Tube spring band (For Machine) 1.20$        

08000043 Spring for swivel steam WAS 08000027 (For Machine) 4.60$        



08000044 Spring 15x2.5x61 3.00$        

08000047 Snap Ring 5.10$        

08000051 WILL BE DISCONTINUED  Bearing 626 2R 16.50$      

08000052 SPECIAL ORDER  Bearing 626 2RS (For Machine) 15.90$      

08000053 Bushing 12x16x12mm 6.00$        

08000057 BZ Buckle 10 x 10 4.30$        

08000064 Clip Nut M4 1.00$        

08000066 SS External Seeger A8 2.90$        

08000070 Spring D.4.5x18- Grinta (For Grinder) 3.00$        

08000071 Ball Bearing Component 19x10x6 (For Machine) 25.90$      

08000077 Shovel expulsion spring 2.20$        

08000078 Lower piston long spring (For Machine) 1.70$        

08000079 Lower piston short spring 1.30$        

08000081 Release spring slide left side 0.90$        

08000083 Pin Clip Talento (For Machine) 1.80$        

08000084 Retainer Clip (For Machine) 1.40$        

08000085 Talento / Prontobar Group Scoop Spring (For Machine) 4.50$        

08000087 Talento Lower Piston Long Spring (For Machine) 9.00$        

08000088 Cable Fastening Plate for Talento 3.60$        

08000090 Spring for Capsule Oscar illy 13.50$      

08000093 Aurelia II Group Retaining Clip (For Machine) 5.20$        

08000100 Internal leg spring 3.30$        

08000101 Clip for Handle Fork Aurelia Wave (For Machine) 4.50$        

08000107 Handle C-Clip Eagle One (For Machine) 1.40$        

08000112 E1 Prima Steam Wand Spring (For Machine) 9.60$        

09000002 Self-Level Probe Complete E1 Prima (For Machines) 37.50$      

09000003 Appia II Water Level Probe (For Machine) 34.50$      

09000004 Auto Water Fill Circuit - for Elli/AD (direct connect), Personal S 1 Gr and Mac S 1 Gr (110volt) (For Machine)200.00$    

09000005 Water Level Sensor, Complete (For Machine)* 19.10$      

09000005.1 Talento Water Probe (For Machine) 42.00$      

09000006 Oscar/ Oscar II/ Musica Complete Level Probe (For Machine) 38.40$      

09000007 Auto Refill Probe Complete (For Machine) 30.10$      

09000009 Glass water level - 112X12X1 (For Machine) 11.88$      

09000010 Glass Water Level 133x12x1.5 11.58$      

09000011 Base Electronic Unit Connector 30.50$      

09000013 Auto Fill Circuit 274.20$    

09000015 Auto Water Fill Circuit 220v (For Machine) 180.00$    

09000016 Water valve 3/8" (For Machine) 26.40$      

09000018 Water Valve 1/4 M-F" (For Machine) 22.90$      

09000022 Water Valve 3/8 Aurelia II" (For Machine) 30.00$      

09100002 Water Gauge Talento (For Machine) 72.00$      

09100003 Double Scale Gauge (For Machine)* 110.00$    

09100005 Single Scale Gauge 0-16 Bar 71.80$      

09100008 V.A. Venus Century Scale Guage (For Machine) 90.00$      

09100009 WBC Pressure Gauge (For Machine) 138.00$    

09100010 Musica Pressure Gauge (For Machine) 72.00$      

09100011 V.A. Black Eagle Single Gauge (For Machine) 168.00$    

09100012 E1 Prima Scale Guage (For Machine) 57.00$      

09200006 Pressurestat, 30Amp, certified (For Machine)* 126.00$    

09200014 Pressurestat (For Machine) 71.30$      



09200018 Pressure Transducer Without Lead (For Machine) 252.00$    

09200022 Pressure Transducer 0-4 Bar 3/8 Eagle One (For Machine) 120.00$    

09200024 Pressure Transducer 0-16 Bar 1/4 E1 Prima / Eagle One (For Machine) 120.00$    

09200026 Eagle One 2/3 gr Pressurestat (for machine) 264.00$    

094000100 Heating Element Thermal Protection 216Â°CE5 (For Machine) 52.50$      

09500001 Thermostat - 100 c (For Machine) 10.80$      

09500002 Thermostat 125 C  WAS 09500003 (For Machine) 19.50$      

09500004 Thermostat TY 60/R 135C (For Machine) 30.00$      

09500006 Thermostat 271 RA 16A 45C (For Machine) 14.70$      

09500007 Musica High Limit 100c (For Machine) 24.00$      

09500011 Auto reset thermostat 150 Faston 6.3 Vertical Water Valve 3/8 Aurelia II" (For Machine)8.10$        

09500014 High Limit Switch Appia Compact/Oscar/Musica 167c (For Machine) 33.70$      

09500015 High Limit Switch 184c Talento/Prontobar (For Machine) 33.70$      

09500016 NEW High Limit Switch 184c High Amp (For Machine) 55.50$      

09500024 Thermostat TY 60/R 135C - Trip Free (For Machine) 30.00$      

09500026 E1 Prima Thermostat 135C 110v Trip Free (For Machine) 10.50$      

09600007 Gas Regulator 120.00$    

1 Group Pod Kit (Not Installed)1 Group Pod Kit (Not Installed) 60.00$      

100000102 Tray Grill 2gr Vol - Maverick (For Machine) 668.00$    

100000103 Tray Grill 3gr Vol - Maverick (For Machine) 735.00$    

100000107 Tray Grill 2gr Grav - Maverick (For Machine) 696.00$    

100000108 Tray Grill 3gr Grav - Maverick (For Machine) 785.00$    

100000112 Leg - Maverick (For Machine) 1,280.00$ 

100000126 Scale Tray - Maverick (For Machine) 266.20$    

1011.0002 Zenith Switch 44.70$      

1011.0013 Switch Button Blue Light G60 25.50$      

1013.0030 Capacitor 110v G60 70.50$      

11000005 SPECIAL ORDER  Right Tube Frame Adonis (For Machine) 492.00$    

11000006 SPECIAL ORDER Left Tube Frame Adonis (For Machine) 492.00$    

11000013 SPECIAL ORDER Frontal Tube D10 3gr Adonis (For Machine) 252.00$    

110100100 Coffee Boiler Injector Tube 1/4 - Maverick (For Machine) 33.40$      

11600001.B Tubing per foot blue 2.16$        

11600001.R Tubing per foot red (For Machine) 2.16$        

11600001.W Tubing per foot White (For Machine) 4.50$        

11600003 Silicone Tubing 8x12 75SH Perox Transparent (Per Foot) 3.30$        

11600004 Silicone Tube 5x9 (For Machine) 5.00$        

11740002 Teflon Tubing - Clear 1/8- PER FOOT" (For Machine) 12.00$      

11740002.2 Pre Treaded Teflon Tubing - Clear 1/8 for Smartwand (For Machine) 6.00$        

11740003 Teflon Tubing for Cool Touch Steam Wands Per Foot (For Machine) 16.00$      

12100004 NS Branded Silicone grease (100gm) (For Machine) 90.00$      

12-E03-NS100 Nuova Simonelli Espresso Cleaning Tablets 0.5g (100 per Bottle) 24.00$      

12-MKNSM-1L Nuova Simonelli Milk Frother Cleaner 1 liter Bottle 30.00$      

13000004 Nastro teflon in rotolo for code 14100038 gasket 2.70$        

14100001 Heating element 220V 1000W- Microbar 54.20$      

14100011 Heating Element 220V 3000W Pr 2gr (98240014100011)  (For Machine)* 150.00$    

14100027 Heating Element, 2700 W, 220 2 grp. (For Machine) 120.00$    

14100029 Master boiler heating element (WILL BE 14100054) (For Machine) 80.30$      

14100031 Heating Element 4500W 220/380 L3. For Aurelia 2gr, Premier 3 gr (98240014100031)  (For Machine)215.00$    

14100032 Heating Element 6000W 220/380 (previously 14100012) (98240014100032) (For Machine)*103.20$    

14100035 Heating Element-Master 14W (For Machine) 56.75$      



14100040 Heating Element Oscar 230V  1200W (For Machine) 60.90$      

14100041 Heating element for Oscar / Musica 115v (For Machine) 84.00$      

14100043 Cup Warmer Element Aurelia II 60.00$      

14100045 Appia II 2gr Cup Warmer Element (For Machine) 165.00$    

14100053 Heating Element for Appia Compact 115v 1500w (For Machine) 145.80$    

14100054 Heating element, Master/Caffetteria, D. 1 W.2300 L=200mm. 220V   PREV  14100038163.20$    

14100055 Group Element Talento 100w / 230v (For Machine) 126.00$    

14100056 Heating Element 1600w 220v (For Machine) 162.00$    

14100057 E1 Prima Group Element 110v (For Machine) 145.00$    

14100063 Element D10x55 18W 230V 76.40$      

14100064 Element D10x55 18W 115V (For Machine) 72.20$      

14100065 Heating Element 110V 700 W (For Machine) 51.40$      

14100066 Group Heating Element (For Machine) 126.00$    

14100069 Heating Cartridge 10w 24v (For Machine) 205.20$    

14100084 Appia 1 Group 220v 1800w  Heating Element (98240014100084)  (For Machine)126.00$    

14100086 Heating Element 1500w 115v WAS 14100049 (98240014100086) (For Machine)215.00$    

14100088 Heating Element 1 1/4 230v  2600W" (For Machine) 192.00$    

14100091 Appia II Heating Element 1500w 115v (98240014100091)  (For Machine) 210.00$    

14100096 E1 Prima Boiler Heating Element 110v (For Machine) 120.00$    

14100098 Resistance 4/4 600w 230v (For Machine) 90.00$      

14100100 3000 Watt Heating Element Eagle One (For Machine) 270.00$    

14100102 3600 Watt Heating Element Eagle One (For Machine) 240.00$    

14100103 E1 Prima Boiler Element 110v 1200w *CANADIAN VERSION* (For Machine)145.00$    

14100105 E1 Prima Boiler Element 110v 1600w (For Machine) 145.00$    

141001100 2gr Steam Boiler Heating Element 4000W 230V (For Machine) 285.00$    

141001102 3gr Steam Boiler Heating Element 4500W 230V (For Machine) 305.00$    

15000009 MDX/MDE stainless steel  fork  - ABS is  #15000057 (For Grinder) 66.50$      

15000022 Dosing Cylinder (For Grinder)* 85.00$      

15000023 Dosing Plate (For Grinder) 13.80$      

15000024 Upper Star 42.70$      

15000025 Lower nylon dosing star 76.30$      

15000026 Agitator Dosing Group 24.80$      

15000027 Dosing Cams (For Grinder) 27.00$      

15000028 Lever (Leva dosatore nylon  22010) (For Machine) 51.60$      

15000029 Doser adjusting star 24.90$      

15000031 Doser Counter 56.20$      

15000032 Complete Doser (For Grinder) 423.20$    

15000033 Spring Lever (For Grinder) 6.30$        

15000034 Spring Shaft-MDE (For Grinder) 23.00$      

15000040 Bean hopper gate MDX, MDL 5.80$        

15000041 Microswitch (For Grinder) 34.30$      

15000042 Register Knob (For Machine) 42.40$      

15000043 Blade Support - Lower MDX (For Grinder) 115.00$    

15000044 Blade Support - Upper MDX (For Grinder) 65.40$      

15000047 MDL Foot 6.30$        

15000050 Coffee Bean Container Cover 26.30$      

15000055 Hopper Lid (For Grinder) 30.00$      

15000056 Bean hopper for models MDX, MDXA, MCD, MDN, G60 and MDNA (For Grinder)*80.00$      

15000057 ABS handle support  (stainless fork is 15000009) (For Grinder) 36.00$      

15000058 On/Off Switch-MDX, MDXA, Mythos (Same as 15000014, 15010045) (For Grinder)32.50$      



15000060 Dosing Spring MDE (For Grinder) 9.80$        

15000061 MDX doser body (For Grinder) 108.30$    

15000062 Dosing Spring, Star 3.90$        

15000064 Brass Nut (Auger) (For Grinder) 27.00$      

15000067 Frontal Coffee Press 32.00$      

15000071 Counter (For Grinder) 90.00$      

15000075.A Telescopic Spring loaded Tamper for MDX (Tamper & Screws only) 50.00$      

15000076 Coffee agitator for MDX "J" (For Grinder) 18.50$      

15000079 Fork for spring loaded tamper grinder 102.20$    

15000086 Illy bean canister adapter w/bean gate (For Grinder) 140.00$    

15000092 MDM Lower Doser Lock (Was 15000063) (For Grinder 32.00$      

15010002 SPECIAL ORDER   Bean Hopper MDS MDSC (For Grinder) 199.00$    

15010029 Regulator Ring Stopper MDS 9.10$        

15030000 Mythos Hopper w/ Lid (For Grinder) 199.00$    

15030001 Mythos Bean Hopper Plastic Lid (For Grinder) 61.80$      

15030002 Mythos Hopper Micro Switch WAS 4110.0007 (For Grinder) 70.00$      

15030003 Handle for Mythos Grinder 60.00$      

15030004 Mythos Main Electronic 220v (For Grinder) 360.00$    

15030005 Electronic Box for Mythos 110V (For Grinder) 367.80$    

15030006 Mythos Foot   (Uses Screw 6060.0016 NOT Included) (For Grinder) 10.50$      

15030007 Mythos Bottom Tray (For Grinder) 70.00$      

15030007.1 V.A. Mythos Bottom Tray Grey (For Grinder 87.00$      

15030008 Mythos SS Fork 192.00$    

15030009 Microswitch for Mythos (For Grinder) 66.00$      

15030010 Mythos Display Spacer 1.20$        

15030011 Display for Mythos (For Grinder) 450.00$    

15030012 Mythos Front Display Decal (For Grinder) 120.00$    

15030012.1 V.A Mythos Front Display Decal (For Grinder) 255.00$    

15030013 Mythos Cable (For Grinder) 31.20$      

15030014 Chute Lighting Board (For Grinder) 100.00$    

15030015 Mythos Face Plate (For Grinder) 210.90$    

15030015.1 V.A. Mythos Face Plate Grey (For Grinder) 330.00$    

15030016 Mythos Complete 220v Motor (For Grinder) 1,100.00$ 

15030017 Mythos Complete Motor 110v (For Grinder) 895.00$    

15030018 Mythos C-Clip (For Grinder) 7.50$        

15030019 Mythos C-Clip (For Grinder) 7.50$        

15030020 Mythos Tamper Spring (For Grinder) 22.40$      

15030021 Mythos Spring (For Grinder) 15.00$      

15030022 Mythos Steel Ball  (0987734) 9.00$        

15030023 Mythos Register Screw (For Grinder) 33.50$      

15030025 Mythos SS Front Cover for Plus (Slotted for Tamper) 163.80$    

15030027 Mythos Capacitor 60 uF 110v (For Grinder) 117.30$    

15030028 Complete tamping unit Mythos (For Grinder) 1,565.50$ 

15030035 Teflon Flap for Mythos (From Grinder) 9.80$        

15030036 Mythos Button Faceplate Series 1 50.00$      

15030037 Mythos Fork for Manual Tamper 150.00$    

15030038 Complete Mythos Touchpad Face Plate w/Circuit Board (For Grinder) 800.00$    

15030039 Mythos Hopper Divider (Low) (For Grinder) 62.50$      

15030040 Mythos Hopper Divider (High) 62.50$      

15030041 Mythos Press Disc 53mm (For Machine) 115.00$    



15030042 Mythos Press Disc 58mm (For Grinder) 127.50$    

15030043 Mythos Press (For Grinder) 119.10$    

15030044 Mythos Tamper Forked Press Stainless (For Grinder) 150.00$    

15030045 Mythos M6 8x10 Screw  WAS 6060.0090 (For Grinder) 24.00$      

15030046 Mythos Lever Pin (For Grinder) 40.00$      

15030047 Mythos Tamper Shaft WAS 4100.0017 (For Grinder) 105.00$    

15030049.A USE 15030117   Longer Mythos SS Coffee Chute 65.00$      

15030050 Mythos Burr Block WAS 4100.0002 (For Grinder) 360.00$    

15030051 Mythos illy Hopper Adaptor (For Grinder) 410.00$    

15030052 Mythos Circuit Board Protection -$          

15030053 Brass Mythos Tamper Support WAS 4100.0014 212.00$    

15030055 Zinc Screw Mythos for Tamper Guard Plate WAS 6040.0018 7.50$        

15030056 Mythos Barista Adjustment Knob (For Grinder) 18.00$      

15030057 Mythos Titanium Burrs 75mm (Long Lasting)  (15030057.SC) (For Grinder)444.20$    

15030057.NSC Titanium 75mm Nanotec Burrs (For Grinder) 450.00$    

15030058 Mythos SS Screw M3x6 for Flange Plate (WAS 6060.0091) (XM2510006A20000)6.00$        

15030059 Dispersion Flange Plate 37.20$      

15030060 Mythos Cover Guide for Press (For Grinder) 141.00$    

15030061 Replacement Kit for Press (For Grinder) 200.00$    

15030062 Mythos Tamper Block without Tamper Cutout 198.00$    

15030063 SS Door for Mythos Barista 132.00$    

15030064 Mythos Register Handle (For Grinder) 84.00$      

15030066 Complete Mythos Low RPM Motor 110v (For Grinder) 1,250.00$ 

15030068 LRPM Capacitor Mythos / MDJ  50 mF 110v (For Grinder) 450.00$    

15030069 Mythos Barista Complete Knob (For Grinder) 184.00$    

15030073 Lock Washer (1133687) 7.80$        

15030074 Mythos Fork Bracket (For Grinder) 18.00$      

15030078 Mythos Portafilter Coupling (For Grinder) 120.00$    

15030079.1 Mythos Clump Crusher 0.25mm (For Grinder) 40.00$      

15030081 Mythos Screw for Grind Adjustment Knob Lock 15.90$      

15030083 Mythos Hopper Safety Dome 17.20$      

15030085 Mythos / MDXS Burr Screw M4x10 (For Grinder) 6.60$        

15030086 Bottom Grinder Assembly Screw M5x16   WAS 6060.0093   (QM2540016A20000)6.00$        

15030087 Mythos Vibration Damper / Motor Mount  WAS 4110.0010      (351-20-15-M6-ES-55)20.40$      

15030088 Mythos Low Profile Hopper w/Lid  WAS Nuovart01 (For Grinder) 235.00$    

15030089 Mythos One Face Plate 3-Button 210.90$    

15030089.1 V.A. Mythos One 3-Button Black Face Plate Sticker (For Grinder) 255.00$    

15030090 Display for Mythos One (3 Button) 450.00$    

15030093 Clima Pro Fan Thermostat (Klixon) (For Grinder) 150.00$    

15030094 Heating element Mythos 220v (For Grinder) 216.00$    

15030095 Mythos One Microswitch (For Grinder) 66.00$      

15030096 Mythos Clima Pro Low Temp Heater (For Grinder) 150.00$    

15030097 Clima Pro Burr Block Chrome (For Machine) 240.00$    

15030098 Mythos 2 / Clima Pro Knob (For Grinder) 245.00$    

15030101 Mythos Fork for LM version (For Grinder) 80.00$      

15030102 Mythos Motor Head (For Machine) 350.00$    

15030103 Mythos One Head Chrome (For Grinder) 348.60$    

15030104 Mythos Clima Pro Head Support (For Machine) 105.00$    

15030105 Board Protection Mythos One 4100.0063 (For Grinder) 98.40$      

15030107 Mythos Clima Pro Motor Complete (For Grinder) 1,830.00$ 



15030108 Screw & Washer M6x8  (6060.0116) 6.40$        

15030109 SS Cross Head Countersunk Screw (For Grinder) 7.50$        

15030110 Burr Screw M4x8 Mythos / Talento  (6060.0032) 7.25$        

15030111 Mythos Clima Pro Fan 110v Fan (For Grinder) 150.00$    

15030112 Victoria Arduino Sticker 75.00$      

15030117 Longer Mythos SS Coffee Chute WAS 15030049.A 64.40$      

15030118 Mythos Clump Crusher Flange Plate - Long  (WAS 15030080.A) (For Grinder)40.00$      

15030120 Mythos Fitting / Thermostat Support 9.00$        

15030121 Mythos Upper Frame Rubber Trim 21.00$      

15030122.SC BURRS COUPLE D.75 MYTHOS RED- (For Grinder) 499.61$    

15030127 Starbucks "Reserve" Logo 43.50$      

15030127.O Starbucks "Reserve" Logo Brass Color 33.00$      

15030127.R Starbucks "Reserve" Logo Copper (For Grinder) 78.00$      

15030132 Bracket for Mythos Motor (For Grinder) 18.00$      

15030133 Mythos Plus Adjustment Sticker for Knob (For Grinder) 15.30$      

15030135 Adapter for Switch for Mythos (For Grinder) 7.80$        

15030137 Nut Micro Activator for Mthos Switch  (For Machine) 9.00$        

15030149 VA Mythos Back Sticker (For Machine) 53.50$      

15030152 Mythos II V.A. Label (For Grinder) 10.80$      

15030155 Mythos II Clump Crusher (For Grinder) 40.00$      

15030157 Mythos 2 Fork (For Grinder) 40.50$      

15030158 Mythos 2 Filter Holder Support Bracket (For Grinder) 19.50$      

15030159 Mythos II LM Fork (For Grinder) 90.00$      

15030162 Mythos 2 Hopper Complete w/ Lid (For Grinder) 199.00$    

15030163 Mythos II Hopper Lid (For Grinder) 56.50$      

15030169 Weight Scale Filter Holder Support Mythos 2 (For Grinder) 45.00$      

15030170 Weight Scale Support Mythos 2 (For Grinder) 31.50$      

15030174 Right TX Grain Level Sensor Mythos 2 (For Grinder) 54.00$      

15030175 Left RX Grain Level Sensor Mythos 2 (For Grinder) 54.00$      

15030176 Sensors Cable Mythos 2 (For Grinder 42.00$      

15030177 Inverter Assembly IC 400 (110v - 220v) 8011.4217-Assembly (For Grinder)1,450.00$ 

15030178 Inverter Cable CAV40 (For Grinder) 19.50$      

15030181 Complete Inverter Assembly 110v (For Grinder) 1,750.00$ 

15030183 110v Power Supply Mythos 2  (For Grinder) 432.00$    

15030186.NO Mythos 2 Base Black (For Grinder) 566.00$    

15030187.NO Mythos 2 Back Cover Black (For Grinder) 590.00$    

15030188.NO Mythos 2 Front Cover (For Grinder) 270.00$    

15030189 SS Crosshead Cap Screw M4x8 (For Grinder) 6.00$        

15030194 Mythos 2 110v Powered Fan 4600.0410 (For Grinder) 135.00$    

15030197 Mythos 2 Display TFT (For Grinder) 900.00$    

15030198 3 Key Keyboard Mythos 2 (For Grinder) 49.50$      

15030199 20 Ways Flat Cable Mythos 2 CAV41 (For Grinder) 33.00$      

15030201 Mythos 2 Higher Grinder Holder (For Grinder) 210.00$    

15030202.SC Mythos 2 85mm Burrs (For Grinder) 480.00$    

15030203 Mythos 2 Lower Burr Holder 4600.0014 (For Grinder) 49.50$      

15030204 Mythos II Grind Chamber (For Grinder) - 4600.0016 465.00$    

15030206 Mythos 2 Temperature Sensor 4600.0160  (For Grinder) 80.00$      

15030217 Mythos II Micro Activation Cable 19.80$      

15030218 Mythos II Microswitch Driving Nut (For Grinder) 30.60$      

15030219 Mythos II Scale Cover (4600.0095) 22.50$      



15030221 Mythos 2 Coffee Chute 4600.0007  (For Grinder) 31.50$      

15030222 Mythos 2 Coffee Chute Cover (For Grinder) 30.00$      

15030224 Mythos 2 Back Label (For Grinder) 37.50$      

15030226 Start Capacitor 110v  Mythos 2 (1012.0009)  (For Grinder) 210.00$    

15030227 Bean Hopper Gate for Mythos / Mythos II  WAS 15030048 (For Grinder) 106.50$    

15030235 Mythos II Rubber Tray 180.00$    

15030242 Mythos II Coffee Aluminum Chute Cover (For Grinder) 40.00$      

15030243 Mythos II Clump Crusher Inox (For Grinder) 40.00$      

15030244 Mythos II Filter (For Grinder) 210.00$    

15030247.NO Mythos Clima Pro Body Matt Black  (For Grinder) 852.00$    

15030500 Mythos 2 / MDJ / MDXS Grinder Switch 110v  (For Grinder) 67.50$      

15030501 MyMythos Burrs Reading Set (For Grinder) 285.00$    

15030503 Upper Burr Support 75mm (For Grinder) 590.00$    

15030505 Control Panel - MyMythos (For Grinder) 1,775.00$ 

15030507 Fork MyMythos (For Grinder) 132.50$    

15030508 Portafilter Fork Support (For Grinder) 125.00$    

15030510 Portafilter Fork Rubber (For Grinder) 27.50$      

15030523 MyMythos Clump Crusher (For Grinder) 20.00$      

15030525 Mythos VA 75 Coffee Chute S/S (For Grinder) 33.50$      

15050001 Grinding Burrs 64mm MDX/ MDX On-Demand MASTER/MDM.  SET OF 2 BURRS. Also replaces 15080001 and 15080003) (For Machine)*80.00$      

15050003 Capacitor - 20 uF (For Grinder) 90.50$      

15050009 Capacitor 220v 43.50$      

15050010 Cover Ring  (For Grinder) 21.30$      

15050011 Container Safety Dome. MDX (For Grinder) 17.20$      

15050012 Doser release assembly (For Grinder) 80.00$      

15050013 Foot MDU/MDX/MDXS/MDJ (For Grinder) 7.40$        

15050014 Doser Spring (For Grinder) 3.00$        

15050015 Long doser pin (For Grinder) 20.10$      

15050016 Short doser pin (For Grinder) 26.20$      

15050017 Left nut for doser assembly (For Grinder) 15.40$      

15050018 Upper washer for doser unit (For Grinder) 25.50$      

15050019 Lower washer for doser unit 15.00$      

15050022 MDM Chrome Dosing Lever 100.00$    

15050023 Caffetteria / Prontobar 16uF Capacitor (For Machine) 117.30$    

15050027.2 MDX on Demand Front Body Black (For Grinder) 150.00$    

15050028.2 Command Panel MDX on Demand Black (For Grinder) 100.00$    

15050029 Circular Sticker MDX on Demand (For Grinder) 6.60$        

15050030 Cover Screw MDX on Demand (For Grinder) 9.30$        

15050031 MDX / MDJ on Demand / Eureka Zenith Grinder Start Button Cap (4400.0012) (For Grinder)11.80$      

15050033 Cupholder Fork MDX / MDJ on Demand (4400.0016) (For Grinder) 40.00$      

15050035 Coffee Slide Chute MDX on Demand (For Grinder) 15.60$      

15050036 Display Protection on Demand (4400.0009) 12.30$      

15050037 Display Seal MDX on Demand  (4400.0014) 3.60$        

15050039 Display Board 115v MDX / MDJ on Demand (4410.0002) (For Grinder) 360.00$    

15050040 Dose 2 Button MDX on Demand (For Grinder) 13.50$      

15050041 Dose 1 Button MDX on Demand (For Grinder) 13.50$      

15050042 Button + Dose Increase on Demand 10.50$      

15050043 Button + Dose Increase on Demand ( For Grinder) 10.50$      

15050044 Guide for Filter Holder on Demand (4400.0013) 9.60$        

15050046 MDX on Demand Retro Chute (WAS 15050034) 15.00$      



15050047 Self-Threading Screw 2.2x9.5 (For Grinder) 6.00$        

15050048 Self-Threading Screw 5x30 4.80$        

15050049 Dosing Button Screw - MDX/MDJ on Demand 6.00$        

15050050 Dosing Button Washer - MDX on Demand 6.00$        

15050051 SS Screw M5x16 3.60$        

15050052 Internal Plate Lock-Fork On-Demand 17.50$      

15050053 MDX/MDJ on Demand Fork Plate (For Grinder) 43.20$      

15050058 Eureka 60mm Burr WAS 01100005  (NOT for the G60) (USE 15090007 for G60) (For Grinder)144.00$    

15050059 Washer for Burr Holder MDXS / G60 (For Grinder) 6.00$        

15050101 MDXS Complete Motor 110v (For Grinder) 990.00$    

15050102 MDXS Upper Burr Support (For Grinder) 63.00$      

15070002 Lower Conical Burr Carrier MDL 102.00$    

15070010 Lower Aluminum doser Lock 39.30$      

15070022 MDJ / MDXS Hopper Complete with Lid (For Grinder) 270.00$    

15070024 MDJ 115v Motor (For Grinder) 1,050.00$ 

15070026 Doser Top MDXS (For Grinder) 16.50$      

15070027 Doser Plastic Insert MDXS (For Grinder) 28.50$      

15070028 MDXS Agitator Dosing Group (For Grinder) 42.00$      

15070029 MDXS Dosing Plate (For Grinder) 36.00$      

15070030 MDXS Upper Dosing Star (For Grinder) 52.50$      

15070031 MDXS Lower dosing Star (For Grinder) 52.50$      

15070032 MDXS Doser Handle (For Grinder) 117.00$    

15070033 MDXS Dosing Guide (For Grinder) 16.50$      

15070034 MDXS Dosing Flap (For Grinder) 16.50$      

15070036 MDXS Right Hand Counter (For Grinder) 52.50$      

15070037 MDXS Dosing Gear (For Grinder) 15.00$      

15070038 MDXS Doser O-ring (For Grinder) 9.00$        

15070041 Dosing Regulating Knob (For Grinder) 52.50$      

15070042 MDXS Doser Axis (For Grinder) 27.00$      

15070043 MDXS Dosing Lever Bushing (For Grinder) 18.60$      

15070045 MDXS Doser Spring (For Grinder) 9.60$        

15070046 MDXS Lever Spring (For Grinder) 16.50$      

15070047 MDXS Gear O-ring (For Grinder) 6.00$        

15070048 Dosing Gear Plug (For Grinder) 4.50$        

15070050 Doser Outlet Trim MDXS (For Grinder) 15.00$      

15070055 MDXS Vibration Damper / Motor Mount (For Grinder) 15.60$      

15070056 Chute MDJ OD (For Grinder) 129.00$    

15070057 Cover Chute MDJ OD (For Grinder) 15.00$      

15070058 Chute Adjustment On Demand (WAS 4400.0006) (For Grinder) 15.00$      

15070059.2 MDXS-OD/MDJ OD Chute Housing Black (For Grinder) 240.00$    

15070060.2 Command Panel MDXS / MDJ Black (For Grinder) 120.00$    

15070061 Mythos 2 Bushing (For Grinder) 18.00$      

15070063 MDJ Electronic Relay 110v (For Grinder) 210.00$    

15070067 On Demand Inlay Filter Holder 16.50$      

15070068 MDX/MDJ On Demand Fork Support (For Machine) 18.00$      

15070069 MDX/MDJ/MDH On Demand Fork (For Machine) 36.00$      

15070070 MDJ/ MDX On Demand Wire Kit (For Grinder) 103.90$    

15070071 Screw 4x16 MDX On Demand (For Grinder) 4.50$        

15070072 SS Screw M4x20 TSB Screw for Fork MDXS & OD (For Grinder) 5.00$        

15070074 Complete Fork Kit On Demand (For Grinder) 148.50$    



15070075 Mythos 2 / MDJ / MDXS Grinder Switch 110v  (For Grinder)15030057 67.50$      

15070080 MDXS / MDJ Bean Gate (For Grinder) 6.00$        

15080002 Grinding Burrs 75mm  Caffetteria/Mythos/MDJ (15080002.SC)  (For Grinder)192.30$    

15080005 Doser Lid (For Grinder) 32.50$      

15080008 Capacitor 12.5 MF Eureka (For Grinder) 69.00$      

15080009 Lower Burr Holder Mythos/MDL (For Grinder) 73.60$      

15080038 Catch plate for ground coffee, All grinders (For Grinders) 16.70$      

15090007 G60 Burrs 60mm (For Grinder) 90.00$      

15090010 Switch Button Blue Light G60 (1011.0013) 31.50$      

15090016 G60 Complete Display Assembly 110v (4122510.1100SW0163) (For Grinder)534.00$    

15090069 By Eureka Label (For Machine) 42.00$      

15090071 Complete Hopper 84.00$      

15090072 Eureka Atom Portafilter Holder (For Grinder) 204.00$    

15320001 Upper Heating Element, double grill, 700W (For Machine) 108.00$    

15320002 Lower Heating Element-double grill (For Machine) 108.00$    

15320005 Thermostat for panini grills (For Machine)* 124.00$    

15320006 Knob P1L, P2L (For Machine) 12.90$      

15320007 Left spring  P1L P2L (for models 1999 and prior) (For Machine) 12.00$      

15320008 Spring right P1L P2L (for models 1999 and prior) (For Machine) 12.00$      

15320009 Left bracket for P2L (For Machine) 33.00$      

15320010 Right bracket for P2L 33.00$      

15320011 Warning light, P1L P2L 18.00$      

15320012 Grill knob for P1L and P2L (For Machine) 18.00$      

15320014 Handle P2L (For Machine) 30.00$      

15320015 Rear rod P1L (For Machine) 80.00$      

15320016 Rear Rod, P2L (For Machine) 80.00$      

15320017 Tension Clamp P1L P2L (For Machine) 46.50$      

15320018 Grease Catcher for P2L (For Machine) 150.00$    

15320020 Upper Element - P1L (For Machine) 90.00$      

15320021 Lower Element - P1L (WILL No Longer Be Available)  (For Machine) 90.00$      

15320022 Foot  each P1L, P2L 8.00$        

15320026 Lifting rod screw (Large screw for rear) (1139962) (For Machine)z 3.00$        

15320027 Bracket for  P1L (For Machine) 33.00$      

15320029 Knob 15.00$      

15320035 Complete Protection Coil Panini grills (Wires NOT Included) 99.00$      

15320042 Wiring Kit for P2L 484P (For Machine) 130.00$    

15320043 Wiring Kit for PlL 484C 100.00$    

15320044 Grill brush (For Machine) 33.00$      

15320045 Right side lifting rod (For Machine) 96.00$      

15320046 Left side lifting rod (For Machine) 72.00$      

15320048.T P2L Face Plate w/timer 87.10$      

15320050 Grill Handle Spacer-P2L WILL NO LONGER BE AVAILABLE 8.30$        

15320051 Insulating Pad, P1L 23.50$      

15320052 Heat Shield P2L (For Machine) 16.80$      

15320053 Handle Rod P1L 31.80$      

15320056 Inner Shaft, P2L grill 21.00$      

15320062 Cables for P1L (For Machine) 87.00$      

15320066 Left spring  P1L P2L (post 1999) (For Machine) 12.00$      

15320067 Spring right P1L P2L (post 1999) (For Machine) 12.00$      

15320070 Grill Timer P1L P2L (For Machine) 75.00$      



15320071 Electrical plug  P2L 220V U.S. (For Machine) 120.00$    

15320072 Left side spring P2L (post 1999) (For Machine) 12.00$      

15320073 Right side spring P2L (post 1999) (For Machine) 12.00$      

15400008 Chromed Screw 31.80$      

15400011 SPECIAL ORDER  Spring, MCD (For Grinder) 8.00$        

15400030 Grinder Burr Base MCD 65 109.00$    

15800001 Coffee Bean Container Cover, MCF/ MCI (For Grinder) 18.40$      

15800002 Coffee Bean Container, MCF (For Grinder) 44.00$      

15800005 Lower Blade Support, MCF 43.10$      

15800009 MCF Body Black 65.08$      

15800014 Dosing Cover, MCF (For Grinder) 13.60$      

15800015 Coffee Cylinder MCF 23.10$      

15800018 Lower Dosing Star-MCF (For Grinder) 75.00$      

15800019 Complete Dosing Unit MCF (For Grinder) 249.40$    

15800021 Doser Gear Pin MCF 2.00$        

15800023 Dosing Spring 2.20$        

15800024 Dosing Lever Spring (For Grinder) 6.85$        

15800026 Cam Spring (For Grinder) 4.85$        

15800027 MCF Lever (For Grinder) 17.40$      

15800028 Doser Gear for MCF (For Grinder) 15.10$      

15800034 Capacitor 110v 117.30$    

15800036 Base, MCF    23100 (For Grinder) 21.70$      

15800037 MCF Fork (For Grinder) 17.80$      

15800038 Locknut for grinders 3.90$        

15800040 Doser Piston 1.80$        

15800041 Long gear spring 2.50$        

15800042 Container dome door - hopper slide (For Grinder) 20.00$      

15800043 3-hole MCF/MCI Top Burr Plate 195.00$    

15800045 Burrs D50 3  fits MCF/Microbar/Grinta/MCI/Prontobar (For Grinder) 75.00$      

15800047 Button Board and Wirings MCI/ MCF/MDX/MDJ on Demand  (1005.0013) (For Grinder)55.50$      

15800049 MCI Board w/ Timer (1005.0012) (For Machine) 185.00$    

15800050 MCI Chute Dowel Delivery  (2310.0027) 7.20$        

15800055 MCI Stainless Steel Fork (2310.1115) 18.00$      

15800060 Dosing Button Spring - MDX on Demand 7.50$        

15800200 MDH Hopper Complete (For Grinder) 64.50$      

15800201 MDH Hopper Lid (For Grinder) 19.50$      

15800202 MDH Bean Gate (Grinder) 6.00$        

15800203 MDH Adjustment Knob (For Grinder) 24.00$      

15800205 MDH Knob Gasket (For Grinder) 7.50$        

15800206.NO MDH Black Bell Lid (For Grinder) 88.00$      

15800208.C MDH Chrome Front Cover (For Grinder) 28.50$      

15800213 MDH Electronic Board 110v (For Grinder) 147.00$    

15800215 MDH Coffee Group Chute (For Grinder) 24.60$      

15800216 MDH Fork Locking Plate (For Grinder) 21.00$      

15800217 MDH Front Support (For Grinder) 33.60$      

15800218 MDH Bell Seal (For Grinder) 12.00$      

15800219 Antivibrate Silent Block MDH Grinder  D15xH10xL10 M4 (For Grinder) 9.60$        

15800222 MDH Burr Plate (For Grinder) 36.00$      

15800223 Screw M3x6 MDH Burr Screw (For Grinder) 6.00$        

15800224 MDH / MCF Locknut (For Grinder) 6.00$        



15800225 Screw M4x30 for Filter Holder MDH (For Grinder) 6.00$        

15800226 Screw M3x12 MDH Group Chute Screw (For Grinder) 4.50$        

15800227 MDH Wire Kit (For Grinder) 87.00$      

17000019 Bumper Pad lower (For Machine) 9.40$        

17000022 Pistone 3959 (For Machine) 144.00$    

17000023 Group Gasket (For Machine) 9.00$        

17000024 Shower Screen V.A. Gr. Leva (For Machine) 29.20$      

17000026 Chrome Shaft, Leva 37.30$      

17000033 Internal Sleeve 4092 (For Machine) 245.00$    

17000034 Teflon Gasket 3.90$        

17000037.D Portafilter for Pre-2012 Athena Leva No Spout No Basket (For Machine) 151.10$    

17000051 Sphere Cover Athena Leva 21.00$      

17000052 Sphere Support Leva (For Machine) 18.00$      

17010001 Portafilter for Athena Leva 2012-up No Spout No Basket (For Machine) 150.00$    

17010002 Gasket for Athena Leva 2012 Group (For Machine) 5.00$        

17010003 Shower Screen for Athena Leva 2012 (For Machine) 16.50$      

17010004 OR-161 57.15x3.53 VITON Gasket for Athena Leva 2012 Group (For Machine)15.60$      

17010008 SS Ball for Athena Lever 2012  WAS 17000035 5.10$        

17010009 SS Pin Closing Valve for Athena Leva Group (For Machine) 42.00$      

17010010 O-ring - 106 1.78x6.75 VITON (For Machine) 1.00$        

17010011 Washer Copper 17.5x24.51.5 for Athena Lever (For Machine) 4.50$        

17010013 Internal Bushing Athena Leva 2012 (For Machine) 210.00$    

17010014 O-ring Gasket for Athena Leva 2012 (For Machine) 8.10$        

17010015 Ring Piston for Athena Lever Group (For Machine) 13.50$      

17010016 Gasket Piston for Athena Lever Group   WAS 17000021 (For Machine) 22.50$      

17010017 Piston for Athena Leva Group 2012 (For Machine) 120.00$    

17010018 Guide Bushing Spring Athena Lever Group 2012 (For Machine) 66.00$      

17010019 SS Shaft Piston Athena Lever Group 2012 (For Machine) 75.00$      

17010020 Big Spring Athena Lever Group 2012 (For Machine) 90.00$      

17010021 Small Spring Athena Lever 2012 (For Machine) 54.00$      

17010022 Top Body for Athena Lever Group 2012 360.00$    

17010023 Slotted Ring for Athena Lever Group (For Machine) 90.00$      

17010024 Fork for Athena Leva 2012 Group (For Machine) 180.00$    

17010025 Lever L=232 Athena Lever Group (For Machine) 268.00$    

17010026 Athena Lever Group Handle (For Machine) 24.00$      

17010027 SS Washer 15x8.4x1 Athena Lever 2012 (For Machine) 7.50$        

17010028 S Screw M8x20 Athena Lever Group 2012 (For Machine) 18.00$      

17010029 Pin Bearing for Athena Lever Group 2012 16.80$      

17010030 Roller for Athena Lever 2012 Group (For Machine) 1.80$        

17010031 Bushing for Athena Lever 2012 Group (For Machine) 75.00$      

17010032 Screw Pin Right Athena Lever 2012 (For Machine) 22.80$      

17010033 Screw Pin Left Athena Leva 2012 Group (For Machine) 22.80$      

17010034 Bearing Athena Lever 2012 Group (For Machine) 30.00$      

17010035 Fitting Assembly for Athena Leva 2012 Group 16.50$      

18010028.1 Kiara 6 Boiler Heating Element 3000w 252.00$    

18010029 Boiler element seal 6.00$        

18010042 Tank Fixed Thermostat (For Machine) 62.00$      

18010043 Boiler Adj. Thermostat 90.00$      

18010078 2-way solenoid valve 73.20$      

18010104 Capacitor 12.5 UF 35.50$      



18010136 90 Degree Drain Outlet 21.60$      

18010145 Microswitch 34.50$      

18010162 O Ring for Kiara Handle Nut 1.40$        

18010169 Water sensor Kiara 5 79.20$      

18010170 Inlet Tube (Water Supply Line) (For Machine) 47.40$      

18010188 Fastening Nut DP112 10.50$      

18010370 Suction filter 72.00$      

18010379 Drain Hose (For Machine) 73.80$      

18010388 Kiara Thermostat Knob 16.50$      

18010389 Terminal Board K-5 20.80$      

18010390 Terminal Block Kiara 6 36.00$      

18010401 Thermostat Protection Kiara 18.60$      

18010437 2 Level Pressurestat K6 (For Machine) 350.00$    

18010441 Washing arm LSI46 (For Machine) 219.20$    

18010468 Fitting Lower Spray Arm Support Kiara 6 90.00$      

18010472 Deflector washer w/holes 12.20$      

18010593 Cycle Timer 120/240, Kiara 6 354.30$    

18010594 Wash Pump Kiara 6 230/60 (For Machine) 781.10$    

18010642 Suction Filter (For Machine) 115.90$    

18010801 Kiara 6 Boiler 3-Phase (For Machine) 549.00$    

18010818 Filter Locking Spacer Column 20.60$      

18010823 Contactor 162.00$    

18010938 Electrovalve 1-Way 220v (For Machine) 71.20$      

18011015 Door Handle - Kiara (For Machine) 33.90$      

18011022 Grey Key 6.00$        

18011023 Blue Button 6.00$        

18011025 On-off switch 24.10$      

18011026 Start Push Button 31.60$      

18012005 Drain Pump 4/28 220/60 - (For Machine) 324.00$    

190000100 Steam Double Solenoid 230v 50/6Hz (For Machine) 296.00$    

190000104 Pulse Jet Solenoid 2 way Valve (For Machine) 204.00$    

190000110 Electrovalve, 3 way UL 220V (previosuly 04100027) (For Machine)* 130.00$    

190000111 2 Way Solenoid 1/4-1/4 208-240V 60Hz (For Machine) - Previously 04100030156.00$    

190000113 Electrovalve 2-way 220v 1/4-1/4 FKM F1.5 (For Machine) 156.00$    

202200100 Coffee Boiler Temp Probe - Maverick (For Machine) 76.50$      

209000100 Hot Water Keypad - Maverick (For Machine) 135.00$    

209000102 Dispensing Group Keypad - Maverick (For Machine) 380.00$    

209000104 Dispensing Group Display - Maverick (For Machine) 665.00$    

209000114 Scale Tab rev.2 - Maverick (For Machine) 185.50$    

2130.0022 Zenith Switch Plate 15.00$      

2130.0023 Zenith Switch Knob 15.00$      

2501.0001 Knob for G60 / MDX 40.00$      

2510.2006 Deflector Top of Doser G60 43.50$      

2510.2007 G60 Coffee Chute 16.20$      

2510.2008 G60 Chute Teflon Flap 34.50$      

2510.2012 Top Touchpad G60 192.00$    

2510.2016 Display Frame Piece G60 33.00$      

2510.2025 G60 Grounds Chrome Cone 360.00$    

2510.2060PL G60 Fork 222.00$    

2512.0005 G60 Stationary Bur Carrier 52.50$      



2570.0003 Lid Upper Burr Holder for Zenith 18.00$      

2580.0006 Swivel for Burrs G60 (15090005) 13.50$      

27040001 NS Espresso Coffee Cups (6 per box) (For Machine) 42.00$      

27040002 NS Cappuccino Coffee Cups (6 per box) (For Machine) 60.00$      

30100172 Drain Tray 2gr - Maverick (For Machine) 685.00$    

30100173 Drain Tray 3gr - Maverick (For Machine) 720.00$    

30100182 Upper Cupwarmer Grill 2gr - Maverick (For Machine) 375.80$    

30100183 Upper Cupwarmer Grill 3gr - Maverick (For Machine) 396.00$    

31000260 Musica Label Sticker (For Machine) 12.00$      

31000331 V.A. Cleaning Towel 42.00$      

31000629 V.A. 3gr TNT Black w/ Silver Logo Cover (For Machine) 180.00$    

31000700 Oscar II Cover Label (For Machine) 7.00$        

40000001 Screw M6x10 AQ 12 SS 1.00$        

40000003 Athena Classic shower screw  5x10 (For Machine) 1.00$        

40000004.3 Chrome Screw M4x12 4.80$        

40000004.4 Brass Screw M4x12 for Bottom Cabinet Venus 6.50$        

40000005 Brass Bushing (Used for NEW Safety Valve Adaption)  (For Machine) 3.60$        

40000008 SS Screw 5 x 16 2.90$        

40000013 SS Socket Cap Screw M8x25 1.50$        

40200001 White Teflon Gasket 1.80$        

40200002 Boiler flange O Ring 2gr 10.40$      

40200003 Heating Element gasket Venus (For Machine) 7.98$        

40200004 Aurelia / Black Eagle / White Eagle Group Gasket Conical 72.3x57.5x8h (For Machine)5.50$        

40200005 OR gasket for group bar (For Machine) 3.00$        

40200006 O Ring gasket for flange group (For Machine) 0.80$        

40200007 O Ring gasket for plug group bar (For Machine) 0.80$        

40200008 Gasket for glass level 10mm 1.30$        

40300007.2 Cup Holder Copper Belt 624.00$    

40300014.3 Drip Tray Chrome 300.00$    

40300015 SS Grill Venus 62.80$      

40300022 Shower SS for group bar (For Machine) 4.50$        

40300023.1 Sight Glass Case Brass Venus 2gr (For Machine) 45.10$      

40300027 Heat Exchanger Venus 2 Group (For Machine) 238.00$    

40302005 3 Group Drain Tray V.A. Leva 153.60$    

40302006 Cupwarmer Grill 3gr Classic Lever V.A. (For Machine) 264.00$    

40302007.2 Left side panel VALeva Copper 270.00$    

40302008.2 Rt side panel VALeva Copper 270.00$    

40302010.2 Frame 3gr V.A. Copper 357.80$    

40302012.2 Base frame cover Copper VA Leva 3gr 469.70$    

40302014.3 Double cup warmer Chrome VA Leva 3gr 965.00$    

40302015 SPECIAL ORDER  Boiler Lever 2 Group Athena Leva (For Machine) 875.00$    

40302016 SPECIAL ORDER   V.A. Leva Boiler 3 Group (For Machine) 1,200.00$ 

40400001 Electronic Unit Venus V 2/3 gr (For Machine) 610.00$    

40400002 Hot Water Flowmeter - Venus Bar 165.00$    

40400003 Cable Assembly Flowmeter 46.50$      

40400004 Cable for V.A. 74.70$      

40400007 Venus V touchpad (For Machine 155.70$    

40402001 3-position switch Arduino Leva (For Machine) 152.60$    

40500001 Drainage Cup Venus 2-3 Group 32.00$      

40500001.1 New Style Athena Leva Drain Cup 25.50$      



40500002 Complete tap handle (For Machine) 37.50$      

40500006 VA Athena Leva/ Venus Foot  50x28 (For Machine) 28.60$      

40500110 Maverick Keypad to Display Cable (For Machine) 24.80$      

40600001.3 Chromed Group Head Athena Leva 1,325.00$ 

40600004.4 Special Order   Large V.A. Eagle Brass (For Machine) 250.00$    

40700005 SPECIAL ORDER   Group Plate VA (For Machine) 39.30$      

40700009 T fitting 3/8 M-M-M 12.00$      

40700015.1 Brass Threaded Fitting 3/8 21.60$      

40700015.3 Threaded fitting 3/8 Chrome" 28.80$      

40700017 Bushing for level gasket holder (For Machine) 7.80$        

40700018.1 Upper level nut polished brass for Venus 7.20$        

40700019.1 Lower nut Brass for Venus   (For Machine) 5.70$        

40900001 Double scale gauge SS Victoria Arduino (For Machine) 106.90$    

40900002 Glass Level Venus 2gr (For Machine) 8.10$        

40900003 Glass Level Venus 3gr 12.50$      

40900004 Button Support Venus Family Gold Finish 3.00$        

40900005 Rounded button D16 gold 1.70$        

40900006 Red LED Venus Family 5.50$        

40901001 Thermostat for VA Family (For Machine) 40.20$      

4122510.1100SW0163 G60 Complete Display Assembly 110v 534.00$    

4122510.4000 G60 Chute Assembly 24.00$      

41400001 Heating Element 230V 1800W Venus 2gr (For Machine) 230.40$    

41400002 Heating Element 3gr 220v 2400w Venus (For Machine) 193.70$    

4400.0005 Cover for Chute Zenith 7.80$        

4400.0007 Zenith Coffee Chute 6.00$        

4400.0027 MDJ / Eureka Clump Crusher (5500.0008) 40.00$      

48000007 Bolier Pressure Gauge Connection Tube (For Machine) 36.20$      

48000008 Gauge Connection Tube (For Machine) 28.50$      

48000010 Group Delivery Tube Venus (For Machine) 24.30$      

48002002 Level Boiler Pipe Athena Leva 29.10$      

48002003 T 3/8 Neplax Valve Pipe" 29.10$      

48002004 VA Athena Leva Boiler Steam Tap Pipe (For Machine) 25.20$      

48002005 V.A. Boiler Steam Tube 25.80$      

48002006 Athena Boiler Steam Gauge Pipe (For Machine) 29.20$      

48002007 Connector T Gauge Pipe (For Machine) 25.20$      

48002010 Athena Leva 3/8 Exchanger Connection Pipe (For Machine) 30.00$      

48002012 Pressurestat Boiler Pipe 24.30$      

48002013 Tap to Gauge Connection Pipe (For Machine) 21.00$      

48002015 VA Leva Fill Tube T 1/4 (For Machine) 21.00$      

49800002 Complete chromed filter holder for older Aurduino 90.00$      

49800002.4 Complete filter holder - Gold (For Machine) 46.60$      

49900001.1 Polished Brass Complete water/steam valve (For Machine) 139.30$    

49900001.3 Chrome Complete water steam valve without wand (For Machine) 94.00$      

49900002.1 Steam Pipe Venus - Brass 80.00$      

49900002.3 Steam Pipe Kit Venus Bar Chrome 135.00$    

49901001.3 Steam Kit for Family Chrome 39.60$      

5000168.1 Oscar Front Panel - Ivory 96.00$      

5000168.3 Oscar Front Panel - Aluminum 156.00$    

5050358 Group Gasket for Lavazza Adapter 72x57x5.3mm 12.00$      

5106.0010 MCI/ MCF Tall Hopper 500g (5103.0010) 93.00$      



5215.0000 MDX / Zenith / G60 Low Profile Hopper (For Grinder) 126.00$    

53000104 Maverick Steam Lever Sensor Cap (For Machine) 11.30$      

5500.0010 Dose Button Grommet 8.70$        

59000100 Foot - Maverick (For Machine) 33.50$      

6060.0007 Cross Head Screw 4x16 5.00$        

6060.0010 Screw 4x10 Zinc G60 to Hold Hopper 6.00$        

6060.0016 Screw for Mythos Foot (15000097) (VITE 5x25) (91221) 7.00$        

6060.0018 G60 Chute Flap Screw 7.50$        

6060.0022 Screw 6x16 for Upper Blade Support G60 6.00$        

6060.0032 Burr Screw 4x8 G60 6.00$        

6060.0058 Screw 3.00$        

6060.0080 Screw 9x16 3.00$        

6060.0112 Zenith Screw 3.24$        

6060.0114 G60 Fork Screw 4.50$        

6061.0001 Washer G60 6.00$        

6061.0002 G60 Screw Washer Fork 4.50$        

6061.0003 Washer for Fork G60 4.80$        

6061.0013 Curled Washer M4 5.00$        

6061.0024 Washer DN4 DIN 9021 Inox (A2) 5.00$        

6062.0003 G60 M6 Zinc Nut 4.80$        

6062.0005 Hex Nut M4 G60 5.00$        

6062.0017 Nut for Burr G60 19.50$      

72012007 Expansion Valve complete (For Machine) 47.20$      

73003005 Boiler for Oscar 115V Complete (For Machine) 471.50$    

73003020 Boiler Tube for Oscar 24.80$      

73003021 Boiler lower group tube 16.60$      

73003022 Boiler steam tap tube (For Machine) 18.30$      

73003025 Tube from boiler to pressurestat 14.40$      

73004010 Oscar Water Tank (previously 980200004 & 05000178) (For Machine) 43.50$      

73004013 Chrome Group Head Oscar/Musica (For Machine) 200.00$    

73004014 Group Head Complete Oscar (For Machine) 300.00$    

73006002 Chrome steam wand for Oscar (For Machine) 13.90$      

73006003.1 Oscar Pressure Reducing Tip WAS 73006003 (73006003.12) (For Machine)18.00$      

73006010 Complete steam valve - Oscar (For Machine) 132.60$    

73012002 Neplax Valve 1/8 Oscar (For Machine) 24.10$      

73012003 One-Way Check Valve Microbar 2008 21.60$      

73016010 SPECIAL ORDER  Kit to Convert Tank Model to Direct Connection Oscar  - NO Install Support Provided (For Machine)300.00$    

73016011 Oscar Kit for Converting Direct Connect to Tank (SEE NOTE) - NO Install Support Provided $70.00 List for Dealers (For Machine)300.00$    

73017002 Retaining Valve Microbar 40.90$      

75006016.1 Water Nozzle for Wand - Musica 19.50$      

75006018 SS Steam Wand 75.80$      

75006032 Steam Valve Complete (SS) Maxi/Mac 2000 (For Machine) 200.30$    

75006035 Swivel steam wand with Swivel Mac 1gr - New Style (Tip not Included) (For Machine)72.70$      

75006036 Gooseneck Steam Wand replaces 75006030 55.00$      

75006037 90/90 SS Swivel Steam Wand  w/o valve (For Machine) 192.00$    

75006037.1 SS Swivel Steam Wand  w/o valve inclined 72 degrees/ Aurelia/Appia/ Program Vip/ Mac 2000 2group and 3 group/ Premier Maxi (For Machine)192.00$    

75006038 Steam tip for VIP M8 (For Machine) 48.00$      

75006038.1 Steam tip for Latte Art (For Machine) 48.00$      

75006038.2 Competition Steam Tip (For Machine) 48.00$      

75006039 Turbo Steam Tip 48.00$      



75006100.F Steam Wand Kit Stainless U-Can Touch (For Machine) 300.00$    

75006120 Cool Touch Steam Wand Kit Eagle One (For Machine) 276.00$    

75006121 E1 Prima Steam Wand (For Machine) 288.00$    

75007005-O Hot Water Pipe Complete-2+grp, Oro USE78007001 24.00$      

75007007 Hot Water Valve 62.30$      

75007008 SPECIAL ORDER   Hot Water Pipe Complete-1 grp. 27.00$      

75010001 Level Complete (For Machine) 38.60$      

75010002 Metal casing for sight glass Prog/Mac/Prem (For Machine) 27.30$      

75030048 SPECIAL ORDER   Tube for the Valve Personal 1 Grp (For Machine) 21.80$      

75030049 Copper Pipe Scamb.-Gr Eroga 33.30$      

75030050 SPECIAL ORDER    Inlet retaining valve pipe MacCup 1gr (For Machine) 96.50$      

75030055 Boiler tube to manom. (tubo coll. caldata-manom.ter) 27.60$      

75030056 Tube 39.90$      

75030059 SPECIAL ORDER   Pipe from boiler to top of sight glass. 21.00$      

75030060 SPECIAL ORDER    Pipe 31.30$      

75030064 Flowmeter Exch Brass Tube 30.00$      

75030068 Heat exchange tube 9.10$        

75030210 SPECIAL ORDER   Complete hot water economizer for Prog/Mac (For Machine)153.30$    

75030301 SPECIAL ORDER   Tube-left steam to boiler (For Machine) 12.40$      

75030302 SPECIAL ORDER   Tube-right steam to boiler 25.50$      

78004000 Group Head, Premier, Mac 2000 2gr and 3 gr, COMPLETE (For Machine)462.70$    

78004001 Group Head, Premier, Appia Nickel Plate (For Machine) 243.20$    

78005000 SPECIAL ORDER  Right Steam tap, Premier 95.60$      

78006001 Chrome Premier steam arm (For Machine) 60.18$      

78007001 Hot water pipe 24.50$      

78007005 Athena Leva / Prontobar Hot Water Wand (WILL BE 98007009) 45.00$      

78016020 SPECIAL ORDER   Touchpad Premier Maxi V 2gr (For Machine) 144.00$    

78030022 Boiler filling brass tube 2/3g 52.80$      

78030024 Pipe 2/3 gr 28.00$      

78030029 Lower glass level brass tube 2/3 gr 42.00$      

78030031 Tube pressurestat/boiler 2/3g  SEE 78030081 MAXI 32.50$      

78030037 Flowmeter exchange tube 2/3gr 33.30$      

78030038 Safety valve brass tube 2gr 33.80$      

78030039 Premier  V 2 Group Hydraulic Tubing 192.00$    

78030042 Left steam tap 27.00$      

78030068 Middle Solenoid Brass Tube 3 Group (For Machine) 13.50$      

78030080 Tube from tank to guage (For Machine) 42.00$      

78030081 SPECIAL ORDER   Tube Pressurestat/Boiler 2/3 Group (For Machine) 33.30$      

78030082 Hot Water Tube, Boiler to Valve 54.00$      

78030083 Left Steam Tube 3 Group Premier Maxi 51.90$      

78030085 Boiler Drain Pipe Premier 2gr 43.80$      

78030092 Boiler complete 2gr Premier Maxi (Special Order) (For Machine) 1,020.00$ 

79000009 Tube from cupwarmer to boiler 27.40$      

79000011 Flowmeter exch 1% brass tube 26.30$      

79000024 SPECIAL ORDER    Valve drain cap brass tube 17.50$      

79000029 Boiler Left Steam Valve Tube - Brass 24.50$      

79000033 Tube-lower exchange to group 53.80$      

79000051 Tubo Coll Caldaia Miscelatore 25.60$      

79000062 Exchange Tube for Raised Group 14.90$      

79006004 SPECIAL ORDER   Left Steam Valve Complete-Inox (79006001, 79006002, 79006003) st. steel163.30$    



79030030 Heat Exchange Mac Cup (For Machine) 33.30$      

82007003.1 Hot water pipe break squirt Caff Ital/Aurelia WAS 82007003 (For Machine) 72.90$      

84003002.L SS Hot Water End Steam Nozzle 23.00$      

84005001 Serrated upper grinder holder for Microbar 44.50$      

84005003 Grinder motor 110V Microbar/Grinta (For Grinder) 272.60$    

84005004 Microbar/ Grinta Grinder Motor 220V (For Grinder) 260.30$    

85060004 Upper Grinder Support (For Grinder) 17.50$      

85060006 Lower Blade Support 36.40$      

9.803E+11 Maverick 2gr Steam Boiler Complete (For Machine) 890.00$    

9.803E+11 Maverick 3gr Steam Boiler Complete (For Machine) 925.00$    

9.803E+11 Maverick Left Coffee Boiler Complete (For Machine) 530.00$    

9.803E+13 SPECIAL ORDER  Boiler Complete 2 Group Athena Leva (For Machine)1,675.00$ 

9.804E+13 Prontobar Complete Lower  Group 525.00$    

9.814E+13 Prontobar Left Grinder Assembly (For Machine) 745.00$    

9.814E+13 Prontobar Touch Right Grinder Assembly w/ Titanium Burrs (For Machine)780.00$    

9.814E+13 Prontobar Touch Left Grinder Assembly w/ Titanium Burrs (For Machine) 780.00$    

9.816E+13 Load Cell 9kg + Connector (For Machine) 310.00$    

9.816E+13 Appia Compact V Touchpad Complete Raised w/Autosteam  (INCLUDES Face Cover & Adhesive Face Sticker) (981600000000430001) (For Machine)365.00$    

9.825E+13 Prontobar Dispenser Spout (For Machine) 60.00$      

92000300 Maverick Temperature Probe Steam Wand (For Machine) 249.50$    

98001005 Musica Foot 24.00$      

98001006 Feet for machine (For Machine) 22.50$      

98001007 Extension Leg Kit - All 4 Leg Extensions (For Machine) 82.00$      

98001008 Extension Leg Kit - All 4 Leg Extensions (For Machine) 96.00$      

98001010 Prontobar Extension Legs (For Machine) 100.00$    

98003018 Retaining Valve 98 (previously 98003016) 44.50$      

9800303000 Boiler Module for Microbar  220V 635.80$    

98004000 Group head cap 38.20$      

98004001 Inox filter screen 2.22$        

98004016 Filtro Inox Diam. 12 (For Machine) 1.90$        

9800405000 Complete Group Aurelia/Aurelia II (98004050000002) (For Machine) 585.00$    

98005000-O Filter complete 1 Spout. Gold 150.00$    

98005005 Portafilter Body Beach 37.40$      

98005015 Portafilter Handle Straight (non-tilted) 53.30$      

98005015.4 Portafilter Brass 68.60$      

98005021 Tilted portafilter complete 1 spout (For Machine) 90.00$      

98005021.PN Leather Handled Portafilter 1 Spout (USE 98005022.PN & Change Basket and Spout)360.00$    

98005022 Tilted portafilter complete 2 spout (For Machine) 90.00$      

98005024 Tilted portafilter complete w/o spout w/o basket (For Machine) 84.90$      

98005024.T Portafilter w/Teflon Insert No Spout 170.00$    

98005026 Portafilter Handle Kit 2004 (For Machine) 45.00$      

98005042 Portafilter Complete 2 Spout w/Green Cap 90.00$      

98005110 Nuova Simonelli Wood Portafilter Handle (For Machine) 180.00$    

98006010 Kit 3rd steam wand straight complete (For Machine) 132.00$    

98006010.1 Smart Wand Complete 200.00$    

98006014 SS Steam Tube for Smartwand 63.10$      

98006015 Teflon Interior Tube 4x6 Smartwand (For Machine) 17.00$      

98006020 SS Steam Valve Complete Aurelia, Appia (For Machine) 200.00$    

98006021 Right Steam Knob Assembly Aurelia / Aurelia II (For Machine) 42.50$      

98006022 Left Steam Knob Assembly Aurelia / Aurelia II (For Machine) 42.50$      



98006028 VA358 AS Wand Complete (For Machine) 403.50$    

98006048 Appia / Aurelia Smart Wand Kit 106.40$    

98006048.S Aurelia Smart Wand Selector Auto Steam Wand Kit 500.00$    

98006B01 Steam Wand Chrome Pipe w/o Tip (see 07300030 for tip) 24.40$      

98007000 Complete Hot Water Tap 91.20$      

98007007 SS Hot Water Long Pipe Kit (For Machine) 88.80$      

98007009 SS Hot Water Short Pipe Kit (For Machine) 97.70$      

98007020 Aurelia II / Wave Long Pipe Hot Water Tap Assembly (For Machine) 144.00$    

9800702000 Combined Cold Water Mixer 220v  (980070200000000002) (For Machine)201.00$    

98007022 Aurelia II / Wave Short Pipe Hot Water Assembly (For Machine) 108.00$    

98007025 Black Eagle Hot Water Assembly (For Machine) 109.50$    

98007027 VA358 Hot Water Assembly (For Machine) 126.00$    

980070300000000002 Combined Hot Water Mixer 220v  (WAS 980070300000000003) (For Machine)210.00$    

98008004 Steam Valve Piston Complete with O-ring (For Machine) 11.40$      

98008006 Knob 5.80$        

98008007 Stainless Steel Piston Steam Valve Complete 16.50$      

9801000000.BK Appia Black Right Side Panel with Stainless Steel Insert 270.00$    

98010000000029 Lower Drip Tray Talento WAS 05002034 (For Machine) 150.00$    

98010000000036 Drawer Assembly Talento (For Machine) 396.00$    

98010000000039 Talento Hopper w/Lid (For Machine) 135.00$    

980100000000640001 Musica Drain Tray BLACK (For Machine) 138.00$    

980100000000640002 Musica Drain Tray GREY  (For Machine) 152.00$    

980100000000660005 Right Side Frame Musica (For Machine) 264.00$    

980100000000680005 Left Side Frame Musica (For Machine) 240.00$    

98010000000112 Prontobar Coffee Ground Drawer 156.00$    

980100000001140001 Prontobar Drip Tray Black WAS 05002102 (For Machine) 96.00$      

98010000000118 Prontobar Hopper Complete (For Machine) 150.00$    

980100000001300001 ProntoBar Touch Main Door Assembly Black (For Machine) 2,210.00$ 

98010000000308 Aurelia II 2gr Splash Plate Light Assembly (For Machine) 320.00$    

98010000000309 Aurelia II 3gr Splash Plate Light Assembly (For Machine) 360.00$    

98010000000311 Aurelia II Volumetric/Semiautomatic Name Plate / Decal (For Machine) 52.60$      

980100000004000002 Aurelia Wave Black Right Side Panel (For Machine) 525.00$    

980100000004000003 Aurelia Wave Pearl Right Side Panel - No Milk Light (For Machine) 525.00$    

980100000004000004 Aurelia Wave Pearl Right Side Panel (For Machine) 525.00$    

980100000004000005 Aurelia Wave Red Right Side Panel (For Machine) 525.00$    

980100000004000006 Aurelia Wave Red Right Side Panel - No Milk Light (For Machine) 525.00$    

980100000004010002 Aurelia Wave Black Left Side Panel (For Machine) 525.00$    

980100000004010003 Aurelia Wave Pearl Left Side Panel - No Milk Light (For Machine) 525.00$    

980100000004010004 Aurelia Wave Pearl Left Side Panel (For Machine) 525.00$    

980100000004010005 Aurelia Wave Red Left Side Panel (For Machine) 525.00$    

980100000004010006 Aurelia Wave Red Left Side Panel - No Milk Light (For Machine) 525.00$    

980100000004170002 Wave Rear Panel 2gr w/Logo & Lights (For Machine) 420.00$    

980100000004180002 Wave Rear Panel 3gr w/Logo & Lights (For Machine) 480.00$    

980100000006000001 Black Eagle Right Side Panel (For Machine) 1,900.00$ 

980100000006010001 Black Eagle Left Side Panel (For Machine) 1,900.00$ 

980100000006050001 Black Eagle 2 Group Rear Panel  WAS 03003282 (For Machine) 480.00$    

980100000006050006 Black Eagle back panel 2 group Copper 600.00$    

980100000006060001 Black Eagle 3 Group Rear Panel WAS 03003283 (For Machine) 570.00$    

980100000006080001 Lower Rear Panel 2gr VA388 (For Machine) 300.00$    

980100000006090001 Black Eagle Lower Bottom Panel 3gr (For Machine) 219.00$    



980100000006170011 VA388 Back Panel Red 3 Group "WBC Boston" (For Machine) 1,900.00$ 

980100000006300008 Right Side Panel Red "WBC Boston" VA388 (For Machine) 2,500.00$ 

980100000006310008 Left Side Panel Red "WBC Boston" VA388 (For Machine) 2,500.00$ 

98010000000706 Appia II 1gr Semi Group Panel 300.00$    

98010000000707 Appia II 1 Group V. Group Panel (For Machine) 300.00$    

98010000000708 Appia II Semi 2gr Faceplate (For Machine) 350.00$    

98010000000709 Appia II Volumetric 2gr Faceplate (For Machine) 350.00$    

98010000000711 Appia II Volumetric 3gr Faceplate (For Machine) 380.00$    

980100000007140001 Appia II Compact V Faceplate Raised No AS (For Machine) 312.00$    

980100000007140002 Appia II Compact V Faceplate Raised w/AS (For Machine) 384.00$    

980100000007200002 Appia II Black Right Side Panel 420.00$    

980100000007200003 Appia II Right Pearl Panel (For Machine) 420.00$    

980100000007200004 Appia II Right Red Panel (For Machine) 420.00$    

980100000007210002 Appia II Black Left Side Panel 420.00$    

980100000007210003 Appia II Left Pearl Panel (For Machine) 420.00$    

980100000007210004 Appia II Left Red Panel (For Machine) 420.00$    

98010000000741 Appia II 1gr Lower Front Assembly (For Machine) 82.50$      

980100000007420001 Appia II 2gr Semi Splash Front Plate (For Machine) 145.00$    

980100000007420002 Appia II 2gr Raised Front Panel (For Machine) 150.00$    

980100000007430002 Appia II 3gr Raised Face Plate (For Machine) 156.00$    

980100000007440002 Splash Plate Appia II Compact (For Machine) 79.50$      

980100000009000001 Right Side Panel VA358 CHROME (For Machine) 1,150.00$ 

980100000009000003 Right Side Panel VA358 PEARL (For Machine) 810.00$    

980100000009010001 Left Side Panel VA358 CHROME (For Machine) 1,150.00$ 

980100000009010002 Left Side Panel VA358 BLACK 810.00$    

980100000009010003 Left Side Panel VA358 PEARL (For Machine) 810.00$    

980100000009120001 VA358 White Eagle 3gr Back Panel - Steelux Lights (For Machine) 636.00$    

980100000009120005 VA358 White Eagle 2gr Back Panel - Pearl Lights (For Machine) 650.00$    

980100000009130004 VA358 White Eagle 3gr Back Panel - Black (For Machine) 1,100.00$ 

980100000009130006 VA358 White Eagle 3gr Back Panel - Pearl No Lights (For Machine) 900.00$    

980100000020060001 Appia Life Right Side Black Panel (For Machine) 372.00$    

980100000020060002 Appia Life Right Side Pearl Panel (For Machine) 372.00$    

980100000020060003 Appia Life Right Side Red Panel (For Machine) 372.00$    

980100000020070001 Appia Life Left Side Black Panel (For Machine) 372.00$    

980100000020070002 Appia Life Left Side Pearl Panel (For Machine) 372.00$    

980100000020070003 Appia Life Left Side Red Panel (For Machine) 372.00$    

980100000030060001 Right Side Panel Assembly Eagle One Steelux (For Machine) 750.00$    

980100000030060002 Eagle One Right Side Panel Black (For Machine) 744.00$    

980100000030060003 Eagle One Right Side Panel PEARL (For Machine) 744.00$    

980100000030080001 Left Side Panel Assembly Eagle One Steelux (For Machine) 750.00$    

980100000030080002 Eagle One Left Side Panel Black (For Machine) 744.00$    

980100000030080003 Eagle One Left Side Panel PEARL (For Machine) 744.00$    

980100000030120002 Eagle One Back Panel Steelux (For Machine) 1,320.00$ 

980100000030120004 Eagle One Back Panel 2gr Black (For Machine) 1,020.00$ 

980100000030120006 Eagle One Back Panel 2gr PEARL (For Machine) 1,020.00$ 

980100000030130002 Eagle One Back Panel 3gr Steelux (For Machine) 1,620.00$ 

980100000030130004 Eagle One Back Panel 3gr Black (For Machine) 1,200.00$ 

980100000030130006 Eagle One Back Panel 3gr PEARL (For Machine) 1,620.00$ 

980100000030320001 Eagle One Bottom Back Panel 2gr CHROME (For Machine) 212.40$    

980100000030320002 Eagle One Bottom Back Panel 2gr BLACK (For Machine) 212.40$    



980100000030330001 Eagle One Bottom Back Panel 3gr Steelux (For Machine) 144.00$    

980100000030330002 Eagle One Bottom Back Panel 3gr BLACK (For Machine) 257.70$    

98010000003120 Drain Tray for E1 Prima (with drain option) 570.00$    

980100000056 Musica Lux Right Side Panel (98010000000056) (For Machine) 350.00$    

980100000058 Musica Lux Left Side Panel (98010000000058) (For Machine) 350.00$    

980100000060 Musica Lux Back Panel (98010000000060) For Machine) 300.00$    

980100000066 Right Side Musica SS/Black Panel (980100000000660004) (For Machine) 264.00$    

980100000068 Left Side Musica SS/Black Panel (980100000000680004) (For Machine) 264.00$    

980100000070 Musica Back Panel Black 270.00$    

9801000001.BK Appia Black Left Side Panel with Stainless Steel Insert 270.00$    

980100003000004 Aurelia II Black Right Side Panel Complete 700.00$    

980100003000005 Aurelia II Pearl Right Side Panel Complete  (Ordered as 980100000003000005) (For Machine)700.00$    

980100003000006 Aurelia II Red Right Side Panel Complete (Ordered as 980100000003000006) (For Machine)700.00$    

980100003010004 Aurelia II Black Left Side Panel Complete (For Machine) 700.00$    

980100003010005 Aurelia II Pearl Left Side Panel Complete  (980100000003010005) (For Machine)700.00$    

980100003010006 Aurelia II Red Left Side Panel Complete  (Ordered as 980100000003010006) (For Machine)700.00$    

98010001 Body for water level 57.70$      

9801000554 Adonis 2gr Back Panel Pearl 1,600.00$ 

9801000562 Adonis Left Side Panel Pearl White 926.50$    

9801000562.SS Adonis Left Side Panel Stainless Steel 926.50$    

9801000566 Adonis Right Side Panel Pearl White 926.50$    

9801000566.SS Adonis Right Side Panel Stainless Steel 926.50$    

98010030 Aurelia/Appia Site Glass Assembly (For Machine) 89.00$      

98011000 Aluminum coffee press 24.30$      

98011002 VA Black Eagle Tamper 58MM 96.00$      

98011003 NS Red Handled SS Tamper 58MM  (KPCNS001) (For Machine) 160.00$    

98012002 Piston Expansion Valve Complete 8.30$        

98013002 Safety Valve Piston Complete 5.80$        

98013021 Safety Valve Complete (previously 98013020) (For Machine) 19.30$      

98013022 Safety Valve Complete WAS 98013001) (For Machine) 68.80$      

98013024 Eagle One Safety Valve 2gr-3gr (For Machine) 76.00$      

98013026 E1 Prima Safety Valve (For Machine) 72.00$      

98020000000037 Talento Coffee Chute Assembly Complete 2011 90.00$      

98020000000600 Foot Assembly (High) (1 leg) Black Eagle VA388 (For Machine) 874.00$    

98020000000601 Black Eagle Foot Assembly (Low) (1 leg) 790.00$    

98020004002 Oscar/Jazz Water Level Probe Complete (980200000040020000) (For Machine)22.00$      

980300000000010002 Appia 1 Group Boiler Complete 110v WAS 98030141 (For Machine) 770.70$    

980300000000020001 Appia 2 Group Boiler Complete (For Machine) 1,288.50$ 

9803000000002 Boiler Complete Appia Compact 110V (980300000000600001) 1,008.90$ 

9803000000003 Boiler Complete Appia Compact 220V   (980300000000600002) (For Machine)1,008.90$ 

980300000000810003 Coffee Boiler Complete Talento 2011 (For Machine) 750.00$    

98030000000085 Steam Boiler Complete Talento 2011 (980300000000850003)  For Machine700.00$    

980300000000870003 Boilers Assembly Talento 2011 WAS 980300000088 (For Machine) 1,068.00$ 

980300000000920001 Musica Boiler for Silenced version 230v (For Machine) 528.00$    

980300000000920002 Musica Boiler for Silenced version 110v (For Machine) 600.00$    

98030000000094 Cylinder Assembly Expansion Musica P.O. 144.00$    

98030000000096 Prontobar Coffee Boiler Complete (980300000000960002) (For Machine) 550.00$    

98030000000098 Prontobar Steam Boiler Complete (980300000000980002) (For Machine) 555.00$    

980300000000990001 Prontobar Steam Boiler (For Machine) 795.00$    

980300000001200002 USE 980300000001200002.U - T3 Boiler SX VA358 (For Machine) 495.00$    



980300000001210002 USE 980300000001200002.U - T3 Boiler DX VA358 (For Machine) 495.00$    

980300000001300002 USE 980300000001200002.U - T3 Boiler Complete Aurelia II, older Black Eagle (For Machine)495.00$    

98030000000132 Aurelia II T3 - WBC Complete Boiler 2 Group (For Machine) 1,500.00$ 

98030000000137 (ADD 1 07300298) Flowmeter Assembly Aurelia II T3  / Black Eagle (For Machine)192.00$    

98030000000140 Complete Semi Tubes (For Machine) 74.80$      

98030000000157 Aurelia / Aurelia II Complete Boiler 2 Group  (For Machine) 1,355.50$ 

98030000000158 Aurelia / Aurelia II Complete Boiler 3 Group   (IF FOR Aurelia 1 Turn Heat Exchangers) For Plus add 04900154 (For Machine)1,600.00$ 

98030000000159 Aurelia / Aurelia II 4gr Boiler Complete (For Machine) 1,650.00$ 

980300000002050003 SS Microbar Boiler Assembly 2008 110V (For Machine) 806.50$    

980300000002200004 Microbar II Complete Coffee Boiler 110v (for Machine) 555.00$    

980300000002210004 Microbar II Complete Steam Boiler 110v (For Machine) 540.00$    

980300000002600002 Oscar II Boiler Complete 110v (For Machine) 595.00$    

980300000007010002 Complete Boiler Appia II 1gr 110v (For Machine) 1,100.00$ 

98030000000702 Appia II Complete Boiler 2 Group (For Machine) 1,025.00$ 

98030000000703 Appia II Complete Boiler 3 Group (For Machine) 1,260.00$ 

980300000007040001 Appia II Compact Complete Boiler 220v  (For Machine) 850.00$    

980300000007040002 Appia II Compact Complete Boiler 110v (For Machine) 850.00$    

98030000000752 Appia Life 2GR Boiler Complete (For Machine) 1,320.00$ 

98030000000753 Appia Life 3GR Boiler Complete (For Machine) 1,650.00$ 

980300000007550002 Appia Life Compact Boiler Complete 110v  (For Machine) 1,260.00$ 

98030000000950 Steam Boiler Theresia AD 925.00$    

98030000000982 VA388 Boiler Complete 2 Group (For Machine) 1,345.00$ 

98030000000983 VA388 Boiler Complete 3 Group (For Machine) 1,305.00$ 

980300000009880002 USE 980300000001200002.U - Assembly Coffee T3  Boiler with copper pipes VA388 (For Machine)495.00$    

980300000009890002 USE 980300000001200002.U   Coffee Boiler Assembly VA388 (For Machine)495.00$    

98030000000992 Black Eagle Boiler Complete 2 Group "Full Copper Body". (For Machine)1,250.00$ 

98030000000993 Black Eagle Boiler Complete 3 Group (For Machine) 1,550.00$ 

98030000001122 VA358 Boiler Complete 2 Group (For Machine) 1,305.00$ 

98030000001123 VA358 Boiler Complete 3 Group (For Machine) 1,464.00$ 

98030000001212 VA358 Leva Boiler Complete 2gr (For Machine) 1,491.00$ 

98030000001213 VA358 Leva Boiler Complete 3gr (For Machine) 1,980.39$ 

980300000013000002 USE 980300000013000002.E1P       E1 Prima Coffee Boiler (For Machine)510.00$    

980300000013000002.E1PE1 Prima Coffee Boiler (For Machine) 510.00$    

980300000013010002 E1 Prima Steam Boiler 120v 1600w (For Machine) 720.00$    

980300000013010003 E1 Prima Steam Boiler 120v 1200w  (For Machine) 720.00$    

980300000013020000 Complete Boiler Eagle One 2gr (For Machine) 930.00$    

980300000013030000 Complete Boiler Eagle One 3gr (For Machine) 1,000.00$ 

980300000013100002 T3 Coffee Boiler Eagle One (For Machine) 456.00$    

98030000002032 Aurelia Wave 2gr Complete Boiler T3 Version  (For Machine) 1,550.00$ 

980300000020380002 USE 980300000001200002.U - Aurelia Wave T3 Boiler (For Machine) 495.00$    

98030000002050 E1 Prima Flowmeter T3 External Gigler .5  (For Machine) 216.00$    

98030000002062 Aurelia Wave 2gr Complete Boiler Digit Version  (For Machine) 1,710.00$ 

98030000002063 Aurelia Wave 3gr Complete Boiler  (For Machine) 1,950.00$ 

98030054 Complete Boiler Aurelia 4 Group (98030000000159) (For Machine) 1,890.00$ 

98030055 Teflon heat exchange tube (Needs to be Flared) (For Machine) 13.60$      

98030058 Tube safety valve  Aurelia (For Machine) 39.70$      

98030059 Tube 1/4 1/4 pressurestat (For Machine) 39.00$      

98030060 Tube 3/8 1/4 boiler fill Aurelia (For Machine) 45.30$      

98030061 Tube water valve (For Machine) 81.50$      

98030062 Tube 2gr flowmeter (For Machine) 145.20$    



98030063 Tube 3gr flowmeter 220.00$    

98030064 Tube 4 Group Flowmeter (For Machine) 180.00$    

98030065 Tube 1/4 straight F-F 23.00$      

98030066 3/8 Tube Aurelia 3 Group" 21.00$      

98030067 Tube flowmeter/heat exchange R GR (For Machine) 30.10$      

98030068 Tube flowmeter/heat exchange L GR (For Machine) 29.80$      

98030069 Pipe from Expansion Valve to Drain 24.00$      

98030070 Tube D.8 1/4, 3/8 Left Exchanger Aurelia Semi (For Machine) 22.50$      

98030071 Tube D.8 1/4, 3/8 Right Exchanger Aurelia Semi (For Machine) 27.00$      

98030075 Tube gauge to pump Aurelia/Appia (For Machine) 43.20$      

98030076 Tube gauge to boiler Aurelia (For Machine) 35.10$      

98030077 Tube 3/8 3/8 upper water level (For Machine) 49.50$      

98030078 Tube 3/8 3/8 lower water level (For Machine) 39.50$      

98030079 Tube left steam to boiler Aurelia (For Machine) 34.30$      

98030080 Aurelia Tube right steam to boiler (For Machine) 33.10$      

98030081 Hot Water Tube (For Machine) 42.96$      

98030082 Tube 1/4 1/4 hot water wand Aurelia (For Machine) 31.00$      

98030083 Tube 1/4 1/4 steam to capp Aurelia 30.80$      

98030084 USE 98030084.S and plug one pipe with 07300128 -$          

98030084.S Tube 3/8-1/4 Smartwand/CupWarmer 40.60$      

98030085 Tube upper for lower group Aurelia (For Machine) 42.50$      

98030086 Tube lower for lower group Aurelia (For Machine) 48.10$      

98030087 Tube upper for raised group Aurelia (For Machine) 44.30$      

98030088 Tube lower for raised group Aurelia (For Machine) 49.60$      

98030096 3/8-1/8 Tube Boiler-Pressurestat Sensor 50.00$      

98030122 3/8 Tube to discharge Aurelai 2gr (For Machine) 17.40$      

98030123 3/8 Tube to discharge Aurelia 3gr (For Machine) 17.40$      

98030143 Appia 3gr Boiler (NOT COMPLETE)  (For Machine) 950.00$    

98030150 Boiler to Solenoid Tube 3/8-1/4 Appia 1gr 38.70$      

98030151 Boiler to Hot Tap Copper Tube for Appia 1gr w/Auto Steam 96.50$      

98030154 Boiler autofill tube 1/4-3/8 Appia 1gr (For Machine) 29.80$      

98030155 Tube 1/4-1/4 Boiler Appia 1 Group 39.00$      

98030156 Upper heat exchange tube 3/8-3/8 Appia 1gr (For Machine) 47.50$      

98030158 Lower heat exchange tube 3/8-3/8 Appia 1gr 46.50$      

98030162 Flow meter to boiler tube 1/4 1/4 3/8 Appia 1gr (For Machine) 33.40$      

98030164 Water inlet tube 1/4 1/4 1/4 Appia 1gr 55.70$      

98030165 Flowmeter by-pass tube Semi-Auto only Appia 1-2-3gr (For Machine) 42.50$      

98030166 Lower sight glass tube 3/8 1/8 Appia 1gr (For Machine) 32.70$      

98030168 Upper sight glass tube 3/8 3/8 Appia 1gr (For Machine) 33.50$      

98030170 Tube 3/8 - 1/4 boiler Appia 1g 31.50$      

98030171 Solenoid to Auto Steam tube 1/4 1/4  Appia 1gr 32.70$      

98030172 Steam pressure tube 1/4-1/8 Appia 1gr (For Machine) 33.50$      

98030174 Boiler to Pressurestat tube 1/4  1/4 Appia 1gr (For Machine) 34.50$      

98030176 Rt steam tube 3/8 3/8 Appia 1gr (For Machine) 36.90$      

98030178 Boiler to pressure release tube 3/8 1/4 Appia 1gr 37.10$      

98030182 Tube 3/8-3/8 Appia 2-3gr (For Machine) 26.30$      

98030184 Tube 1/4-1/4 Boiler - Pressurestat Appia 2-3 Group 24.00$      

98030186 Tube 3/8 Boiler Left Steam Tap (For Machine) 25.80$      

98030187 Tube 3/8 Boiler Right Steam Tap 25.80$      

98030188 Tube - Boiler to Safety Valve 24.00$      



98030190 Tube 1/4-1/8 Boiler to Gauge Appia 2-3 Group 24.00$      

98030192 Boiler Tube 3/8-1/4 Appia 2-3gr 28.50$      

98030194 Tube 3/8 1/4 Right Doser Exch. Appia / Appia Life 2/3 group 28.20$      

98030196 Tube 3/8-1/4 Left Doser Exchanger Appia / Appia Life 2-3gr (For Machine) 25.00$      

98030197 Tube 3/8 1/4 Boiler to Hot Water Valve Appia 2-3 Group 27.00$      

98030202 Upper Hx Tube for Lowered Head (For Machine) 27.60$      

98030204 Lower Hx Tube for Lowered Head 75.00$      

98030206 Upper Tube 3/8-3/8 Appia 2-3gr (For Machine) 32.50$      

98030208 Lower Tube 3/8-3/8 Appia/Aurelia II 2-3gr (For Machine) 48.80$      

98030212 Appia 2gr Tube to Flowmeters (For Machine) 96.00$      

98030264 Upper Left Tube 3/8 Raised Group Appia Compact" (For Machine) 36.00$      

98030265 Upper Right Tube 3/8 Raised Group Appia Compact" (For Machine) 42.00$      

98030266 Lower Tube 3/8 Raised Group Appia Compact" (For Machine) 42.00$      

98030268 Steam Tube for Compact (For Machine) 36.00$      

98030272 Brass Tube Pressurestat to Gauge (For Machine) 90.60$      

98030276 Tube 3/8-1/4 Boiler-Hot Water Appia Compact  (For Machine) 36.00$      

98030278 Flowmeter Brass Tube Appia & Appia II Compact 160.00$    

98030280 Tube 1/4-3/8 Doser-Left Exchanger Appia Compact (For Machine) 27.00$      

98030281 Brass Tube Compact (For Machine) 33.00$      

98030287 Boiler Fill Tube Compact (For Machine) 60.00$      

98030289 Tube 1/4 Appia Compact 27.50$      

98030292 Teflon Tube for Exchanger D.6 x 180 mm (Needs to be Flared) (For Machine)30.00$      

98030294 Steam Tube Appia Compact 42.00$      

98030298 Tube 3/8-1/4 Boiler-Safety Valve Appia Compact (For Machine) 40.80$      

98030306 Microbar SS Boiler only (For Machine) 270.00$    

98030320 Black Eagle Safety Valve Pipe (For Machine) 29.00$      

98030321 Adonis Steam Pipe (For Machine) 39.00$      

98030322 Tube 6x8 Left Steam Tap - EV 3/8 1/4 Adonis 24.00$      

98030324 Tube 6x8 EV 3 Ways Left Steam- Boiler 1/4 3/8 22.50$      

98030326 Hot Water Ev Boiler Brass Tube 25.50$      

98030328 Hot Water Tap-Mixer Brass Tube 61.50$      

98030364 Draft Pipe With 1/8 M-F Fitting (For Machine) 68.50$      

98030366 Talento Brass Boiler Tube (For Machine) 40.00$      

98030380 Lower Hot Water Boiler Tube Prontobar (For Machine) 22.80$      

98030382 Lower Steam Boiler Tube - Prontobar 33.00$      

98030384 Upper Hot Water Boiler Tube -  Prontobar (For Machine) 90.00$      

98030386 Upper Steam Boiler Tube - Prontobar 80.50$      

98030400 1/4-3/8 Boiler / Steam Valve Brass Tube 28.50$      

98030406 1/4-1/4-1/4 Upper Circulation Brass Tube (For Machine) 61.50$      

98030410 SS Cylinder Expansion (For Machine) 60.00$      

98030442 Pipe Boiler-Steam Valve Oscar II 25.50$      

98030444 Pipe Boiler-Pressure Switch Oscar II 25.50$      

98030446 Top Pipe Heat Exchanger-Group Oscar II (For Machine) 29.40$      

98030448 Bottom Pipe Heat Exchanger Group Oscar II 28.80$      

98030500 Black Eagle Coffee Boiler Fitting (For Machine) 21.00$      

98030501 T3 Coffee Boiler Teflon Injector (For Machine) 15.00$      

98030510 Aurelia II Steam Tube, right side 30.00$      

98030512 Aurelia II Steam Tube, left side 27.00$      

98030514 Aurelia II Steam Tube, right side (For Machine) 38.50$      

98030516 Aurelia II Steam Tube, left side (For Machine) 31.50$      



98030518 Aurelia II Right Steam to Boiler Brass Tube ( Will be 98060000000148)(For Machine)28.50$      

98030520 Aurelia II Left Steam to Boiler Brass Tube (Will be 98060000000149)(For Machine)28.50$      

98030522 Aurelia II Autosteam Tube Boiler to Valve 24.00$      

98030524 Aurelia II Left Brass Tube Autosteam (For Machine) 45.00$      

98030525 Aurelia II Right Brass Tube Autosteam 45.00$      

98030526 Aurelia II Brass Tube  (For Machine) 34.50$      

98030528 Aurelia II Hot Water Brass Tube 34.50$      

98030530 Aurelia II Lower Group, Upper Brass Tube (For Machine) 30.00$      

98030532 Aurelia II Lower Group, Lower Brass Tube (For Machine) 45.00$      

98030534 Aurelia II Raised Group, Upper Brass Tube (For Machine) 30.00$      

98030536 Aurelia II Raised Group, Lower Brass Tube (For Machine) 33.00$      

98030538 Aurelia II Upper Level Brass Tube (For Machine) 39.00$      

98030540 Aurelia II Lower Level Brass Tube (For Machine) 34.50$      

98030542 Aurelia II Brass Tube (For Machine) 43.50$      

98030544 Aurelia II Upper Water Gauge Brass Tube (For Machine) 34.50$      

98030548 Aurelia II Fill Pipe (For Machine) 50.50$      

98030550 Tube Aurelia II (For Machine) 27.00$      

98030552 Heat Exchange to Flowmeter Aurelia II (For Machine) 42.00$      

98030554 Aurelia II Semi Right Inlet Tube (For Machine) 28.50$      

98030556 Aurelia II Semi Inlet Tube 29.40$      

98030582 Right Tube Easy Cream Wand Aurelia II (For Machine) 27.00$      

98030583 Left Tube Easy Cream Wand Aurelia II / Aurelia Wave (For Machine) 30.00$      

98030587 New Style Aurelia II Safety Valve Pipe (For Machine) 43.50$      

98030588 New Style Aurelia II Pressurestat Tube S-V (For Machine) 42.00$      

98030589 Aurelia II Digit Brass Tube Pressurestat to Boiler (To Machine) 31.50$      

98030610 Appia II 2-3gr Boiler to Pressurestat Tube 45.00$      

98030612 Appia II Pressurestat to Gauge Brass Tube (For Machine) 40.50$      

98030614 Upper Level Tube Appia II 2-3 Group (For Machine) 25.50$      

98030618 Right Brass Tube Steam Wand Appia II 2-3gr (For Machine) 30.50$      

98030620 Left Brass Tube Steam Wand Appia II 2-3gr (For Machine) 31.50$      

98030624 Cold Water Mixing Pipe - Hot Water Wand Appia II 2-3 Group 24.00$      

98030626 Tube Boiler to Hot Water Wand  Appia II 2-3 Group (For Machine) 28.50$      

98030628 Appia II 2-3 Group Boiler Tube (For Machine) 31.50$      

98030640 Appia II Compact Rt Steam Pipe (For Machine) 36.00$      

98030642 Appia II Compact Left Steam Pipe  (For Machine) 36.00$      

98030644 Autosteam Pipe 31.20$      

98030646 Pipe, Boiler to Safety Valve 29.90$      

98030650 Boiler - Pressurestat Tube Appia II 1 Group (For Machine) 25.80$      

98030651 Appia 1 Group Pressure Guage Brass Tube (For Machine) 39.00$      

98030652 Upper Brass Tube Site Glass Appia II 1 Group (For Machine) 29.70$      

98030653 Lower Brass Tube Site Glass Appia II 1 Group (For Machine) 28.20$      

98030654 Brass Tube Appia II 1 GRoup 31.20$      

98030655 Upper Brass Tube Appia II 1gr Group to Boiler (For Machine) 45.00$      

98030656 Lower Brass Tube Appia II 1gr Group to Boiler 49.80$      

98030657 Appia II 1gr Right Tube (For Machine) 31.45$      

98030658 Appia II 1gr Tube 34.20$      

98030659 Appia II 1gr Tube (For Machine) 26.10$      

98030660 Appia II 1gr Hot Water Tube 26.40$      

98030661 Brass Tube Appia II 1gr 26.40$      

98030706 Appia Life Pipe Boiler-Pressurestat (For Machine) 24.00$      



98030707 Appia Life XT Pipe Boiler-Sensor Pressurestat (For Machine) 40.00$      

98030708 Appia Life Pipe Boiler-Manometer (For Machine) 36.00$      

98030710 Appia Life Boiler Loading Pipe (For Machine) 93.00$      

98030712 Appia Life Flowmeter Crosspiece Pipe 2gr (For Machine) 75.00$      

98030713 Appia Life Flowmeter Crosspiece Pipe 3gr (For Mchine) 132.00$    

98030718 Appia Life Right Steam Wand Pipe (For Machine) 48.00$      

98030720 Appia Life Left Steam Wand Pipe (For Machine) 43.50$      

98030726 Appia Life Pipe Boiler-Hot Water Wand (For Machine) 42.00$      

98030728 Appia Life Connection Pipe Safety Valve (For Machine) 40.00$      

98030730 Boiler to E.V. Easy Cream Tube Appia Life (For Machine) 42.00$      

98030750 Tube - Crosspiece Pressure Switch - Manometer 96.00$      

98030754 EV Pipe Tap-Level Appia Life Compact (For Machine) 87.50$      

98030756 Appia Life Compact Brass Tube Right Exchanger (For Machine) 28.00$      

98030760 Pipe Manifold to Level (For Machine) 32.50$      

98030764 Boiler to Solenoid Valve Pipe - Easy Cream Right (For Machine) 38.20$      

98030774 Solenoid Valve to Boiler Pipe 1gr (For Machine) 113.50$    

98030815 Black Eagle 2gr Flowmeter Pipe (For Machine) 84.00$      

98030816 Black Eagle 3gr Flowmeter Pipe (For Machine) 138.00$    

98030818 Brass Tube Boiler to Pressure Sensor Black Eagle 39.00$      

98030821 Main Boiler - Pressurestat Pipe VA388 "FULL COPPER BODY" Only (For Machine)78.00$      

98030822 Right Brass Steam Tube (For Machine) 37.80$      

98030824 Left Brass Steam Tube (For Machine) 43.80$      

98030826 Hot Water Brass Tube 31.50$      

98030828 Pipe for Mixing Valve 132.00$    

98030832 Tube Autorefill Valve / Pump Black Eagle 2gr  WAS 98030813 73.50$      

98030846 Black Eagle Easy Cream Tube to Boiler (For Machine) 40.50$      

98030848 Flowmeter Main Boiler Pipe   - VA388 3gr Group 1 (For Machine) 46.50$      

98030849 Flowmeter Main Boiler Pipe - VA388 3gr Group 2 40.50$      

98030850 Flowmeter Main Boiler Pipe -  VA388 3gr Group 3 40.50$      

98030851 Main Boiler -  Coffee Boiler Pipe VA388 Group 1 (For Machine) 34.50$      

98030852 Main Boiler - Copper Coffee Boiler Pipe VA388 Group 2 (For Machine) 31.50$      

98030853 Coffee Boiler Pipe - Main Boiler  VA388 Group 3 31.50$      

98030854 Coffee Boiler - Group Pipe VA388 Group 1 (For Machine) 31.50$      

98030855 Flowmeters - Main Boiler Pipe VA388 2gr Group 1 (For Machine) 31.50$      

98030856 Flowmeters - Main Boiler Pipe VA388 2gr Group 2 (For Machine) 40.50$      

98030864 Flowmeter Main Boiler Pipe -  VA388 3gr Group 3 (previously 98030850) 44.50$      

98030900 Tube Solenoid Valve Level - Crosspiece (Fro Machine) 40.00$      

98030902 VA358 Brass Tube 119.40$    

98030909 VA358 Heat Exchange Tube DX (For Machine) 37.20$      

98030911 VA 358 Heat Exchange Tube SX 37.20$      

98030914 Lowered Group Bottom Pipe VA358 43.50$      

98030915 Raised Group Brass Tube VA 358 50.40$      

98030916 Raised Group Brass Tube VA 358 45.00$      

98030917 VA358 Tube/ Boiler to Digital Pressurestat 34.50$      

98030918 BOILER - PRESSURE GAUGE TUBE VA (for machine) 37.74$      

98030919 VA358 Steam Tube Right 38.00$      

98030920 VA358 Steam Tube Left 4.10$        

98030921 VA358 Brass Tube (For Machine) 36.60$      

98030925 VA358 Brass Tube DX (For Machine) 45.12$      

98030926 VA358 Brass Tube SX 47.70$      



98030928 Steam Tube â€“ Auto Tank Side 28.50$      

98030929 Steam Tube â€“ Auto Valve Side 28.50$      

98030960 Copper Pipe from Tank to Left Hand Steam Valve (For Machine) 33.60$      

98031104 Aurelia Wave Upper Boiler to Raised Group Tube (For Machine) 60.00$      

98031106 Aurelia Wave Lower Boiler to Raised Group Tube (For Machine) 60.00$      

98031112 Wave Tube Boiler to Pressurestat (For Machine) 37.50$      

98031114 Aurelia Wave Brass Tube for Hot Water Mixer (For Machine) 114.00$    

98031116 Aurelia Wave Tube to Flowmeter Right Side (For Machine) 50.00$      

98031118 Aurelia Wave Left Flowmeter Boiler Tube (For Machine) 52.00$      

98031124 Coffee Boiler Tube - Aurelia Wave T3 (For Machine) 98.30$      

98031126 Aurelia Wave Right Boiler to Shutoff Tube (For Machine) 40.00$      

98031128 Aurelia Wave Right Shutoff to Steam Valve Tube (For Machine) 40.00$      

98031130 Aurelia Wave Left Boiler to Shutoff Tube (For Machine) 40.00$      

98031132 Aurelia Wave Left Shutoff to Steam Valve Tube (For Machine) 40.00$      

98031134 Pressurestat-Boiler Pipe Aurelia Wave (For Machine) 36.00$      

98031200 Stainless Steel Welded Coffee Boiler D42.5 (For Machine) 205.00$    

98031210 Boiler Loading Tube Eagle One (For Machine) 34.50$      

98031212 Pipe solenoid valve level-Tap Eagle One (For Machine) 34.50$      

98031214 Pipe Solenoid Valve Level Connection Eagle One (For Machine) 31.80$      

98031216 Con. Pipe-Con. Flow.+ Sol.Valve Mixer Eagle One (For Machine) 95.00$      

98031218 Right Pipe Flowmeter-Boiler Eagle One (For Machine) 36.00$      

98031220 Left Pipe Flowmeter Eagle One (For Machine) 36.00$      

98031222 Connection Flowmeter 2gr Eagle One (For Machine) 95.00$      

98031223 Connection Flowmeter 3gr Eagle One (For Machine) 108.00$    

98031228 Mixer Connection Hot Water Eagle One (For Machine) 105.00$    

98031230 Pipe Boiler - Pressure Sensor Eagle One (For Machine) 34.50$      

98031232 Pipe Boiler-Pressure Switch Eagle One (For Machine) 34.50$      

98031234 Safety Valve Tube Eagle One (For Machine) 33.80$      

98031242 Boiler Pipe-Sol. Valve Easy Cream Right 2gr Eagle One (For Machine) 31.50$      

98031243 Boiler Pipe-Sol. Valve Easy Cream Right 3gr Eagle One (For Machine) 34.50$      

98031247 Pipe Sol.Valve Easy Cream-Right 3GR Wand Eagle One (For Machine) 34.50$      

98031250 Boiler Pipe-Left Solenoid Valve Easy Cream Eagle One (For Machine) 31.50$      

98031252 Solenoid Valve Easy Cream Pipe-Left Wand Eagle One (For Machine) 34.50$      

98031264 E1 Prima Flowmeter Brass Pipe (For Machine) 120.00$    

98031266 E1 Prima Doser Pipe - Coffee Boiler (For Machine) 36.00$      

98031268 E1 Prima Pressure Sensor Hose (For Machine) 84.00$      

98031272 Coffee Boiler to Group Pipe (For Machine) 32.50$      

98031274 E1 Prima Boiler Pipe - Hot Water Solenoid Valve (For Machine) 36.00$      

98031276 E1 Prima Hot Water Wand  Pipe (For Machine) 40.50$      

98031278 E1 Prima Boiler Pipe - Steam Solenoid Valve (For Machine) 36.00$      

98031280 E1 Prima Steam Solenoid - Steam Wand Pipe (For Machine) 40.50$      

980400000000020003 Appia / Compact Left Group Complete 220v (For Machine) 540.00$    

980400000000020004 Appia / Compact Left Complete Group 110v (For Machine) 540.00$    

980400000000030003 Appia Compact Right Group Complete 220v (For Machine) 540.00$    

98040000000018 Talento Complete Upper Piston (For Machine) 75.85$      

98040000000028 Machined Group Talento 240.00$    

98040000000030 Talento Complete Group 2008 (For Machine) 1,600.00$ 

98040000000032 Adonis Group Head Complete (980400000000320002) (For Machine) 650.00$    

980400000000470002 Black Eagle Complete Group Head (For Machine) 700.00$    

98040000000060 Prontobar Complete Group (For Machine) 1,000.00$ 



980400000001000002 Oscar II Complete Group 110v (For Machine) 312.00$    

980400000001300002 Microbar 2012 Group Assembly 110v (Will NO LONGER Be Available)  (For Machine)775.00$    

980400000001400003 Microbar II Brew Group Complete 110v (For Machine) 900.00$    

98040000000160 Adapter Kit  L. Capsule Point" 300.00$    

98040000000167 Illy Capsule Group Complete Kit Appia & Aurelia 560.00$    

98040000000168 Illy Capsule Group Complete Kit Oscar & Musica (For Machine) 560.00$    

98040000000181 Aurelia II T3 WBC Group Head Complete 875.00$    

980400000001900001 Aurelia Wave T3 Complete Group (For Machine) 775.00$    

980400000002050003 Aurelia Wave Complete Group (For Machine) 570.00$    

980400000005000005 Appia II Complete Group 110v 540.00$    

980400000005000006 Appia II Complete Group 220v (For Machine) 540.00$    

980400000005120002 Appia II Compact Complete Right Group 220v (980400000005020007) (For Machine)540.00$    

980400000005120003 Appia II Compact Complete Right Group 110v (980400000005020008) (For Machine)540.00$    

98040010 Capsule Perforator Oscar illy (For Machine) 55.00$      

980500128 VA Naked Portafilter Handle (For Machine) 300.00$    

98050020 Adonis/Oscar II Grey Handled Portafilter 84.90$      

98050023 Adonis / Oscar II Portafilter 1 Spout 90.00$      

98050024 Adonis / Oscar II Portafilter 2 Spout (For Machine) 90.00$      

98050028 Portafilter Handle Leather (For Machine) 106.50$    

98050034 Portafilter Complete Oscar illy 130.00$    

98050037 Nuova Bottomless Portafilter PLASTIC Handle (KPNP0001) (For Machine)150.00$    

98050060 VA 358 Portafilter No Spout- No Basket 96.00$      

98050061 Portafilter 1 Spout Assembly/ Chrome Cap (For Machine) 120.00$    

98050062 Portafilter 2 Spout Assembly/ Chrome Cap (For Machine) 122.00$    

98050091.VA VA Single Portafilter Stainless Steel w/o Basket (For Machine) 280.00$    

98050092.PN E1 Prima Leather Portafilter 2 spout (For Machine) 320.00$    

98050092.VA VA Double Portafilter Stainless Steel w/o Basket (For Machine) 280.00$    

9806000000 Venus Century Steam Valve Complete (9806000000400000) 530.00$    

98060000000052 Adonis Steam Handle Assembly (For Machine) 54.00$      

98060000000080 Steam Tap w/ Stainless Wand with Spout (For Machine) 196.00$    

98060000000110 Complete White Eagle Steam Valve, No Wand (For Machine) 105.00$    

98060000000111 Aurelia II/Appia II Steam Valve Complete without Wand (For Machine) 105.00$    

98060000000136 Aurelia II Steam Valve Assembly w/Cool Touch Wand (For Machine) 410.00$    

98060000000138 Aurelia II Autosteam Wand Assembly (For Machine) 240.00$    

98060000000140 Aurelia II/ Aurelia Wave Curved Autosteam Wand (For Machine) 320.00$    

98060000000148 Aurelia II Digit/T3 Right Side Steam to Boiler Tube Assembly (For Machine)98.50$      

98060000000149 Aurelia II Digit/T3 Left Side Steam to Boiler Assembly 93.00$      

98060000000150 Aurelia II Autosteam Assembly (Electrovalve + Tubing) 204.00$    

98060000000153 Aurelia II Double Curve Auto Steam Assembly (04100072 (5.5) Electrovalve + Tubing) WAS 98060000000150.5300.00$    

98060000000158 Right Assembly Shut-off Valve & Tubes Easy Cream Aurelia II (For Machine)110.00$    

98060000000159 Left Assembly  Shut-off Valve & Tubes Easy Cream Aurelia II (For Machine)110.00$    

98060000000162 Autosteam Electrovalve Assembly Right Side (For Machine) 365.00$    

98060000000163 Autosteam Electrovalve Assembly Left Side (For Machine) 365.00$    

98060000000176 Steam valve Complete w/ Cool Touch Wand Aurelia Wave (For Machine) 420.00$    

98060000000182 Right Handle Complete Aurelia Wave (For Machine) 42.00$      

98060000000183 Right Handle Complete Aurelia Wave w/ Light Control (For Machine) 70.80$      

98060000000184 Left Handle Complete Aurelia Wave (For Machine) 42.00$      

98060000000185 Left Handle Complete Aurelia Wave w/ Light Control (For Machine) 70.80$      

980600000001920002 Assembly Support+E.V. Easy Cream Assembly Aurelia Wave Volumetric (For Machine)930.00$    

980600000001930002 Assembly Support+E.V. Easy Cream Assembly Aurelia Wave Digit T3  (For Machine)1,036.10$ 



98060000000198 Aurelia Wave Right Steam Pipe Assembly w/ Shutoff Valve (For Machine) 102.00$    

98060000000199 Aurelia Wave Left Steam Pipe Assembly w/ Shutoff Valve (For Machine) 102.00$    

98060000000250 Complete Appia II Steam Wand Assembly w/ Valve (For Machine) 300.00$    

98060000000252 Complete Appia II Cool Touch Steam Wand Assembly w/ Valve 310.00$    

98060000000254 Appia II Turbo Cream Assembly w/Valve (For Machine) 300.00$    

980600000002700001 Appia Life Electrovalve Assembly + Right Steam Pipes (For Machine) 330.00$    

980600000002710001 Appia Life Electrovalve Assembly + Left Steam Pipes  (For Machine) 330.00$    

980600000002720002 Appia Life Support Assembly + Electrovalve Easy Cream (For Machine) 912.00$    

98060000000300 Black Eagle Steam Valve Complete w/Cool Touch Wand (For Machine) 425.00$    

98060000000302 Steam Knob Assembly for Black Eagle (For Machine) 50.00$      

98060000000304 Easy Cream Wand & Probe Assembly Aurelia Wave  (For Machine) 510.00$    

980600000003200002 Assembly Support+E.V. Easy Cream Assembly VA388  VA358 (For Machine)1,036.10$ 

980600000003210001 Black Eagle Right Turbo Cream Electrovalve Assembly (For Machine) 468.00$    

980600000003210002 Black Eagle Right Autosteam Electrovalve Assembly (For Machine) 468.00$    

980600000003220001 Black Eagle Left Turbo Cream Electrovalve Assembly (For Machine) 468.00$    

980600000003220002 Black Eagle Left Autosteam Electrovalve Assembly (For Machine) 468.00$    

98060000000330 Black Eagle Right AS Assembly T3 (For Machine) 132.00$    

98060000000332 Black Eagle Left AS Assembly T3 (For Machine) 132.00$    

980600000003550000 East Cream Assembly VA358 (For Machine) 480.00$    

98060000000370 VA358 Right Steam Pipe Assembly w/ Shutoff Valve (For Machine) 103.50$    

98060000000372 VA358 Left Steam Pipe Assembly w/ Shutoff Valve (For Machine) 105.50$    

980600000005080001 Easy Cream Eagle One (For Machine) 960.00$    

98060000000510 Right Side Steam Wand with Temp Probe (For Machine) 828.00$    

98060000000512 Left Side Steam Wand with Temp Probe (For Machine) 828.00$    

98060000000514 Steam Knob Assembly Eagle One (For Machine) 150.00$    

98060000008 Adonis Complete Right Steam Tap (98060000000008) (For Machine) 245.00$    

98060000012 Adonis Complete Steam Tap (98060000000012) (For Machine) 312.00$    

98060000013 Adonis Complete Left  Auto Steam Assembly 300.00$    

98060010 Talento Steam Wand (For Machine) 108.00$    

98060010.A SS Steam Wand Talento 54.00$      

980600110 Maverick Steam Lever Kit (For Machine) 148.20$    

980600118 Complete Steam Wand - Maverick (For Machine) 300.00$    

98060021 USE KLVCT006 - Musica / Oscar II Steam Wand (WAS 98050020) (For Machine)300.00$    

98070000000014 Combined Hot Water Tap Adonis Lower Group 300.00$    

98070000000050 Hot Water Wand with Valve (Long Version) 205.00$    

980700000000560 Aurelia II Complete Hot/Cold Mixing Assembly (980700000000560002) (For Machine)276.00$    

980700000000660002 Aurelia Wave Complete Hot/Cold Mixing Assembly 220v 482.68$    

98070000000122 Black Eagle Hot Water Arm & Assembly (For Machine) 192.00$    

980700000001260002 Black Eagle Complete Mixing Valve Assembly (WAS 980700000001260000) (For Machine)460.40$    

980700106 Hot Water Wand - Maverick (For Machine) 205.00$    

98070021 Water Wand Musica 70.50$      

98110001 One-way Check Valve (For Machine) 18.00$      

98120001 Neplax Valve Viton 16,5  Bar 1/8 (Expansion Valve) (For Machine) 25.50$      

98120002 Neplax Viton 6.5  Bar Valve 1/8" (For Machine) 50.00$      

98120003 Neplax Viton 10 Bar Valve 1/8 (For Machine) 60.00$      

98120005 Brew Boiler Expansion Valve 12 bar (For Machine) 48.00$      

98140000000030 Right Grinder Assembly - ProntoBar (For Machine) 500.00$    

98140000000031 Right Coffee Chute Complete Assembly Prontobar/ Microbar II (For Machine)52.50$      

98140000000032 Left Grinder Assembly - ProntoBar (For Machine) 500.00$    

98140000000033 Left Coffee Chute Complete Assembly Prontobar (For Machine) 52.50$      



98160000000047 Appia Compact Semi Faceplate Raised (For Machine) 298.00$    

98160000000142 Prontobar Group Temp Probe Assembly (For Machine) 216.50$    

98160000000196 Group Temperature Probe Talento (For Machine) 50.00$      

98160000000388 Aurelia II T3 Group Temp Probe 67.50$      

98160000000400 Aurelia II Ballist & Cabling Set (For Machine) 384.00$    

98160000000440 Display Assembly TFT & Rotary Switch Board Aurelia II (For Machine) 1,597.50$ 

98160000000520 Aurelia Wave Easy Cream Transformer (For Machine) 240.00$    

98160000000803 Black Eagle Front Display Complete (For Machine) 1,600.00$ 

98160000000806 Gravimetric Display (For Machine) 1,500.00$ 

98160000000815 TFT Display Remote Control VA388 (For Machine) 1,590.00$ 

98160000000816 TFT Display Gravimetric  Remote Control VA388 1,525.00$ 

98160000000820 Black Eagle/ Mythos II  Gravimetric Scale Component Load Cell (For Machine)132.00$    

98160000000900 Display Board Assembly VA358 (For Machine) 1,430.00$ 

98160000002019 Display TFT Aurelia Wave (For Machine) 780.00$    

98160000002020 Display Aurelia Wave Digit/T3 (For Machine) 1,500.00$ 

98160000002029 Optional Main Board Assembly Aurelia Wave (For Machine) 760.00$    

98160000002090 Filter Holder Sensor Aurelia II / Aurelia Wave (For Machine) 240.00$    

98160000430002 Appia Compact V Complete Touchpad Raised (981600000000430002) (For Machine)365.00$    

98160001 Grey group cover Appia V 1gr (For Machine) 176.00$    

98160003 Appia 1 Group Semi Group Cover w/ Adhesive Sticker (For Machine) 162.00$    

98160005 Touchpad assembly Appia 2 Group V complete (For Machine) 225.00$    

98160007 Touchpad Assembly Appia S 2 Group complete 194.40$    

98160009 Appia V 3gr Touchpad Complete (For Machine) 252.00$    

981600125 Maverick Vol Main Board (For Machine) 1,075.00$ 

981600126 Maverick Grav Main Board (For Machine) 1,275.00$ 

981600127 Maverick Display Card (For Machine) 1,680.00$ 

9817000000011 Pump Assembly w/ 01300005 (For Machine) 385.00$    

981700000001110001 Complete Pump Assembly 1gr 220V 50Hz (For Machine) 685.00$    

9817000000012 Pump Assembly w/ 01300006 (98170000000012) (For Machine) 395.00$    

98200000000020 Water Tank w/Float Sensor Oscar II/ Musica (For Machine) 72.00$      

98200000000022 Microbar 5 Liter Water Tank WAS 9800203010 (For Machine) 70.50$      

98200000000030 WATER TANK SET 1,5 LT EAGLE ONE (for machine) 42.72$      

98210000000310 Water Control Assembly Aurelia II (For Machine) 1,960.60$ 

98240014100011 Heating Element 3000W (For Machine) 235.00$    

98240014100031 Heating Element 4500W (For Machine) 215.00$    

98240014100086 Heating Element 1500W 115V (For Machine) 215.00$    

98240014100090 Heating Element 2600W  (WAS 14100090)(For Machine) 210.00$    

98240014100091 Heating Element w/ Nuts 1500W 115V (For Machine) 210.00$    

98250000000110 Adonis Push Pull Lever Complete (WAS 98060000000050) (For Machine)540.00$    

98250000000200 Theresia Steam Touchpad Assembly (For Machine) 492.00$    

98250000000201 Theresia Touchpad Assembly (For Machine) 725.00$    

9825000040 Complete Safety Valve Replacement Kit  (98250000000040) (For Machine)120.00$    

982600210 Eagle One Steamwand Swivel Assembly 51.60$      

982600221 E1 Prima Pour Over Tank Inlet Valve (For Machine) 171.50$    

KCFM0001 Mythos II Ground Coffee Holder  (For Grinder) 372.00$    

KD8 0000 KD8 Water Softener, 8 liter 220.00$    

KLTC0001 Autosteam Wand Adonis / ProntoBar  WAS 98060000006) (For Machine) 250.00$    

KLTC0001.S Adonis / Prontobar Smart Wand Selector Auto Steam Wand Kit (For Machine)500.00$    

KLTC0003 Appia II / Appia Life AS Wand (Turbocream) WAS 98006055 250.00$    

KLVCT001 Black Eagle/ White Eagle/ Aurelia '08 Cool Touch Wand WAS 98006070 (For Machine)300.00$    



KLVCT003 Cool Touch Wand Aurelia II (WAS 98006080) (For Machine) 300.00$    

KLVCT004 Cool Touch Wand Complete Appia II / Appia Life (For Machine) 300.00$    

KLVCT005 Cool Touch Wand Aurelia  WAVE (For Machine) 300.00$    

KLVCT006 Oscar II/Musica Cool Touch Wand (For Machine) 300.00$    

KPFNP001 Deluxe Leather Bottomless Portafilter (For Machine) 280.00$    

KPFPN002 Leather Handled Portafilter 2 Spout w/ Nanotech Coating (WILL NO LONGER BE AVAILABLE)280.00$    

KRFPB001 Cone Filter - Pure Brew (For Machine) 250.00$    

KRIC0001 Red Group Gasket for Aurelia / VA388 WAS 02280050 (Long Lasting) (For Machine)18.00$      

KRIC0002 Red Group Gasket Musica / Appia (Long Lasting)  (For Machine) 18.00$      

NUOVART005 Nuova Simonelli Head VH3 3/8  NPT(56331040) (FOR ORDERING ONLY)180.00$    

NUOVART006 RSCF 195 Softening Cartridge (4350 Grains) (5633104) 300.00$    

NUOVART007 3-way Flush Valve 125.00$    

NUOVART014 RSCF 124 Softening Cartridge (5633802)  (1100 Grains) 150.00$    

NUOVART015 Flowmeter Connectors (3 Connectors) 8.00$        

NUOVART016 Straight BSPT Male 1/4" Push-in x 3/8" BSPT (Used for FloJet) 11.00$      

NUOVART018 Phoenix 3-Pole Connector (091-371) 10.50$      

NUOVART019 BW5000 Single Wand Kit   (21000738A) 180.00$    

NUOVART021 Element Small Nut Jumper Kit 4.00$        

NUOVART024 NUOVART024 Complete Single Blue Kit (Includes Single Blue Portafilter) 400.00$    

NUOVART025 Complete Double Blue Kit (Includes Double Blue Portafilter) 400.00$    

NUOVART025L Lavazza Blue Rebuild Kit (Includes 5050358, 02280038, the thicker group gasket and the tiny spring)40.00$      

NUOVART026 Single Blue Portafilter 200.00$    

NUOVART027 NUOVART027 Complete Double Blue Portafilter 200.00$    

NUOVART028 Phoenix Type Connector 2-Pole 10.50$      

NUOVART029 Phoenix Type Connector 4-Pole 14.00$      

NUOVART03 Group / Frame Screw  M10-1.5 x 20mm DIN 933 A2-70 Stainless Steel Hex Cap Screw (M82600020A20000)7.50$        

NUOVART030 John Guest Reducing Elbow 3/8 x 1/4 (For the current model of Flojet that has the Â¼ tubing standard) (PI211208S)20.00$      

NUOVART031 John Guest Male Connector NPTF - 3/8 x 1/2 NPTF (For the accumulators) (PI011224S)20.00$      

NUOVART032 Hook for Removing Gasket w/ Magnet on End (19LZ07) 32.00$      

NUOVART036 Lavazza Blue 58mm Cleaning Disc (SP0001762) 21.00$      

NUOVART10 Petrol Gel - Food Service Quality 36.00$      

NUOVART100 Aurelia Heavy PM Kit 2 Group 215.30$    

NUOVART1006 Standard Capacity Filtration System 480.00$    

NUOVART1014 Small Capacity Filtration System 330.00$    

NUOVART11 Group Screw Driver (0266319) (2105208) 24.00$      

NUOVART110 Prontobar Fuse T4Ah250V 5x20m 7.80$        

NUOVART111 Starbucks VST 15gram Basket 58.00$      

NUOVART12 John Guest 1/4 - 3/8  (21000232B) 18.00$      

NUOVART120 Smart Wand Brush 8.00$        

NUOVART122 Mythos II Filter Kit 150.00$    

NUOVART126 Fuse 500 mA 250v Slow Burn for Mythos II 7.20$        

NUOVART127 Metal Lid Black Mythos Clima Pro 96.00$      

NUOVART136 Single Pod Fluffy Filter 310.00$    

NUOVART14 Group head wrench 76.00$      

NUOVART2 Talento Coffee Chute Brush (1.25"x13") (0814094) 18.00$      

NUOVART21 USE NUOVART24 Steam Adjustment for Wand (Nuova Extrude Tube REVB) for complete piece80.00$      

NUOVART22 3/8 Compression x 3/8" BSP. MAKES HOSE CONNECTION COMPATABLE WITH AMERICAN CONNECTIONS (300055)"24.00$      

NUOVART45 Scale Kleen Powder 7ounce packets  97-9820 25.50$      

NUOVART47 Pin Extraction Tool (305183) 50.00$      

NUOVART49 Water Hardness Test Strips 3.00$        



NUOVART53 30 or 32 oz Latte Art Pitcher (RV- P30) 41.00$      

NUOVART54 20 oz Latte Art Pitcher (RV-P20) 37.00$      

NUOVART55 Easy Steam Thermometer S10 5" (RV-11160) 30.00$      

NUOVART56 2 ounce shot glass (02167) 11.40$      

NUOVART57 Knock box - 6"x5 5"x6" with Stainless Steel holder 185.00$    

NUOVART59 Long Twist Spoon 11.25" (UP-SP11R) 13.45$      

NUOVART60 Mini accumulator tank 1/2 liter  (181-201) 140.00$    

NUOVART62 Black Steel Tamper w/ SS 58mm (21310-58) (RV-TT58BK) 75.00$      

NUOVART7 John Guest Fitting 3/8 x 3/8 BSPT (PI011203S) 18.70$      

NUOVART70 Tamper Stand / Mat 60.00$      

NUOVART74 Tamper Stand / Mat (EP_TMPSTDL) 42.00$      

NUOVART75 Starbucks VST Tamper 360.00$    

NUOVART77 VST 18gm Basket 58.00$      


